
KABAT AMERICAN, INC.

          FARM EQUIPMENT PARTS
                                
                  2024
                          
                              http://www.kabatamerican.com

                           Quality. Service. Competitive Prices



KABAT  AMERICAN

http://www.kabatamerican.com

- WARRANTY -

Liability under warranty shall extend only to replacement or correction of products found to be defective upon examination 
by Kabat American, Inc. All products to be considered under this warranty must be returned to the warehouse for inspection 
freight prepaid.
This warranty does not extend to any products subject to misuse or damage by accident or negligence. The warranty is made 
in lieu of all other warranties, expressed or implied, including but not limited to, warranties of merchant ability or suitability 
for any purpose.
No claims for consequential or incidental damages will be recognized, & no person, firm, or corporation is authorized to as-
sume for Kabat American, Inc. any other obligation in connection with the sales of its product.
OEM manufactures, part numbers or names are used for identifications only. Parts are not original equipment replacement.

POLICIES & PROCEDURES

- BACKORDERS -
ANY ITEMS ON BACK ORDER WILL BE SHIPPED AT LATER DATE, UNLESS CANCELED.

- DISCLAIMER -

TO THE BEST OF OUR KNOWLEDGE THE CONTENTS OF THIS CATALOG INCLUDING
APPLICATIONS & SPECIFICATIONS ARE CORRECT. WE ASSUME NO LIABILITY
For ANY ERRORS IN REGARD TO THOSE APPLICATIONS OR SPECIFICATION.

( PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE )



KABAT  AMERICAN

http://www.kabatamerican.com

Agricultural Bearings
Popular AG Bearings 1-3

                                                 Tillage Bearing Units 4-5
                                       Taper roller Bearings 6
Stamped Steel Mounting Flanges 7-8
Roller Chains 9
Agricultural Chains 10
Agricultural Hubs and Spindles 11-12
PTO Shafts (Drivelines) 13
Hydraulic Cylinder 14
John Deere Parts

Disc Parts 15-18
Disc Gang Bolts 19

Hipper parts 20
Planter Parts 21-34

Grain Drill Parts 35-39
Combine Cutting Platform Parts 40-41

Combine Corn Head Parts 42-44
Row Crop Head Parts 45-47

Do All and Finishing Harrow Parts  48
Case-IH Replacement Parts

Planter & Grain Drill Parts 49-50
Disc Parts 51-53

Disc Gang Bolts 54
Cutting Platform Harvester Parts 55

Corn Head Harvester Parts 56-58
MacDon Draper Header Replace-
ment Parts

59

Bigham Paratill Replacement Parts 60

Cotton Module Truck Parts 61
Great Plains Replacement Parts 62
Kinze Planter Replacement Parts 63-66
KMC Peanut Digger & Hipper Re-
placement Parts

67

Precision Planting Parts 68
Sunflower Disc Replacement Parts 69
U-Bolts 70
Other Replacement Parts 71-72

TABLE OF CONTENTS



KABAT  AMERICAN

http://www.kabatamerican.com

Agricultural Bearings
Popular AG Bearings 1-3

                                                 Tillage Bearing Units 4-5
                                       Taper roller Bearings 6
Stamped Steel Mounting Flanges 7-8
Roller Chains 9
Agricultural Chains 10
Agricultural Hubs and Spindles 11-12
PTO Shafts (Drivelines) 13
Hydraulic Cylinder 14
John Deere Parts

Disc Parts 15-18
Disc Gang Bolts 19

Hipper parts 20
Planter Parts 21-34

Grain Drill Parts 35-39
Combine Cutting Platform Parts 40-41

Combine Corn Head Parts 42-44
Row Crop Head Parts 45-47

Do All and Finishing Harrow Parts  48
Case-IH Replacement Parts

Planter & Grain Drill Parts 49-50
Disc Parts 51-53

Disc Gang Bolts 54
Cutting Platform Harvester Parts 55

Corn Head Harvester Parts 56-58
MacDon Draper Header Replace-
ment Parts

59

Bigham Paratill Replacement Parts 60

Cotton Module Truck Parts 61
Great Plains Replacement Parts 62
Kinze Planter Replacement Parts 63-66
KMC Peanut Digger & Hipper Re-
placement Parts

67

Precision Planting Parts 68
Sunflower Disc Replacement Parts 69
U-Bolts 70
Other Replacement Parts 71-72

1

POPULAR AGRICULTURAL BEARINGS
REPLACES

326985

AA34132
 AA35638

203RRAR10

203RRAR8

204FGB

204PY3

JD9296
204BBAR

AA205-3/4”

188-007V

205RVA

HPC014GP
AA28271

HPS014GP

205PP9
205TTB

PART NO.

6203-2RS

499502H

203JD

203KRR2

203KRR5

204KRD4

204PY3

204RR6

205DDS3/4

205DDS5/8

205KRP2

205KRR2

205KRRB2

205PP9

Bore
		
0.669”Rd.

0.625”Rd

0.67” Rd.

0.64”Rd

0.515” Rd.

0.63” Rd.

0.63”
Rd

0.75” 
Rd

3/4”
Rd 

5/8”
Rd

0.756”
Rd

7/8” Hex

7/8” Hex

0.756” Rd.

WT.

0.14

0.10

0.16

0.10

0.20

0.35

0.25

0.26

0.25

0.50

0.58

0.44

0.30

0.58

203KRR2
203JD

203KRR5

204PY3

204KRD4

204RR6

205DDS5/8

205DDS3/4

205KRP2

205PP9
205KRRB2

205KRR2

    DESCRIPTION

Deep Groove Radial Ball Bearing
d : 1 7 m m ( 0 . 6 6 9 ” ) , D : 4 0 m m ( 1 . 5 7 5 ” ) ,  
W:12mm(0.472”)

Deep Groove Radial Ball Bearing with 2 rub-
ber seals and 1 Snap Ring on outer ring. 
d:15.875mm(0 .625” ), D:34.925mm(1.375” ), 
W: 11mm(0 .433”) 

Ball Bearing, 0.67” Bore, Fits 7300 Planter 
Wheel	

Ball Bearing,  0.64” Bore used in Planters, 
Gauge Wheel, Rotary Hoe, Also used in 
H11031 Assy. 

Ball Bearing, 0.515” round bore. 

Ball Bearing, 0.63” Round Bore, For White 
3405, 3407, 3408 Air Planter

Ball Bearing, 0.63” Round Bore, Used for John 
Deere and Case IH Double Disc Opener As-
semblies, Also Fits Tye and Great Plains Drills. 

Ball Bearing, 0.75” Round Hole, Fits 
A.C.Lilliston Cultivator, J.D. planter Gauge 
Wheel.

Ball Bearing, 3/4” Round Hole, Replaces 
OEM# 188-007V Soybean Special, AA205-3/4”

Ball Bearing, 5/8” Round Bore, for Great 
Plains Drill Replaces OEM# 188-001V, BCA# 
205DDS-5/8.

Ball Bearing, 0.756” round bore. For Furrow 
Opener And Marker. Fits John Deere Models 
7000,7100

Ball Bearing, 7/8” Hex Bore, Flat Outer 
Race. For Kinze Transmissions, Hex Drive 
Lines and Drive Wheels, Fits JD Seed 
Transmission 7000-7100, Wheel Frame 
7300,7340,1700,1720. 

Ball Bearing, 7/8” Hex bore , Curved Outer 
Race for John Deere 7000-7100 and Kinze 
Transmissions, Hex Drive Lines.

Ball Bearing, 0.756” Round bore, For KMC/
Kelley Peanut Digger, Shaker, Inverter and 
Cultivator #1496 No Till Drill.

6203-2RS 499502H



http://www.kabatamerican.com
2

KABAT  AMERICAN

205PPB7
205TNK

206GGH

207KRRB12

206KRRB6

207KRRB9

206KRR6

PART NO.

205PPB7

205TNK

206GGH

206K14

206KRR4

206KRR6

206KRRB6

207KRRB12

207KRRB17

207KRRB9

W208KRRB6

REPLACES

 04-051-001
20-50-20

104448
2-065-010030
205KP8

206GGH
7012998
120-070
206KPP16

JD9415

88506-2RS  
9238

JD9338

JD9313
211587C91
053719

AN102010

  JD9420

    
121602

    DESCRIPTION

Ball Bearing, 15/16” Round Bore, For KMC/
Kelley, Lilliston Rolling Cultivators.

Ball Bearing, .756” Round Hole, For John 
Deere Cultivator & Coulter Hub, also Land-
oll Coulter Hub. 

Ball Bearing, 0.755” Round Bore, for Orth-
man Row Marker, and Barring Off Disc, 
Cole Planter Opener, New Holland Round 
Baler Idler Sprocket.

Ball Bearing, for Upper Snap Roll Shaft, fits 
John Deere Models 40 & 90 Series Corn 
Heads.

Ball Bearing ,round bore 30mm,Fits JD 50 
Sereis row crop heads.

Ball Bearing, 1” Hex Bore, Outer Diameter: 
2.44”, Inner ring height: 0.94” Outer Ring 
height: 0.63”.  2 used per row on right hand 
gathering chain drive. Fits John Deere 50 & 
50A series row crop bean head.

Bearing, 1” Hex Bore, Outer Diameter: 
2.44”, IR: 0.94” OR: 0.63” For John Deere 
Bean Head, fits all 50 & 50A unit drive shaft 
except 854A &1253A series.

Ball Bearing, 1-1/8” Hex Bore. Fits John 
Deere Cornhead 40 Series Cross Auger 
Drive Shaft,  90 Series Back Shaft. Fits 
John Deere 50A series row crop heads, 
used on main drive shafts and cross auger. 
Also used on feeder adapter of main 
drive and auger on Case IH Cornhead 
800,900,1000 series.

Ball Bearing, 1-1/4” Hex Bore. Used on 
round balers. Also Fits John Deere Corn 
Heads and Row Crop Heads.

Ball Bearing, 1-1/8” Hex Bore, Used 
on Auger. Fits Case-IH Corn Heads 
2200,2400,3200,3400 Series.

Ball Bearing,Hex Bore 1-3/8” , Fits John Deere 50A 
series row crop heads.
(WT. 1.40)

Bore

15/16”
Rd

0.756”
Rd

0.755”
Rd

1.25”
Rd

30mm 
Rd

1”HEX

1”HEX

1-1/8” HEX

1-1/4”HEX

1-1/8”HEX

1-3/8“

WT.

0.58

0.60

0.78

0.20

0.30

0.55

0.34

0.85

0.90

0.90

1.40

206KRR4

207KRRB17

206K14

POPULAR AGRICULTURAL BEARINGS

W208KRRB6



KABAT  AMERICAN

http://www.kabatamerican.com

W208KRRB6

3

PART NO.

5203KYY2

  5203TN1

5206KPP3

6006RK

P59196

SA205-16

315-261

P35638

5205YY54

OEM NO.

5203VVAN

AA34132
AA61722

GA8603

AA38601
2570-594

AA59196

315-261

AA35638 
AA34211

DESCRIPTION

Double Row Ball Bearing, O.D. 40mm, with double lips seals on 
both sides. Used on closing wheel or gauge wheel.(WT.0.45) 

Double Row Ball Bearing, for P43898 Closing Wheel Assembly, 
One-piece design replaces both bearing 203JD and 62032RST. 
Replaces:JD#AA34132, AA61722. (WT.0.30)

Double Row Ball Bearing, for Hub GA5641, Fits All Kinze Late Models 
3000 Series Planters, Replaces OEM# GA8603 (WT. 1.15)

Double Row Ball Bearing, Fits JD Row Cleaner &  Yetter Trash-
Master (WT. 0.30)

Double Row Ball Bearing, 204 series, 45mm O.D, 5/8” Bore. used on 
Disc Opener Assembly. Replaces OEM #AA59196.  (WT. 0.40)

Bearing Insert 1” Bore with Narrow Inner Ring and  Eccentric Lock Collar
(WT. 0.35)

Bearing 6204-2RS With Bushing, for Orthman Super Sweep Cultivator, 
Barring Off Bearing,Replaces OEM #315-261 (WT. 0.35)

Bearing Assembly, Consists of 1- 203JD, 1- 6203-2RS, 1- Outer Bushing, 
For Closing Wheels W/Steel Wheel Halves, And Early Nylon Wheels, 
Fits John Deere Planter  Models 7200, 7300, Maxemerge 2, Some 750 
Grain Drills, And 886 Row Crop Cultivators (WT. 0.50)

Double Row Ball Bearing, 205 series, O.D.2.047”, I.D. 5/8”, width 1.09”. 
used on Disc Opener Assembly. (WT. 0.60)

SA205-16

P35638

5203KYY2

5206KPP3

6006RK

315-261

POPULAR AGRICULTURAL BEARINGS

5203TN1

P59196

5205YY54



http://www.kabatamerican.com
4

KABAT  AMERICAN

Tillage Bearing Units

PART NO.

P30941

P30942

FD209RA

FD209RB

FD209K53-
1.25SQ

FD209K53-
1.5RD

OEM NO.

AA30941
822-207C
FC2286
FD209R1-3/4” KIT

AA30942
FD211R2-3/16” KIT

IH-ST491A
BCA-FD209RA
FAFNIR-DHU491A

DHU1-1/2R209
ST491B
822-208C

822-209C
DHU1-1/4S209
84151226

Fafnir No DHU1-1/2R209
IHC ST491B
GP 822-208C

DESCRIPTION
Disc Bearing Kit,consists of (1) Bearing, (1)Flange 
W/ Zerk, (1) Gasket, 4 Bolt, Nuts and Washers. For 
1-1/8” square axle. Fits John Deere Disc models 210, 
215, 230, 235, 621, 630, 635, 637 Disc.  Also fits 
Great Plains Disc Models 1000TT, 1200TT,1700TT, 
2200TT, 3300TT,4000TT. Replace  OEM    JD# 
AA30941,  GP# 822-207C,  Kent No. FC2286, 
FD209R1-3/4” KIT (WT., 4.37)

Disc Bearing Kit,consists of (1) Bearing, (1)Flange W/ 
Zerk, (1) Gasket, 4 Bolt, Nuts and Washers.For John 
Deere Rear 637 Disc, 310, 315, 330, 331, 335,340, 
350, 355, 360, 370, 637, 640, 650, 670, 512 Rip-
per For 1-1/4” Axle.Replacement OEM #AA30942, 
FD211R2-3/16” KIT (WT., 6.12)

Flanged Disc Bearing Unit, relube, 1-3/4” round 
bore. Fits Case-IH discs 37, 46, 48, 60, 61, 120, 122, 
130, 132, 150, 330, 340, 350, 370, 470, 475, 480, 
485, 490, 496, 610, 760, 3800, 3850, 3900, 3950, 
RMX340 rolling baskets on 330 True Tandem built 
2008 and before.  Conser-Till 60, 6000, 6500. Case-
IH combo mulch finishers 4200, 4400, 4450. Also fits 
Sunflower Land Finisher and Remlinger. Replaces  
Fafnir #DHU491A, Case-IH # ST491A, Sunflower 
#SN3215, BCA# FD209RA (WT., 3.05)

Flanged Disc Bearing Unit, relube , 1-1/2” round 
bore. Fits Glencoe 7200; 7400 s/n 3988 & above. 
Great Plains Turbo-Chopper, late Turbo-Till, Ultra-
Till; Turbo Chisels TC5109-TC5323. Hesston 2540. 
Krause 4800. Kent Mulch-o-vator. Landoll Soil 
Master III, Weatherproofer. Also fits select models 
of Ford, McFarlane, and Salford. 
(WT., 3.45）

Flanged Disc Bearing Unit,1-1/4” square bore.6 lips 
seal on both sides, Maintenance Free. Fits rolling 
baskets on Case-IH 330 True Tandem discs built 
2009 and after. Also fits select models of FlexKing, 
Great Plains, Kent, Krause, Summers, Sunflower, 
and Quinstar discs.  (WT., 3.70)

Flanged Disc Bearing Unit,1-1/2” round bore.6 lips 
seal on both sides, Maintenance Free. Fits Glencoe 
7200; 7400 s/n 3988 & above. Great Plains Turbo-
Chopper, late Turbo-Till, Ultra-Till; Turbo Chisels 
TC5109-TC5323. Hesston 2540. Krause 4800. Kent 
Mulch-o-vator. Landoll Soil Master III, Weather-
proofer. Also fits select models of Ford, McFarlane, 
and Salford. (WT., 3.50)



KABAT  AMERICAN

http://www.kabatamerican.com
5

Tillage Bearing Units
PART NO.

FD209RK

FD209RM

FD211RBA

FD211REA

FD211RJA

FD211RM

W 2 11 K 5 7 -
TPU

OEM NO.

 84151226
DHU1-1/4S209
822-209C

DHU1-1/8S209
FD209RM

DHU2-3/16R211

Fafnir # DHU1-3/4R211
Krause # 40-114

BCA-FD211RJA
FAFNIR-DHU11516R211
JD-GZ379381
IHC-ST3012A

DHU1-1/2S211
RD4498

822-026C

DESCRIPTION

Flanged Disc Bearing Unit, relube, 1-1/4” square 
bore. Fits rolling baskets on Case-IH 330 True Tan-
dem discs built 2009 and after. Also fits select models 
of FlexKing, Great Plains, Kent, Krause, Summers, 
Sunflower, and Quinstar discs. Replaces Case-IH No 
84151226,Fafnir No DHU1-1/4S209, Great Plains No 
822-209C (WT., 3.43)

Flanged Disc Bearing Unit, relube, 1-1/8” square 
bore. Fits select models of FlexKing, Kewanee, and 
Sunflower discs. Replaces Fafnir# DHU1-1/8S209, 
BCA # FD209RM  (WT., 3.87)

Flanged Disc Bearing Unit, Relube, 2-3/16” Round 
Bore. Fits many International Harvester discs 
(WT., 6.00)

Flanged Disc Bearing Uint,relube,1-3/4” round bore. 
Fits rear gang on Brent CPC and Earthquake™ rip-
pers; late models with 4-bolt riveted flange; Great 
Plains Verti-Till models 4360A, 5300A, 6360A, 
7225A, 7300A, and 9225A; Krause-Kuhn ripper 
models 1740-1767, 2400-2495, 4995, and 5812-
5824. Also fits select models of Krause-Kuhn and 
International Harvester discs.(WT.,5.60)

Flanged Disc Bearing Unit,Relube, 1-15/16” Round 
Bore,with locking collar. Fits select models of Bush 
Hog, Do-All, John Deere, International Harvester, & 
Noble discs. (WT., 6.10)

Flanged Disc Bearing Unit, Relube ,1-1/2” square 
Bore. Fits select models of Kewanee, McFarlane, & 
Willrich; also Precision 3200, & Landoll 7130.
(WT., 6.50)

Pillow Block Bearing Unit #W211K57-TPU, 1-3/4 
round bore. 6 lips sealing on both sides, Maintenance 
Free. Fits Great Plains Turbo-Max Disc Harrow.  
Replace OEM #822-026C. (WT., 14.00)



http://www.kabatamerican.com
6

KABAT  AMERICAN

- Taper Roller Bearings-
PART NO.

L44643

L44649

L44610

LM67048

LM67010

LM501349

LM501310

13678SD

385SD

LM501334SD

OEM NO.

AB14028 

AB12603
  JD8327
  B31312

DESCRIPTION

Bearing Cone, 1.0” Inner Diameter, 0.580” Cone Width
(WT., 0.19)

Bearing Cone, 1.0625” Inner Diameter, 0.580” Cone 
Width(WT., 0.17)

Bearing Cup 1.98” Outer Diameter, 0.42” Cup Width 
(WT., 0.08)

Bearing Cone, 1.25” Inner Diameter, 0.66” Cone Width.
(WT., 0.26)

Bearing Cup,  2.3280” Outside Diameter, 0.4650” Cup 
Width (WT., 0.50)

Bearing Cone, 1.625” Inner Diameter, 0.78” Cone 
Width (WT., 0.48)

Bearing Cup, 2.89” OD, 0.77” Width  (WT., 0.24)

Double Taper Roller Bearing Kit, 1-1/8” Square Bore, Outside 
Diameter 2.717” (69.012 mm) With 2 Cups & 2 Seals. Fits 
Kewanee Disc Models 100,200,300 and Case-IH Disc Model 
48. (WT. 2.50)

Double Taper Roller Bearing Kit, 1-1/2” Square Bore, 
Outside Diameter 3.8125” (96.838mm) with 2 cups and 2 
Seals. Fits JD TW & TWA (63-69). 1630 & 1635, Midland 
Discs and Prime, Picou, LA Cane Cultivators Replaces 
OEM# AB14028 (WT., 4.80)

Double Taper Roller Bearing Kit, 1-1/4” Square bore, 
Outside Diameter 2.891” (73.431 mm)  with 2 cups and 2 
seals. Fits John Deere Discs AWR,BF,BFT,BWA,BWS. 
Also fits Case IH and Kewanee discs. (WT.,2.80)

LM501349

LM67048

L44610

LM501310

LM67010

13678SD

385SD

LM501334SD

L44643

L44649



KABAT  AMERICAN

http://www.kabatamerican.com
7

2-Bolt Hole Self-Aligning Mounting Flanges

Part
Number
40MST
47MST
52MST
62MST
72MST

To Fit
Shaft Size

1/2”, 9/16”, 5/8”
3/4”

13/16”, 7/8”, 15/16”, 1”
1 1/16”, 1 1/8”, 1 3/16”, 1 1/4”*
1 1/4”, 1 5/16”, 1 3/8”,1 7/16”

A.
3 3/16”
3 9/16”
3 3/4”

4 7/16”
4 15/16”

B.
2 1/2”

2 13/16”
3”

3 9/16”
3 15/16”

C.
2 5/16”
2 5/8”

2 51/64”
2 5/16”
3 11/16”

Triangular 3-Bolt Hole Self-Aligning Mounting Flanges

Part
Number
40MSTR
47MSTR
52MSTR
62MSTR
72MSTR

To Fit
Shaft Size

1/2”, 9/16”, 5/8”
3/4”

13/16”, 7/8”, 15/16”, 1”
1 1/16”, 1 1/8”, 1 3/16”, 1 1/4”*
1 1/4”, 1 5/16”, 1 3/8”,1 7/16”

A.
2 23/32”
3 9/16”
3 3/4”

4 7/16”
5 1/32”

B.
2 1/2”

2 13/16”
3”

3 9/16”
3 15/16”

C.
2 23/32”

3”
3 5/32”
3 5/8”

4 3/16”

STAMPED STEEL MOUNTING FLANGES
(SOLD IN PAIRS ONLY)

3-Bolt Hole Round Self-Aligning Mounting Flanges

Part
Number

40MS
47MS
52MS
62MS
72MS

To Fit
Shaft Size

1/2”, 9/16”, 5/8”
3/4”

13/16”, 7/8”, 15/16”, 1”
1 1/16”, 1 1/8”, 1 3/16”, 1 1/4”
1 1/4”, 1 5/16”, 1 3/8”,1 7/16”

A.
3 3/16”
3 9/16”
3 3/4”

4 7/16”
4 13/16”

B.
2 1/2”

2 13/16”
3”

3 9/16”
3 15/16”



http://www.kabatamerican.com
8

KABAT  AMERICAN

4-Bolt Hole Round Self-Aligning Mounting Flanges

Round Relube Mounting Flanges

Part
Number

80MS
85MS
87MS
90MS

100MS

To Fit
Shaft Size

1 1/2”, 1 9/16”, 1 5/8”
1 5/8”,1 11/16”,1 3/4”,

7/8”, 1”, 1 1/8”
1 13/16”, 1 7/8”, 1 15/16”, 2”

2”, 2 1/16”, 2 1/8”,2 3/16”

A.
3 3/16”
3 9/16”
3 3/4”

4 7/16”
6 9/16”

B.
2 1/2”

2 13/16”
3”

3 9/16”
5 7/16”

4-Bolt Hole Square Self-Aligning Mounting Flanges

STAMPED STEEL MOUNTING FLANGES
(SOLD IN PAIRS ONLY)

Part
Number
80MS-S
85MS-S
87MS-S
90MS-S

To Fit
Shaft Size

1 1/2”, 1 9/16”
1 5/8”,1 11/16”,1 3/4”,

7/8”, 1”, 1 1/8”
1 13/16”, 1 7/8”, 1 15/16”

A.
4 3/4”
4 3/4”
4 3/4”
5 1/4”

B.
4 11/16”
4 3/4”
4 3/4”

5”

Part
Number
G52MSA
G62MSA
G72MSA
G80MSA
G85MSA
G90MSA

G100MSA

To Fit
Shaft Size

13/16”, 7/8”, 15/16”, 1“
1 1/16”, 1 1/8”, 1 3/16”, 1 1/4”
1 1/4”, 1 5/16”, 1 3/8”, 1 7/16”

1 1/2”, 1 9/16”
1 5/8”, 1 11/16”, 1 3/4”

1 13/16”, 1 7/8”, 1 15/16”, 2”
2”, 2 1/16”, 2 1/8”, 2 3/16”

A.
3 3/4”

4 7/16”
4 13/16”
5 13/16”

5 7/8”
6 1/8”

6 9/16”

B.
3”

3 9/16”
3 15/16”
4 11/16”
4 3/4”

5”
5 7/16”

Type
#1
#1
#1
#2
#2
#2
#2



KABAT  AMERICAN

http://www.kabatamerican.com
9

ANSI #
35
40
41
50

Roller Chain

Standard Roller Chain

Pitch
3/8”
1/2”
1/2”
5/8”

60
80

100
120

3/4”
1”

1-1/4”
1-1/2”

Double Pitch Roller chain

ANSI #
A2040
A2050
A2060

Pitch
1”

1-1/4”
1-1/2”

Connecting Link Offsetting Link

Part Number
35-1RCL
40-1RCL
41-1RCL
50-1RCL
60-1RCL
80-1RCL

100-1RCL
120-1RCL

All Chains Available in 10 feet, 50 feet or 100 feet Lengths

Connecting Link

Part Number
A2040-1RCL
A2050-1RCL
A2060-1RCL

Offsetting Link

Part Number
A2040-1ROL
A2050-1ROL
A2060-1ROL

Heavy Duty Roller Chain

ANSI #
50H
60H
80H

Pitch
5/8”
3/4”
1”

Connecting Link Offsetting Link
Part Number

50H-1RCL
60H-1RCL
80H-1RCL

Part Number
50H-1ROL
60H-1ROL
80H-1ROL

Item OEM Chain Pitch # of Links Application
41-1R98L AA20978 #41-1R 1/2" 98, 1 Conn link Seed Meter

41-1R112L AH33060 #41-1R 1/2" 112, 1 Conn link Vaccum Seed Meter

41-1R103L AH42795 #41-1R 1/2" 103, 1 Conn Link, 1 
Offset link

Plateless Seed Meter

41-1R140L AH43720 #41-1R 1/2" 140, 1 Conn Link Roller Unit Drive

Pre-Cut Planter Chain

Part Number
35-1ROL
40-1ROL
41-1ROL
50-1ROL
60-1ROL
80-1ROL

100-1ROL
120-1ROL



http://www.kabatamerican.com
10

KABAT  AMERICAN

Agricultural Chain
Description

Cotton Module Truck Chain, C2062H 
chain with a welded clip every 4 links. 
Pitch size 1.5”, 40.5 FT long per piece.
(WT.,66.00)

Cotton Module Chain, #C2062H Chain 
with a welded rounded cleat every 6 
links ,pitch size 1-1/2”, Total 304 Links 
+ 1 Connecting Link, 38’ long per piece. 
For round module specially. The design 
of rounded cheats avoid to puncture the 
plastic wrap film. (WT.,61.00)

Gathering Chain With Belt Riveted on, 
pitch size 1-1/8”, total 64 links, with at-
tachment WK2 every 4 links, Fits John 
Deere Row Crop Bean Head Model 50A.
(WT.,14.20)

Gathering Chain, pitch size 1.63”, total 
57 links, with 7 links of attachment C17E, 
Fits Agco-Gleaner & Challenger Corn-
head “77 to 89” “black head” Adjustable 
models.(WT.,12.00)

Gathering chain, pitch size 1.63”, total 
48 links, with attachment C6E every 6 
links, fits John Deere Cornhead 40,90 
Series. Also Fits CASE-IH cornheads 
series 800,900,1000-2200.(WT.,10.00)

Gathering Chain, Pitch size 1.654”, Total 
48 Links, with attachment C6E every 
6 Links. Fits John Deere series 600C 
cornhead.(WT.,13.25)

Inverter Chain, pitch size 1.63”, total 80 
links ,with A4 attachment every 4 links, 
Fits KMC peanut digger shaker inverter.
(WT.,21.50)

OEM Number

AH101172

574793
591122

AN102009
176279C91

AH208978

03-052-051

C2062H CM

C2062HF76.06        

P101172

Part Number

CA557-80-A4-20

CA550-57-C17E-7

CA555-48-C6E-8

P101172

CA557-80-A4-20

CA620-48-C6E-8

CA620-48-C6E-8

CA550-57-C17E-7

CA555-48-C6E-8

C2062HF76.06

C2062H CM



KABAT  AMERICAN

http://www.kabatamerican.com
11

Agricultural Hub & Spindle
PART NO.

P213544

P283291A

909905

909911

909917

909970

909982

P1978726

P280700

P280720

478375R1

P630S 

OEM NO.

AN213544

 

AN281856

909905

909911

D10025

1978726C1

280700

          478375R1

909917

909911

909905

P283291A

P213544

909970 909982

DESCRIPTION

Disc Opener Hub, With 2 Cups L44610 installed, For 
John Deere Grain Drill Models 750, and 1850.  (WT. 
4.85)

Disc Opener Hub, With P281813 Bearing installed, For 
John Deere Grain Drill, Fits Models 1560, 1590, 1690, 
1860, 1890, 1895, 1990. (WT. 4.00)

Dust Cap, Fits various application on Hubs. (WT.,0.01)

Dust Cap for Q633 Hub. (WT.,0.10)

For Case-IH discs 470, 475, 480, 485, 490, 496, 501, 
610, 760, 770 with P465493.(WT.0.10)

Dust Cap for P183318 Hub.(WT.0.05)

Dust Cap for #280580 Hub.(WT.0.10)

Spindle, use with P606468 Hub.(WT.,8.00)

Spindle, Overall Length 10.38”, For Use with Q633 Hub.
(WT.,4.62)

Spindle, Fits Q888 Hub (WT. 5.75)

Spindle, 1-3/4” Diameter, Fits P465493 Hub, For Case 
IH Disc Harrow Models 470, 475, 480, 485, 496, 501, 
610, 760, 770. (WT.5.60)

Spindle, Works With P183318 Hub, Fits John Deere 
Disc Harrow Model 630. (WT.8.30)

P1978726

P280700

P280720

P478375

P630S



http://www.kabatamerican.com
12

KABAT  AMERICAN

Agricultural Hub & Spindle
PART NO.

P183318

P2900

P465493

P606468

P62509

Q633

Q888

OEM NO.

AN183318

2900-102

 465493R2

606468R21

62509C1

280501

280551

 

DESCRIPTION

Hub, 6 Bolt Holes, With Inner Cup LM29710, Outer Cup 
LM67010, for Transport on John Deere Disc Models 
355, 620, 627, 621, 630, 635, 640, 670.  Fits the Wings 
only on John Deere Models 637, 650.  Fits John Deere 
Rippers Series 500.  Also fits John Deere Model 700 
Mulch Finishers. (WT.10.00)

Hub, With 2 Cups LM67010, for Yetter Fertilizer Coult-
ers.(WT.6.30)

Hub With Cups,  with Inner Cup LM48510, Outer Cup 
M12610, 6 Bolt Holes,6” bolt hole circle. For Case IH 
Disc Harrows, Fits Models 470, 475, 480, 485, 496, 501, 
610, 760, 770. (WT.12.00)

Hub With Cups, With Inner Cup LM501310, Outer Cup 
LM67010, 6 Bolt Holes,6” bolt hole circle. For Case IH 
Disc Harrows, Fits Models 485, 496, 501, 760, 770, 
3800, 3850, 3900, 3950, For Case-IH field cultivator 
transport wheels on 45 (over 13 ft.), 4300, 4500, 4700, 
4900. Caster wheels on 4300., For Case IH Soil Finish-
ers, Fits Models 4200, 4400, 4450, And For Case IH 
Ripper Transport Wheels on 690m MRX690. (WT.11.25)

Hub With Cups, Inner Cup LM29710, Outer Cup 
LM67010, For Wilrich, John Deere And Case IH Do-all 
Transport Wheels. (WT.3.00)

Hub with Cups,  Inner Cup LM11910, Outer Cup 
LM67010. 4 bolt Holes on  5” circle. 1500 lb. capac-
ity, 633 series. For straight spring loaded coulters 
on DMI, Case-IH and New Holland Colter Champ®II, 
Tiger-Two®, 500, 527, 527B, 530, 530B, 730, 730B, 
900, 1000, 1300, 2500, 6700, 6750, ST650, ST720, 
ST770. Fertilizer coulters on Blu-Jet, Case-IH, DMI, 
Progressive/Kongskilde. Coulters on Blu-Jet grain 
drill coulter cart. (WT.9.24)

Hub With Cups, With Inner Cup JL69310, Outer Cup 
LM67010 , 6 bolt holes on 6.0” circle. 3560 lb. capac-
ity, 888 series. Used on White discs 265, 273, 274, 
281; also late model 271 and 272 that use external 
seal and wear sleeve. Glencoe Soil Saver built 1975 
and after; Yield Builder. DMI, Case-IH, New Holland 
field cultivators. (WT.10.00)

P183318

P2900

P465493

P606468

P62509

Q633

Q888



KABAT  AMERICAN

http://www.kabatamerican.com
13

Part No. OEM Number Combine York Header York Compressed 
Overall Length

Description

P14007631 Weasler:  
14007631

1-3/8” X 21 
Spline Safe 
Slide Lock

1-1/8” Hex 
Clamp

31” PTO Shaft, with 1-3/8” X 21” Spline Safe 
Slide Lock Combine Yoke, 1-1/8” Hex 
Clamp Header Yoke, Overall Compressed 
Length 31”, Fits John Deere Combine 
Header, 1 Driveline per Header.(WT.36.00)

P14007633 Weasler:  
14007633

1-1/8” X Hex 
Safe Slide 
Lock

1-1/8” Hex 
Clamp

33” PTO Shaft, with 1-1/8” Hex Safe Slide 
Lock Combine Yoke , 1-1/8” Hex Clamp 
Header Yoke, Overall Compressed 
Length 33”. Fits that Case IH tractors 
use John Deere Header.(WT.37.00)

P14007635 John Deere: 
AH220096
Weasler:
14007635

1-3/8” X 21 
Spline Safe 
Slide Lock

1-1/8” Hex 
Clamp

35” PTO Shaft, with 1-3/8” X 21 Spline Safe 
Slide Lock Combine Yoke, 1-1/8” Hex 
Clamp Header Yoke,  Overall Com-
pressed Length 35”. Fits John Deere 
Combine Header. 2 Drivelines per 
header. (WT.38.00)

PTO Shafts (Drivelines)



http://www.kabatamerican.com
14

KABAT  AMERICAN

Hydraulic Cylinder

PART NO. OEM No. DESCRIPTION

TR2X8 Tie Rod Hydraulic Cylinder
Bore:2”
Stroke:8”
Rod:1-1/8”
Retracted size:18-1/4”
Port: NPT 3/8”
Working Pressure:2500PSI. (Wt. 18 Lbs.)

TR2X8-ASAE Tie Rod Hydraulic Cylinder, ASAE
Bore:2”
Stroke:8”
Rod:1-1/8”
Retracted size:20-1/4”
Port: NPT 3/8”
Working Pressure:2500PSI. (Wt.19 Lbs)

TR2.5X8-ASAE Tie Rod Hydraulic Cylinder, ASAE
Bore:2-1/2”
Storke:8”
Rod:1-1/8”
Retracted size:20-1/4”
Port: NPT 3/8”
Working Pressure:2500PSI. (Wt. 21 Lbs.)

TR3X8-ASAE Tie Rod Hydraulic Cylinder, ASAE
Bore:3”
Stroke:8”
Rod:1-1/4”
Retracted size:20-1/4”
Port: NPT 1/2”
Working Pressure:2500PSI. (Wt. 30 Lbs.)

TR4X16-ASAE    Tie Rod Hydraulic Cylinder, ASAE
Bore:4”
Stroke:16”
Rod:1-3/4”
Retracted size:31-1/2”
Port: NPT 1/2”
Working Pressure:2500PSI.  (Wt. 46 Lbs.)

WCT1.5X3 Welded Hydraulic Cylinder, with cross tube mounts. 
Bore :1.5”
Storke :3”
Rod :1”
Retracted size :11”
Port: SAE6
Working pressure: 3000 PSI. (Wt. 4.75 Lbs.)

.



KABAT  AMERICAN

http://www.kabatamerican.com
15

John Deere Disc Harrow Parts

P28474

P25694

P28184

P28186

385SD

LM501334SD

P30941

P30942

P241200

PART NO. OEM NO. DESCRIPTION

P25694 A25694 Bumper washer, For 1-1/8” Axle and 7-1/4” or 9” spacing. 
Fits John Deere Disc Harrow Models 110, 111, 115, 210, 
215, 220, 230, 235, and 630.(Wt. 2.42 Lbs.)

P28184 AA28184
GW209PPB13

Greasable Disc Bearing. For P30941 Bearing Kit, Use with 
P27172 Flange W/ Zerk, P34792 Flange W/O Zerk, and 
P33968 gasket,  Fits John Deere model 215, 235 and 637 
disc with rigid bearing hangers. 621, 627 and 630 discs. 
Also fits 210, 220 and 230 discs updated to Dura-Flex® 
bearings and flanges. 710, 712, 714 Mulch Tillers. 722, 
724, 726, 2310 Mulch Finishers.  (Wt. 1.58 Lbs.)

P28186 AA28186
GW211PPB20

Greasable Disc Bearing, For P30942 Gang Bearing Kit 
Used With JD100 Flange Set. Fits John Deere Model 
315, 335, 355, 375, 635 discs; 637 with C spring bearing 
hangers; 640, 650, 670 discs. Also fits 310, 330, 331, 340, 
350, 360 and 370 discs updated to Dura-Flex® bearings 
and flanges. Fits 510 and 512 Disc Ripper. Fits standard 
disc gang assembly on Great Plains and Kent Turbo-Till 
1000TT, 1200TT, 1700TT, 2200TT, 3000TT, and 4000TT. 
(WT.2.25)

P28474 A28474 Guard for Disc Bearing Kit, fits John Deere Disc Harrow 
Models 100, 111, 115, 210, 215, 220, 225, 230, 235, 310, 
315, 330, 340, 350, 360, 370, 621, 627, 630, 637, 640, 650, 
660, 670, 722, 724 , Also Fits Noble and Wil-Rich Do-Alls. 
(WT. 1.50)

385SD AB14028 Double Taper Roller Bearing Kit, 1-1/2” Square Bore, 
Outside Diameter 3.8125” (96.838mm) with 2 cups and 2 
Seals. Fits JD TW & TWA (63-69). 1630 & 1635, Midland 
Discs and Prime, Picou, LA Cane Cultivators (Wt. 4.8 Lbs.)

LM501334SD AB12603
JD8327
B31312

Double Taper Roller Bearing Kit, 1-1/4” Square bore, 
Outside Diameter 2.891” (73.431 mm)  with 2 cups and 2 
seals. Fits John Deere Discs AWR,BF,BFT,BWA,BWS. Also 
fits Case IH and Kewanee discs. (WT.2.80)

P30941 AA30941
822207C
FC2286
FD209R1-3/4” 
KIT

Disc Bearing Kit,consists of (1) Bearing, (1)Flange W/ 
Zerk, (1) Gasket, 4 Bolt, Nuts and Washers. For 1-1/8” 
square axle. Fits John Deere Disc models 210, 215, 230, 
235, 621, 630, 635, 637 Disc.  Also fits Great Plains Disc 
Models 1000TT, 1200TT,1700TT, 2200TT, 3300TT,4000TT.
(WT.4.37)

P30942 AA30942, 
FD211R2-3/16” 
KIT

Disc Bearing Kit,consists of (1) Bearing, (1)Flange W/ Zerk, 
(1) Gasket, 4 Bolt, Nuts and Washers.For John Deere Rear 
637 Disc, 310, 315, 330, 331, 335,340, 350, 355, 360, 370, 
637, 640, 650, 670, 512 Ripper For 1-1/4” Axle.(WT.6.12)

P241200 N241200 Right Hand Bearing Standard, Fits John Deere Disc Harrow 
Models 630, 637 discs.(WT.18.50)

P241201 N241201 Left Hand Bearing Standard, Fits John Deere Disc Harrow 
Models 630, 637. (Wt. 18.5 Lbs.)

P240015 N240015 Hook Bolt, 1-2" Thread, For Gang Standard, Fits John 
Deere Models 630, 637, 650 Disc,  (Wt. 0.75 Lbs.)

P241202 N241202 U Bolt For Gang Standard 630-637. (Wt. 1.5 Lbs.)

P240015

P241202

P241201

John Deere Disc Harrow Parts



http://www.kabatamerican.com
16

KABAT  AMERICAN

John Deere Disc Harrow Parts

22X5MM118S

P37024

FD211RJA

P183629

P183748

P240518

P260397

P240970

PART NO. OEM NO. DESCRIPTION

22X5MM118S Disc Blade, Diameter: 22”, Thickness: 0.197” , Hole: 1-1/8” 
Square. Smooth Edge, Spherical Center for John Deere Disc. 
(Wt. 22 Lbs.)

P37024 A37024 End Washer, For 1-1/8” Axle and 7-1/4” or 9” Spacing, Fits 
John Deere Disc Models 100, 110, 111, 115, 210, 215, 220, 
230, 235,630. (Wt. 4.01 Lbs.)

FD211RJA DHU1-
15/16R211
GZ379381
ST3012A

Flanged Disc Bearing Unit,relube, 1-15/16” round bore,with 
locking collar. Fits select models of Bush Hog, Do-All, John 
Deere, International Harvester, and Noble discs. (Wt. 6.1 Lbs.)

P183629 AN183629           
AA28448

Full Spool,  For 1-1/8” Axle and 9” Spacing, 6mm 
Thickness,Fits John Deere Disc Models 210, 215, 230, 235, & 
630, 637, with rigid bearing hanger. (Wt. 9.1 Lbs.)

P183748 AN183748 
AA28369    

Full Spool, for 1-1/8” Axles and 7-1/4” Spacing, 6mm Thick-
ness, Fits John Deere Disc Models 210, 215, 230, 235 &630. 
637, with ridgid bearing hanger  (Wt. 7.75 Lbs.)

P240518 AN240518 
AA29843

Full Spool,  for 1-1/4” Axle and 9” Spacing,Fits John Deere 
Disc Harrow Models 310, 315, 330, 331, 335, 360, 375, 
635, 640, 850, 870 DISCS 637 DISC WITH C Spring Bear-
ing Hanger, Fits 510 and 512 Disc Rippers and 1710, 1710A 
Mulch Tiller. (Wt. 12.9 Lbs.)

P260397 AN260397
AA29482

Full Spool, for 1-1/4” Axle and 11” spacing, Fits John Deere 
Disc Harrow Models with, 315, 335, 355, 375, 640, 650, 670 
discs. 637 disc with C spring bearing hanger. 510 and 512 disc 
rippers. (Wt. 15.3 Lbs.)

P240970 N240970
B34210

Half Spool, 2-1/2”, for 1-1/4” Square Axle and 9” or 11” Spac-
ing, Fits John Deere Disc Models 310, 315, 330, 331, 335, 
340, 350, 355, 360, 375, 635, 640, 650, 670 discs. 637 disc 
with C spring bearing hanger. 510 and 512 disc rippers. 1710, 
1710A mulch tiller. (Wt. 9.5 Lbs.)

P241234 B34212   
N241234

Half Spool, 7", for 1-1/4" Axle and Models with 11" Spacing 
.Fits John Deere Disc Models 310, 315, 330, 331, 335, 340, 
350, 355, 360, 375, 640, 650, 670 discs. 637 disc with C 
spring bearing hanger. 510 and 512 disc rippers. 1700 mulch 
tiller.  (Wt. 12.9 Lbs.)

P241314 N241314 
A37023

Half Spool, 5-1/2”, for 1-1/8” Axle and 9” Spacing, Fits John 
Deere Disc Harrow Models210, 215, 220, 230, 235, 621, 627, 
630 and 637. (Wt. 7.62 Lbs.)

P241315 A20621  
N241315

Half Spool, 1-7/8", for 1-1/8" Axle and 7-1/4" or 9" Spacing, 
Fits John Deere Disc Harrow Models 210, 215, 220, 230, 235, 
621, 627, 630, 637, also fits 722, 724, 726, 2310 mulch finish-
ers.(WT.4.53Lbs.)

P241318 N241318 Half Spool, 3-7/8", For 1-1/8" Axle and  7-1/4" Spacing, New 
Style, Fits John Deere Disc Harrow Models 210, 215, 230, 
235, & 630.  (Wt. 6.43 Lbs.)

P34211 B34211 Half Spool, 5" , For 1-1/4" Axle and 9" Spacing, Fits John 
Deere Disc Harrow Models 310, 315, 330, 331, 335, 340, 350, 
355, 360, 375, 635 640, 650, 670 and 637 disc with C spring 
bearing hanger. Also Fits John Deere Mulch Tiller 1710, 1710A 
(Wt. 11.35 Lbs.)

P241234

P241314

P241315

P241318

P34211



KABAT  AMERICAN

http://www.kabatamerican.com
17

P240886

John Deere Disc Harrow Parts

PART NO OEM NO. DESCRIPTION
909970 D10025 Dust Cap for P183318 Hub. (Wt. 

0.05 Lbs.)
P20017N AH20017 Grease Seal, Inner Diameter 1.83”, 

Outer Diameter 1.808”, Width 0.3”, 
triple lips. Used on Transport Hub 
#P18338 of John Deere Disc Harrow 
Model 630. (Wt. 0.1 Lbs.)

P30887 B30887 Grease Seal Retainer, used in 
P183318 Hub with Grease Seal 
#P20017N.(Wt. 0.01 Lbs.)

P630S Spindle, Works With P183318 Hub, 
Fits John Deere Disc Harrow Model 
630. (Wt. 8.3 Lbs.)

P183318 AN183318 Hub, 6 Bolt Holes, With Inner Cup 
LM29710, Outer Cup LM67010, 
for Transport on John Deere Disc 
Models 355, 620, 627, 621, 630, 
635, 640, 670.  Fits the Wings only 
on John Deere Models 637, 650.  
Fits John Deere Rippers Series 
500.  Also fits John Deere Model 700 
Mulch Finishers. (Wt. 10 Lbs.)

P240886 N240886 Right Hand Scraper Arm, with 5/8” 
wide slot. Fits John Deere Disc Mod-
els 215, 235, 627, 630, 635 and 637.  
(Wt. 2.77 Lbs.)

P240887 AN240887 Left Hand Scraper Arm with 5/8” 
Wide Slot, Fits John Deere Disc 
Models  215, 235, 627, 630, 635 and 
637.  (Wt. 2.77 Lbs.)

P20006 A20006 Scrape Blade, Fits John Deere Disc 
Harrow Models  110, 111, 115, 210, 
220, 230.  (Wt. 1.15 Lbs.)

909970

P20017N

P630S

P183318
P240887

P30887

P20006



http://www.kabatamerican.com
18

KABAT  AMERICAN

John Deere Disc Harrow Parts

P242189

P241152

PART NO. OEM NO. DESCRIPTION

P241152 N241152 Scraper Blade, 7” wide, Fits John Deere Disc Harrow 
Model 650. (Wt. 2.5 Lbs.)

P38364 N242551 
A38364

Scraper Blade, For John Deere Disc Harrows, Fits Mod-
els 215, 235, 627, 630, 635, 637, 2620, 2623, 2625. 722, 
2310 mulch finishers. (Wt. 1.58 Lbs.)

P35642 A35642 Spirol Roll Pin, 5/16” X 1-1/4”,  Used in Scraper Blade 
For John Deere Disc Harrow Models 630, 637, 650.  (Wt. 
0.01 Lbs.)

P242189 A41490 
N242189

Spring, For Scraper Blade, Overall length 6-11/16”. For 
John Deere Disc Harrow Models with 9” Spacing, Fits 
110, 111, 115, 210, 220, 230, 235, 310, 315, 330, 331, 
335, 340, 350, 355, 360, 370, 375, 630, 635, 637, 640, 
650. John Deere mulch tillers 1710, 1710A. (Wt. 0.47 
Lbs.)

P20647 A20647 Sleeve, Length 6-11/16”, For  1-1/8” Axles and 7-1/4” 
Spacing,Used with P241315 & P241318 Spools, fits 
John Deere Disc Harrow Models 210, 215, 230, 235, & 
630. (Wt. 0.48 Lbs.)

P20648 A20648 Sleeve, Length 8-7/16”, For 1-1/8” Axles and 9” Spacing, 
Used with P241314 & P241315 Spools, Fits John Deere 
Disc Harrow Models 210, 215, 230, 235, & 630. (Wt. 1 
Lbs.)

P34103 Slack Washer, 1-1/8" Square Hole, 1/4" thick.  (Wt. 1.06 
Lbs.)

630BK Wheel Bearing Kit , Consists of Inner Cup 
LM29710,Inner Bearing LM29749, Outer Cup LM67010, 
Outer Bearing LM67048, Seal P20017N, Dust Cap 
P10025. For John Deere Disc Hub P183318. Fits Models 
620, 621, 627, 630, 635, 640, 670, Wings Only 637, 650. 
(Wt. 2 Lbs.)

P20647

P20648

P34103

P630BK

P35642

P38364



KABAT  AMERICAN

http://www.kabatamerican.com
19

John Deere Disc Harrow Parts
Gang Bolts

PART NO. OEM NO. DESCRIPTION
P20132 A20132 Gang Bolt, 1-1/8" Square, Round Head, Length 41.75", for Wing on John Deere 

Disc Model 630, (Wt.  16 Lbs.)
P20133 A20133 Gang Bolt,1-1/8” Square, Length 50.7”, Round head, for John Deere Disc Models 

230, 235, 621, 627, 630 & 637 (Wt.  18.08 Lbs.)
P20134 A20134 Gang Bolt, 1-1/8" Square, Length 59.7", Round head, for John Deere Disc Mod-

els 230,235,621,627,630 & 637 ,  (Wt.  21.63 Lbs.)
P20615 A20615 Gang Bolt,1-1/8" Square, Length 68.7", Round head. Fits John Deere Disc Har-

row Models 110, 111, 115, 210, 215, 220, 230, 235, 621, 627, 630, & 637 , (Wt.  
23.91 Lbs.)

P20616 A20616 Gang Bolt, 1-1/8" Square, Length 77.7", Round head, Fits John Deere Disc Har-
row Models, 110, 111, 115, 210, 215, 220, 230, 235, 621, 627, 630, & 637 (Wt.  
28 Lbs.)

P20617 A20617 Gang Bolt, 1-1/8" Square, Length 87", Round Head, For John Deere Disc Harrow 
Models 110, 111, 115, 210, 215, 220, 230, 235, 621, 627, 630 & 637,  (Wt.  30.43 
Lbs.)

P40826 A40826 Gang Bolt, 1-1/8" Square,Length 95.7", Round head, For John Deere Disc Har-
row  Models 215, 230, 235, 630, & 637  (Wt.  33.52 Lbs.)

P40827 A40827 Gang Bolt, 1-1/8” Square, Length 104.75”, Round head, For John Deere Disc 
Harrow Models 215, 230, 235, 630, 637.  (Wt.  36.41 Lbs.)

P34101 Lock Plate, Fits all Case IH and John Deere 1-1/8" square Gang Bolts. (Wt.  0.15 
Lbs.)

118LW Lock Washer, FOR 1-1/8" Square Disc Axle Gang Bolt. (Wt.  0.05 Lbs.)

P220089 14H887 Nut, Fits 1-1/8" Square Gang Bolt for John Deere Disc, John Deere Hipper, Case 
IH Disc. Replaces John Deere OEM# 14H887  (Wt.  0.38 Lbs.)



http://www.kabatamerican.com
20

KABAT  AMERICAN

John Deere Hipper parts

PART NO. OEM NO. DESCRIPTION
P262032 N262032

A261193
A15141
AN261124

Bearing Housing, New Style, Holds P15142 Bushing (one) and 
W208PP5 Bearing (two), Fits John Deere Hipper. 
(Wt.  11.6 lbs)

P15142 A15142 Bearing Spacer, Zinc Plated, used in P262032 Hipper Hous-
ing. (WT.  0.35 lbs)

P13208 A13208 Bumper Washer , for John Deere Hipper. (WT.  4.41 lbs)

W208PP5 DC208TT5
JD9350

Disc Bearing, 1-1/8” Square Bore, Replaces BCA#DC208TT5, 
John Deere JD9350,Forrest City 2251, W&A 481202,Case 
963889R91,Burch 554A,Bush-Hog 16-1-176, Kewanee B801. 
(WT. 1.50 lbs)

P3745 KK3745B         End Washer For John Deere Hipper. (WT.  2.74 lbs)

P15143 A15143 Hipper Axle, 1-1/8”X12-1/2”,  With 2” Thread, Round head. 
(WT.  4.70 lbs)

P15144 A15144 Hipper Spool,4-1/2”X2-1/4”. (WT.  4.30 lbs)

P15145 A15145 Hipper Spool, 5-1/2”X 1-15/16” , Fits John Deere Hipper.  (WT.  
4.30 lbs)

P220089 14H887 Nut, Fits 1-1/8” Square Gang Bolt for John Deere Disc, John 
Deere Hipper, Case IH Disc.  (WT.0.38 lbs)

P25097 A25097 V- Bolt, Thread Size 7/8”, Tool Bar 7” X 7”, Plated.          (WT. 
1.79 lbs)

P16690 A16690 Washer, for 1-1/8” John Deere Hipper Axle. (WT. 2.50 lbs)

P262032

P15142

P13208

W208PP5

P3745

P15143

P15144

P15145

P25097

P16690

P220089



KABAT  AMERICAN

http://www.kabatamerican.com
21

203JD

John Deere Planter Parts-Closing Wheel Section

5203KYY2

5203TN1

P55888

P37552

P86763

PART NO. OEM NO. DESCRIPTION
203JD AA34132 Ball Bearing, 0.67” Bore, Fits 7300 Planter Wheel. (WT.  

0.16 lbs)
5203KYY2 5203VVAN            

164044-2RS           
GA5641            
AN212132                
324461A1

Double Row Ball Bearing, O.D. 40mm, with double lips 
seals on both sides. Used on closing wheel or gauge 
wheel. (WT.  0.45 lbs)

5203TN1 AA34132 
AA61722

Double Row Ball Bearing, for P43898 Closing Wheel As-
sembly, One-piece design replaces both bearing 203JD 
and 62032RST   (WT.  0.3 lbs)

P37552 AA37552      
AA37839

Closing Wheel Arm,Fits  John Deere Planter Models 7200, 
7300 PTL, 1760, 1780, Maxemerge 2.  (WT.  7.15 lbs)

P86763 A69141         
A86763

Closing wheel arm (frame) , made from steel casting .Fits 
John Deere MaxEmerge®Plus, Pro, and XP planters; 1530 
and 1535 John Deere grain drills.  (WT.  8.8 lbs)

P48290 A48290 Cam Bushing, Left Hand, Heat Treated, For Closing Wheel 
Arm on John Deere Planters, Fits Models 7300 Series, 
Maxemerge 2 (WT.  0.18 lbs)

P48430 AA48430 Cam Bushing, Right Hand, For Closing Wheel Arm on John 
Deere Planters, Fits Models 7300 Series, Maxemerge 2. 
(WT.  0.28 lbs)

P51723 A51723 Cam Bushing, Used With Cotton Attachment,Fits John 
Deere Planter Models 7200-7300 PTL. (WT.  0.17 lbs)

P52556 A52556 Bushing, used on P37552, & P86763 Closing Wheel Arms, 
ID 0.6675”(17mm) OD 0.9935”(25mm) Height 
0.434”(11mm). (WT. 0.01lbs)

P53242 A53242   Shift Collar Bushing,Used With P37552 Closing Wheel 
Arm, Fits Models 7200, 7300 PTL, 1760, 1780, Maxemerge 
2. (WT.  0.13 lbs)

P55888 A55888 Bushing, Used on P86763 Closing Wheel Arm, Two Per 
Row, For John Deere Planters MaxEmerge®Plus, Pro, and 
XP planters; Also for John Deere Grain Drills, Fits Models 
1530, 1535. (WT.  0.28 lbs)

P254G A59806 Handle, Adjusting Lever for Closing Wheel W/ Bolt on 
Wheels (WT. 1.00 lbs))

P64237 86762 Handle, used on Closing Wheel Arm P86763,Fits John 
Deere MaxEmerge®Plus, Pro, and XP planters; 1530 and 
1535 John Deere grain drills.(WT. 1.00 lbs)

P2204B H2204B Handle Bushing, use with P55143 Pin On P86763 Closing 
Wheel Arm, 2 Per Arm. 
ID 0.3975” (10mm) OD 0.627” (16mm)  Height 1.1”(28mm) 
(WT. 0.07 lbs)

P55143 AA55143 Pin, used with handle on P86763 Closing Wheel Arm, Fits 
John Deere Planters 1700 Maxemerge Plus Unit. (WT.  0.5 
lbs)

P48290
P48430

P51723

P52556

P254G

P2204B

P53242

P55143

P64237



http://www.kabatamerican.com
22

KABAT  AMERICAN

John Deere Planter Parts-Closing Wheel Section

P39968

PART NO. OEM NO. DESCRIPTION
P33879 A33879        

A28135         
GB0113

Closing Wheel Arm Stop, Fits John Deere MaxEmerge; 
Kinze® (except 3000 series) planters (WT.  3.5 lbs)

P53118 A53118 Closing Wheel Arm Stop,For John Deere Planters, Fits Mod-
els 7300, 7200, 1760, 1780, Maxemerge Plus. (WT.  5.5 lbs)

P55889 A55889        
A87426

Closing Wheel Arm Stop, for John Deere Planters, Fits Max-
emerge Plus, Pro, XP; Also For John Deere Grain Drills, Fits 
1530, 1535.  (WT. 5.3 lbs)

P39968 GA6434        
AA39968       
7074.N          
854262         
87695406

Closing wheel assembly, 1” x 12”, consists of 40mm double 
row ball bearing, Nylon plastic halves and rubber tire.  Fits 
Kinze®1993 and newer. John Deere MaxEmergePlus, Pro, 
XP and XP Pro; 1530 and 1535. Monosem Plus. White 6000 
and 8000 planters. Case-IH grain drills; SDX30 and SDX40 
air drills. (WT.  5.94 lbs)

P43898 AA43898 Closing Wheel Assembly, 1”x12”, With 5203TN1 One-piece 
Double Row Ball Bearing,Fits John Deere Planter Models 
4200, 7300, Maxemerge 2, Also Fits John Deere Grain Drill 
Models 515, 520.(WT.3.43)

P43899 GA3068
AA43899

Closing Wheel Assembly, 1”X 12”, With 885152 Stem Bearing 
and plastic Wheel Halves, Fits John Deere Planter Models 
7000-7100, Also Fits Kinze Planter, Replaces OEM# Kinze 
GA3086 John Deere AA43899 (WT.  3.50lbs)

P87610678 87610678 Press Closing wheel assembly, 6.5” X 12”, with 5/8” ID bear-
ing, two nylon rims. Fit Case-IH 800, 900, 950, 955, 1200 
series planters; 5400, 5500 Soybean Special. Also Fits John 
Deere Planter Maxmerge XP, 1700 Plus. (WT. 14.70 Lbs)

UHMW16-1 GA6434
AA39968
7074N
854262
87695406

Spike Closing Wheel Assembly, consists of UHMWPE Poly 
Spike Ring (16 teeth).  Nylon Rims, 40mm double row ball 
bearing & hardware. Fits Kinze®1993 and newer. John Deere 
MaxEmergePlus, Pro, XP and XP Pro; 1530 and 1535. Mono-
sem Plus. White 6000 and 8000 planters. Case-IH grain drills; 
SDX30 and SDX40 air drills.(WT.3.70lbs)

UHMW16-R Closing Wheel Spike Ring, 16 teeth, made from Ultra High 
Molecular Weight Poly Plastic (UHMWPE), with high wear 
resistance, high anti-impact strength and high anti-corrosion. 
Prolongs life several times than traditional rubber one. Fit 
John Deere or Kinze Closing Wheel Nylon Rims. (WT.1.10lbs)

P33879

P53118

P55889

P43898

P87610678

P43899

UHMW16-1

UHMW16-R



KABAT  AMERICAN

http://www.kabatamerican.com
23

John Deere Planter Parts-Closing Wheel Section

PART NO. OEM NO. DESCRIPTION
P35638 AA35638

AA34211
Bearing Assembly, Consists of 1- 203JD, 1- 6203-2RS, 1- 
Outer Bushing, For Closing Wheels W/Steel Wheel Halves, 
And Early Nylon Wheels, Fits John Deere Planter  Models 
7200, 7300, Maxemerge 2, Some 750 Grain Drills, And 886 
Row Crop Cultivators (WT. 0.50lbs)

P22325 AA22325        
GD1085
87461340
017632

Solid Rubber Ring, 1X12”, for closing wheels. Fits John 
Deere, Kinze®, Case-IH, and White planters. Also fits John 
Deere, Case-IH, Tye, United Farm Tools, Crustbuster, Great 
Plains, M & W, and Marliss grain drills..(WT.1.00 lbs)

P43609 A43609 Spring, Standard Down Pressure, 2-4 Used Per Row on Clos-
ing Wheel Kits , Fits John Deere Planter Maxemerge Plus, 
Pro, XP Pro, 1530, 1535. (WT.  1.25 lbs)

P74643 A57290        
A47132

Closing Wheel Spring, For John Deere Planters, Fits Max-
emerge- Plus, Pro, XP Pro, 1530, 1535, 7200, 7300, 1760, 
1780. (WT.  1.5 lbs)

P23116 AA23116       
GA2054

Closing Wheel Spring with Plug,1/2”-13UNC thread, Fits John 
Deere MaxEmerge Planter. Also Fits Kinze Planter prior to 
1993.  (WT.  1.9 lbs)

P6000 Notched Covering Disc Assembly, 8” diameter, pair With 
P6001, fits John Deere, Monosem, and Case IH Planters.
(WT. 2.50lbs)

P6001 Notched Covering Disc Assembly, 8” diameter, pair With 
P6000 fits John Deere, Monosem, and Case IH Planters. 
(WT.2.50lbs)

P22836 Metal Dust Cap for Covering Disc Assembly P8IHCD, P6000, 
P6001, Disc Opener Assembly P140IHL, P140IHR.（WT.0.01 
lbs)

P282296 AN282296 Press Wheel Assembly, 1”x10”, consists of plastic 
halves,tapered tire and  CG203KRR2C3 bearing, fits John 
Deere Grain Drill models 1535,1590,1860.(WT. 1.75 lbs)

P58321 AA33061
AA58321

8” Covering Disc Assembly, with bearing and 5/8” threaded 
stud. Fits John Deere Planter and Grain Drills.  Use with 
P46176 bushing and P17520 seal. (WT. 2.00 lbs)

P46176 A46176 Bushing, for 8”  Covering Disc Assembly P58321.
ID 0.626”(16mm),  OD 1.057”(27mm),  Height 0.562”(14mm). 
(WT. 0.10lbs)

P17520 M17520 Rubber Seal, Inner Diameter 1.75”, Outer Diameter 2.62”, 
Width 0.354”, used on Covering Disc Assembly P58321.
(WT.0.01lbs)

885152 AA35741
AA21015
128558C91
GA2022

Stem Bearing, with cross Hole, for closing wheel or gauge 
wheel (with spacer#P25915). Fits John Deere 7000-7100, 
800-900-950-955 Series Planters, 5400 & 5500 Soybean 
Special, Early Model 1200 Series. (WT.0.41 lbs)

885154B AN131668
446642MI
W2289-3
369851

Stem Bearing, with cross groove, used on closing wheel or 
Gauge Wheel (with spacer #P25915). Fit JD 7200, 7300, 1700 
Series Planters, Maxemerge 21992 & After all Maxemerge 
Plus Pro 1530, 1535. (WT.0.41 lbs)

P58321

P22325

P43609

P23116

P74643

P17520

P46176

P35638

885152

885154B

P6000

P6001

P282296

P22836



http://www.kabatamerican.com
24

KABAT  AMERICAN

P8519

John Deere Planter Parts-Coulter Blade

ITEM NO. OEM NO. DESCRIPTION

P72358 A72358 Flat Coulter balde, 16” diameter, 5 X 9mm bolt 
holes on 3-1/2” circle, 2-1/2” center hole, thick-
ness 5mm. Fits John Deere single disc fertilizer 
7200,7300,1700 series. (WT.9.90 lbs)

P72360 A72360 Bubble Coulter blade, 16" diameter, 18 bubbles, 
5 X 1/2" bolt holes on 4-3/4" circle, 2-1/8" cen-
ter hole, thickness 4mm. Fits John Deere Max-
Emerge®2, MaxEmerge®Plus, Pro, XP, XP Pro; 
1530, 1535. (Wt. 7.95 lbs.)

P72678 A72678 Wave Coulter Blade, 16" diameter, 13 waves(3/4" 
width), 5 X 1/2" bolt holes on 4-3/4" circle, 2-1/8" 
center hole, thickness 5mm. Fits John Deere no-till 
series , Plus, Pro, XP, XP Pro, 1533, 1535.  (Wt. 
11.05 lbs.)

P72680 A72680 Wave Coulter Blade, 16" diameter, 25 waves(5/8" 
width), 5 X 1/2" bolt holes on 4-3/4" circle, 2-1/8" 
center hole, thickness 5mm. Fits John Deere no-till 
series , Plus, Pro, XP, XP Pro, 1533, 1535.  (Wt. 
8.93 lbs.)

P8519 854159
2571-153

Bubble Coulter blade, 16” diameter, 18 bubbles, 
4 X 1/2” bolt holes on 5-1/4” circle, 4” center hole, 
thickness 4mm.
For Kinze®; White 5100, 5700, 6000, 8000, 9000 
planters;
Ausherman, Yetter,  John Deere 1570 coulter cart;
Case-IH 5400; Kuhn Krause, Great Plains drills.
(Wt. 7.60 lbs.)

P72680

P72678

P72360

P72358



KABAT  AMERICAN

http://www.kabatamerican.com
25

John Deere Planter Parts-Down Force

ITEM NO. OEM NO. DESCRIPTION
P73942 AA73942

AA49827
Air spring Bag, pneumatic down force. Fit John 
Deere planter models  MaxEmerge Plus, Max-
Emerge XP and Pro. (WT.1.20 lbs)

P28970 BA28970 Adjustable Heavy Duty Down Pressure Spring unit, 
With Short Arms, For available downforce amount: 
0 lb, 125 lb, 250 lb, and 400 lb, Fits John Deere 
MaxeMerge XP Planting Unit. 1 Piece Per Row.   
(WT.27.00 lbs)

GA2068 AA35876
2960-102

Down Pressure Spring with Plug,  heavy duty, 1/2”-
13 UNC thread,,Fits John Deere and Kinze Plant-
ers. Also Fits Yetter Coulter.Replaces John Deere 
#AA35876, AA28046 ,Kinze # GA2068 ,YETTER 
#2960-102. (Wt. 2.00 lbs.)

P10071 AB10071
GA2052

Down Pressure Spring with Plug, standard , 
7/16”-14UNC Thread, For John Deere 7000, 7100 
Planter. Also for Kinze Planter. (Wt.1.00 lbs.)

P28970

GA2068

P10071

P73942



http://www.kabatamerican.com
26

KABAT  AMERICAN

P35645

P1K212

John Deere Planter Parts-Drive Transmission

PART NO. OEM NO. DESCRIPTION
205KRR2 HPC014GP

AA28271
AE29876

Ball Bearing, 7/8” Hex Bore, Flat Outer Race. For Kinze Trans-
missions, Hex Drive Lines and Drive Wheels, Fits JD Seed 
Transmission 7000-7100, Wheel Frame 7300,7340,1700,1720. 
(WT. 0.44 lbs)

205KRRB2 HPS014GP
AA22097
JD9260

Ball Bearing, 7/8” Hex bore , Curved Outer Race for John Deere 
7000-7100 and Kinze Transmissions, Hex Drive Lines.(WT. 0.30 
lbs)

P36212 AA36212 Flanged Bearing Unit with Sprocket, 19 tooth , 7/8” hex bore, 
2-1/8” width. Used on John Deere 7200-7300 and 1700 series 
planter row unit and planter drive line. (WT.0.60)

P34259 AA34259 Flanged Bearing Unit, 9/16” Hex Bore, Fits John Deere Planter 
Model 7000, 7200, 1750.(WT.0.60)

P35646 AA35646 Flanged Bearing Unit, 7/8” hex bore. Fits seed drive line on John 
Deere planters 7200 Wing Fold, 7200 Flex Fold, 7300 Vertical 
Fold, 1710, 1760, 1760NT, 1770, 1770NT, 1780, 1790.(WT. 0.60 
lbs)

P35645 AA35645 Flanged Bearing Unit with Sprocket, 19 Tooth, 7/8” Hex Bore, 
2-1/2” Wide. Fits John Deere Planters 7200, 7300, 1760, 1780, 
Maxemerge 2, Maxemerge XP, 1700. (WT.  1.30 lbs)

P30654 AA30654
GA2057

Flanged Bearing Unit with Sprocket, 9/16” Hex Bore, 19 Tooth, 
1-1/2” Wide, For Parallel Linkage on John Deere Planter, Fits 
Models 7000, 7100, Also Fits Kinze Planters, Early Models.  (WT.  
1.25 lbs)

P133868 AA133868 Flanged Bearing Unit with sprocekt, 19 Tooth, 7/8” Hex Bore, 
1-1/2” Wide. Fits John Deere Planters 7200, 7300, 1760, 1780, 
Maxemerge 2, Maxemerge XP, 1700. (WT.  1.20lbs)

P1K212 Insecticide/herbicide chain idler conversion kit. For John Deere 
7000, 7100; Kinze® planters.(WT.0.50 lbs)

P49644 A49644 Tension Spring, used on Idler Conversion Kit #P1K212, Fits John 
Deere Planters and MaxEmergePlus insecticide/herbicide drive. 
(WT.0.10 lbs)

41-1R103L AA42795 Pre-Cut Planter Chain, 103 links including 1 Connecting Link and 
1 Offsetting Link, #41-1R Chain, Pitch Size 1/2” , For Plateless 
Seed Meter. (WT.1.25 lbs)

41-1R112L AA33060 Pre-Cut Planter Chain, 112 Links of #41-1R, including 1 Con-
necting Link. Vacuum Seed Meter. (WT.1.50 lbs)

41-1R140L AH43720 Pre-Cut Planter Chain, 140 links including 1 Connecting Link of 
#41-1R Chain, Pitch Size 1/2” , For Roller Unit Drive. (WT.2.00 
lbs)

41-1R98L AA20978 Pre-Cut Planter Chain, #41-1R, 98 Links ,including 1 Connecting 
Link, Pitch Size 1/2” , For Seed Meter. (WT.1.25 lbs)

P49644

41-1R103L

205KRR2 205KRRB2

P36212

P34259

P35646

P133868
P30654

41-1R112L

41-1R140L

41-1R98L



KABAT  AMERICAN

http://www.kabatamerican.com
27

John Deere Planter Parts-Drive Transmission

PART NO. OEM NO. DESCRIPTION
P24931 Ratchet Pawl, for dog ratchet carrier. Work with P24930 

Ratchet Sprocket. Fit John Deere 7000, 7100 planters with 
round countershaft drive.  (WT.1.70 lbs)

P24930 A24930 Sprocket, 8 tooth, for dog ratchet carrier. Work with P24931 
Ratchet Pawl. Fit John Deere 7000, 7100 planters with round 
countershaft drive.  (WT. 1.05 lbs)

P38393 AA38393 Flex coupler with meter lockout. Fit John Deere Max-
Emerge®2, MaxEmerge®Plus, MaxEmerge™XP, MaxE-
merge™5 planters. (WT.  0.25 lbs)

P36888 AA36888 Sprocket assembly, 13-19 tooth cluster with bearings. For 
hopper and insecticide drive with finger pickup units only 
on John Deere planters MaxEmerge®2, MaxEmerge®Plus, 
MaxEmerge™XP, MaxEmerge™5; 1535 drills. (WT. 0.70 lbs)

P26794 AA26794
A24942

Double Sprocket, 16 & 30 tooth. Fit John Deere 7000, 7100 
planter seed transmission; 7000 dry fertilizer transmission. 
1pc per use.  (WT. 1.8 lbs)

P26795 AA26795 Double Sprocket, 22 & 26 Tooth. Fit John Deere 7000, 7100 
planter seed transmission.2PCS per use.  (WT. 1.70 lbs)

P26796 AA26796
A24958

Double Sprocket, 18 & 28 tooth. Fit John Deere 7000, 7100 
planter seed transmission. 1pc per use. (WT.1.80 lbs)

P26802 AA26802
A24957

Sprocket, 30 tooth. Fit John Deere 7000, 7100 planter seed 
transmission. 1pc per use.  (WT.  1.65 lbs)

P26805 AA26805
A24956

Sprocket, 14 tooth. Fit John Deere 7000, 7100 planter seed 
transmission. 2pcs per use.  (WT.  0.35 lbs)

P46101 A24988
A46101

Drive Wheel Sprocket, 12 tooth. For drive wheels on John 
Deere 7000, 7100 4, 6, 8, 12-row narrow; 4, 6, 8-row wide. 
(WT. 1.55 lbs)

P55008 A55008 Plastic Chain Sprocket, 10 Tooth, For Seed Drive on Vacuum 
and Finger Pickup Units, Also Used on Insecticide & Herbicide 
Drive, For John Deere Planters, Fits Maxemerge 2, Plus, and 
XP. (WT.0.01 lbs)

P43610 A43610 Rubber Sprocket spacer, For planter seed and fertilizer 
transmission.Fits John Deere Planter MaxEmerge2 and Max-
EmergePlus. (WT.0.10 lbs)

P24931 P24930

P38393
P36888

P46101

P26796

P26805

P55008

P26802

P26794

P26795

P43610



http://www.kabatamerican.com
28

KABAT  AMERICAN

John Deere Planter Parts-Gauge Wheel Section

PART NO. OEM NO. DESCRIPTION

P60174 Gauge Wheel Arm, with two bearing #203KRR2 ( Bore 
5/8”)  installed substituting for adjusting bushing. Threaded 
hole (M16) on wheel connecting end. Fits John Deere 
MaxEmerge®XP, XP Pro; 1530, 1535 with XP row units.
(WT. 4.60 lbs)

P41968N AA41968 Gauge Wheel Arm Kit, new style, consists of cast-
ing Arm, Threaded Bushing (1” Hole), M12X25 Bolt, 
M12X35 Bolt and washer. Through hole with set screw 
aside on wheel connecting end. Fits John Deere Planter 
7000,7100,7200,7300,1760,1780 series, MaxEmerge™ 2 
Units.  (WT. 6.70 lbs)

P54179 AA54179 Gauge Wheel Arm Kit, consists of casting arm, Threaded 
Bushing w/ 5/8” Hole, M16X100 Bolt and washer. Through 
hole with set screw aside on wheel connecting end. 
Fits John Deere 1700, 1710, and 1720 Series Planters.        
(WT.  5.79 lbs)

P92817 A92817
A79648

Gauge Wheel Arm Kit, new bushing style, consists of 
casting Arm, threaded bushing with 5/8” Hole, M16X100 
bolt, M16X70 bolt, 1 washer and 4 shims. Threaded 
hole (M16) on wheel connecting end. Fits John Deere 
MaxEmerge®XP, XP Pro; 1530, 1535 with XP row units.. 
Replaces OEM # A92817, A79648. (WT. 6.80 lbs)

P41968B A57057 Self Aligning Threaded Bushing, 1” bore size, Used on 
Gauge Wheel Arm Kit. (WT.0.75 lbs)

P54179B A57058 "Self Aligning Threaded Bushing, 5/8” Hole, Used On 
P54179 Gauge Wheel Arm Kit. (WT. 0.40 lbs)

P92818 A92818 Gauge Wheel Arm Self-Aligning Threaded Bushing, 5/8” 
Hole, new style. Fits John Deere MaxEmerge®XP, XP Pro; 
1530, 1535 with XP row units.  (WT. 0.80 lbs)

P97867 A97867 Gauge Wheel Arm Self-Aligning Threaded Bushing, 1” bore 
size, new style. (WT. 0.45 lbs)

P41968N

P54179

P92817

P41968B

P54179B

P92818

P97867

P60174



KABAT  AMERICAN

http://www.kabatamerican.com
29

John Deere Planter Parts-Gauge Wheel Section

P98187

PART NO. OEM NO. DESCRIPTION
P211864 AN211864 Gauge Wheel Assembly, 4.5” X 16”, with two yellow Metal 

Rims and Ball Bearing 5203KYY2. Fits John Deere Grain Drill 
Models 750 & 1850 Series. (WT.  20.00 lbs)

P35392 AA35392  
AA32046

Gauge Wheel Assembly, 4.5” X 16”, two yellow Metal Rims, 
with 40mm Stem Bearing. Fits John Deere Models all Max-
Emerge and MaxEmerge2 prior to 1992.  (WT.  20.00 lbs)

P41359 AA41359 Gauge Wheel Assembly, 4.5” X 16”, with one Metal Rim, one 
nylon rim and 40mm stem bearing. Fits John Deere Models 
MaxEmergePlus, Pro series, 1530, 1535. (WT.  20 lbs)

P66604 AA66604 Gauge Wheel Assembly, 4.5” X 16”, One Metal Rim, One Ny-
lon Rim and 40mm double row ball bearing. Fits John Deere 
MaxEmerge™XP, XP Pro; 1530 and 1535 with XP. Also Fit 
Kinze 1993 and later.  (WT.  19.00 lbs)

P66988 AA66988   
87673693

Narrow Gauge Wheel Assembly, 3”X 16”, with one metal rim, 
one nylon rim and 40mm double row ball bearing. Fit John 
Deere Grain Drills 750, 1560, 1590, 1690, 1835, 1850, 1860, 
1890, 1895, 1990. 2510H applicator. Narrower design allows 
unit to run on cleaner seed bed and allows clearance for 
trash. Great for narrow row soybean planters.   (WT.  15 lbs)

P98106 Spoked Gauge Wheel Assembly, 4.5” X 16”, with casting 
tri-spoke hub and stamping metal rims. Installed 40mm Stem 
bearing. Fits John Deere Planter Models MaxEmergePlus, 
Pro series, 1530, 1535. (WT.18.50 lbs)

P98187 AA98187   
AA86055

Spoked Gauge Wheel Assembly, 4.5” X 16”, with casting iron 
spoke and stamping metal rims. Installed 40mm double row 
ball bearing, triple seals. Fit John Deere MaxEmerge™ XP, 
XP Pro, MaxEmerge™ 5, Exact Emerge™; Kinze 1993 and 
later; White 8000; John Deere drills 750, 1560, 1590, 1690, 
1850, 1860, 1890, 1895, 1990.   (WT.  18.5 lbs)"

P98188 AA98188
AA85465

Narrow Spoked Gauge Wheel Assembly, 3”X 16”, with cast-
ing tri-spoke hub, stamping metal rims and 40mm Double 
Row Ball Bearing, triple seals. Fit John Deere Grain Drills 
750, 1560, 1590, 1690, 1835, 1850, 1860, 1890, 1895, 1990. 
2510H applicator. Narrower design allows unit to run on 
cleaner seed bed and allows clearance for trash. Great for 
narrow row soybean planters.  (Wt. 16.00 lbs)

P22884 AA22884   
A84050
GD1086 
852060

Gauge Wheel Tire, 4.5” x 16”, With standard profile offset, 
3/8” Deep Lip. Fits John Deere planters with MaxEmerge™, 
MaxEmerge®2, MaxEmerge®Plus, and Pro row units. Fits 
John Deere grain drills 750, 1560, 1850, 1860; 1530, 1535 
with MaxEmerge®Plus row units; early 1590, 1690, 1835, 
1890, 1895, 1990. Fits Kinze® planters. Fits White planter 
models 5100, 5700, 6000, 8000. (WT.  7.80 lbs)

P84062 A84062 Gauge Wheel Tire, 4.5” x 16”, with Standard Profile Offset, 
7/8” Deep Lip. Fits John Deere planters XP, XP Pro row units; 
1530, 1535 with XP. John Deere drills late 1590, 1690, 1835, 
1890, 1895, 1990. Also Fits Kinze® planters.  (WT.  7.80 lbs)

P85133 A85133 3” X 16” Narrow Gauge Wheel Tire, Fits John Deere Grain 
Drills Model  750, 1560, 1590, 1690, 1835, 1850, 1860, 1890, 
1895, 1990. 2510H applicator.  (WT.  5.50 lbs)

P211864
P35392

P41359
P66604

P66988

P98106

P98188

P84062

P22884

P85133



http://www.kabatamerican.com
30

KABAT  AMERICAN

                      John Deere Planter Parts-Gauge Wheel Section

P772K

P772

P609

P670

PART NO. OEM NO. DESCRIPTION
P772KIT A82772    

A62609    
A58670

Gauge Wheel Walking Depth Control Kit, Consists of Pivot P772, 
Rocker P609, and Pivot Bolt P670,  Fits John Deere Planter Max-
emerge Plus and Maxemerge Pro, XP Pro, 1530, 1535. (WT.2.00 
lbs)

P670 A58670 Bolt for gauge wheel walking depth control,used with Pivot P772 
and Rocker P609. Fits John Deere Planter Maxemerge Plus and 
Maxemerge Pro, XP Pro, 1530, 1530. (WT.  0.20 lbs)

P772 A82772 Pivot for gauge wheel walking Depth Control, used with Rocker 
P609 and Bolt P670. Fits John Deere Planter Maxemerge Plus and 
Maxemerge Pro, XP Pro, 1530, 1530.  (WT. 1.45 lbs)

P609 A62609 Rocker for gauge wheel walking depth control, used with Pivot P772 
and Bolt P670. Fits John Deere Planter Maxemerge Plus and Max-
emerge Pro, XP Pro, 1530, 1530.  (WT.  0.35 lbs)

P90344Kit A90344   
A46790
A54768

Gauge Wheel Walking Depth Control Handle Kit, consists of handle, 
spring and snap ring. Fit John Deere MaxEmerge Plus, XP Models 
1700-1750, Air Seeder/Drill Models 1530-1535.  (WT.  0.53 lbs)

885152 AA35741
128558C91
GA2022

Stem Bearing, with cross Hole, for closing wheel or gauge wheel 
(with spacer#P25915). Fits John Deere 7000-7100, 800-900-950-
955 Series Planters, 5400 & 5500 Soybean Special, Early Model 
1200 Series. (WT.  0.41 lbs)

885154B AN131668
446642MI
369851

Stem Bearing, with cross groove, used on closing wheel or Gauge 
Wheel (with spacer #P25915). Fit JD 7200, 7300, 1700 Series 
Planters, Maxemerge 21992 & After all Maxemerge Plus Pro 1530, 
1535. (WT. 0.41 lbs)

P35951B AA35951 Stem Bearing, with cross hole, One-Piece design, substitute of 
885152 Bearing & P25915 Spacer. Used on Gauge Wheel W/ Steel 
Wheel Halves. Fits John Deere Planter Models 7200, 7300, 1760, 
1780, Maxemerge 2 Units, 7100.  (WT.  0.70 lbs)

P38106B AA38106 Stem Bearing, with cross groove, One-piece design, substitute 
of 885154B Bearing & P25915 Spacer. Used on Gauge Wheel. 
Fit John Deere Planters Models 7200, 7300, 1760, 1780, MAX-
EMERGE 2 UNITS. (WT.  0.70 lbs)

P25915 A25915 Stem Bearing Spacer,Use with 885152 and 885154B stem bearing 
on planter gauge wheels. Replaces OEM# John Deere #A25915, 
Kinze #GB0118, Case IH# 133966C1, Monosem #7081.1. (WT.0.30 
lbs)

5203KYY2 5203VVAN
AN212132
822-170C

Double Row Ball Bearing, O.D. 40mm, with double lips seals on 
both sides. Used on closing wheel or gauge wheel. (WT.  0.45 lbs)

P90344KIT

885152

P35951B

P38106B

P25915

5203KYY2

885154B



KABAT  AMERICAN

http://www.kabatamerican.com
31

PART NO. OEM NO. DESCRIPTION
P52092 A52092 Lower Parallel Arm, 16” Standard Length. Connecting holes are 

embedded with hardened bushing to protect wearing. Fits John 
Deere Planter Models 7200,7300,1700,1760,1780, Maxemerge XP 
& Attachment.  (WT.  17.00 lbs)

P76223 A76223
753013

Upper Parallel Arm,16” Standard Length. Connecting holes are 
embedded with hardened bushing to protect wearing. Fits John 
Deere Planter Models 7200,7300,1700,1760,1780, ME2, XP, ME5& 
Attachment. 2 per row.  (WT. 3.60 lbs)

P65304 A65304
A84382

Lower Parallel Arm,  23” Extended Length. Fits John Deere Planter 
Models 7200,7300,1700,1760,1780, Maxemerge XP & Attachment. 
(WT.  34.00 lbs)

P61571 A61571 Upper Parallel Arm, 23” Extended Length. Fits John Deere Planter 
Models 7200,7300,1700,1760,1780, Maxemerge XP & Attachment. 
2 per row.  (WT.5.20 lbs)

P23789 A23789
GB018

Bushing, I.D. 0.644” (16mm), O.D. 0.8715”(22mm), Height 
0.5615”(14mm). Used on Parallel Arm. Fits John Deere 7000-7100, 
and Kinze 2000 Series. (WT. 0.04 lbs)

P48515 AA48515 Bushing, ID 0.656”(17mm) OD 1.085”(28mm) Height 0.5655” 
(14mm). Used on Upper Parallel Arm . Fits John Deere Planter 
Models  7200, 7300, 1760, 1780, MAXEMERGE2, 1700, 120XP, 
PLUS, PRO.  (WT.  0.18 lbs)

P49465 A49465 Bushing, ID 0.656”(17mm) OD 1.085”(28mm) Height 
0.6565”(17mm). Used on Lower Parallel Arm, 2pcs per row. Fits 
John Deere PlanterModels 7200, 7300, 1700, Maxemerge XP & 
Attachment.  (WT.  0.01 lbs)

P5877 A22561
1250813C1
GD1114

U-Bolt, Zinc plated, Replaces OEM# John Deere A22561 & 
1250813C1, KINZE# GD1114 (WT.  1.80 lbs)

                      John Deere Planter Parts-Parallel Arm

P52092

P61571

P65304

P76223

P23789

P48515

P49465

P5877



http://www.kabatamerican.com
32

KABAT  AMERICAN

John Deere Planter Parts-Seed Delivery

P52360

PART NO. OEM NO. DESCRIPTION
P41692 A41962 Seed Guard, For John Deer Planter, Fits models 7000, 

7100, 7200, 7300, 1780 Before 1997  (WT.  0.83 lbs)
P61577 PA61577 Seed Guard With Bracket, for John Deere 1700 Series 

Planters and All Kinze Planters Except 3000 Series.(WT.  
0.90 lbs)

P80203 A80203 Seed Guard, For John Deere XP Shank, Maxemerge, 
XP Row Unit Planters.  (WT.  1.00 lbs)

P52360 A52360 Pivot bushing for poly seed hopper, 2pcs per 
use. Fit John Deere planter MaxEmerge®2* 1992 & af-
ter, MaxEmerge®Plus, MaxEmerge™XP.  (WT.  0.25 lbs)

P343022 343022 Seed Meter, finger pick-up type, 12 fingers, for plant-
ing corn. Fit Kinze 2000 series planter. Fit John Deere 
7000,7100 series planter.  Replaces Precision Planting 
OEM #343022. (WT. 9.25 lbs)

P343025 343025
AA60535

Seed Meter, finger pick-up type, 12 fingers, for planting 
corn. Fit John Deere 7200,7300,1700 series planter. Re-
place John Deere OEM # AA60535, Precision Planting 
OEM#343025 (WT. 9.25 lbs)

SMB6050 G7536X
700-01079C

Brush Type Seed Meter, for planting soybean. Made with 
heavy duty aluminum housing. Fit John Deere Planter 
Models 7000, 7100 series and Kinze Planter models 
2000, 3000 series. Replaces Kinze.  (WT.5.70 lbs)

SMB6100 Brush Type Seed Meter, for planting soybean. Made with 
heavy duty aluminum housing and adapting bracket. Fit 
John Deere Planter Models 7200, 7300 & 1700 series. 
(WT.5.90 lbs)

P5699 GA5699 Uper Blue Brush, used in brush type seed meter 
#SMB6050 & 6100. Replace Kinze # GA5699. (WT. 0.05 
lbs)

P5834 GA5834 Lower Black Brush, used in brush type seed meter 
#SMB6050 & 6100. Replaces Kinze OEM #GA5834.
(WT.0.05 lbs)

P5794 GA5794 Seed Meter Disc, 60 cell, black. Used in Brush Type 
Soybean Seed Meter #SMB6050 & 6100.  2,200 TO 
4,000 seeds per pound. Replaces Kinze OEM # GA5794 
(WT.0.40 lbs)

P55880 A55880 Seed tube, With Small Sensor Hole, For John Deere 
Planters, Fits Models 7200- 7300- 7400, Some 1700. 
(WT.  0.28 lbs)

P56784 A74394 Seed Tube, Regular Curve With Large Monitor Hole, For 
John Deere Planter, Fits 1700 Series.  (WT.  0.28 lbs)

P67780 AA67780 Seed Tube, With Large Sensor Hole, 2 Tie Straps, For 
John Deere Planter, Fits Model 1720XP. (WT.0.30 lbs)

P55984 AA55984 Plastic Seed Tube Guide,For John Deere Planter, Also 
Seed Clip For Slicing Insert. (WT.0.01 Lbs.) 

P41692
P61577

P80203

P55880

P56784

P67780

P55984

SMB6050

SMB6100

P5699

P5834

P5794

P343022

P343025



KABAT  AMERICAN

http://www.kabatamerican.com
33

John Deere Planter Parts-Seed Opener Section

PART NO. OEM NO. DESCRIPTION
P59196-6PF Ball bearing (204 series double row #P59196) and 

Mounting Flange (6 rivet-holes) assembling. Hub Unit for 
disc opener #P65248-204. (WT.  0.98 lbs)

5205YY54-6PF Ball Bearing (205 series double row #5205YY54) and 
mounting flange (6 rivet-holes) assembling. Hub unit for 
disc opener #P65248-205. (WT.  1.20 lbs)

P65248-204 AA20242
AA37474
AA55927
GA2013
AA65248

Disc Opener Assembly, 15” diameter, 3.5mm (.138”) 
thick, with 204 (45mm O.D.) double row ball bearing. Fits 
John Deere planters Models Maxemerge, Maxemerge 
2, Maxemerge Plus, Pro Series (1790), XP and XP Pro.  
Also Fits Kinze Planter 3000 Series. (WT.  7.85 lbs)

P65248-205 AA20242
AA37474
AA55927
GA2013
AA65248

Disc Opener Assembly, 15” diameter, 3.5mm (.138”) 
thick, with 205 (52mm O.D.) double row heavy duty ball 
bearing. Fits John Deere planters Models Maxemerge, 
Maxemerge 2, Maxemerge Plus, Pro Series (1790), 
XP and XP Pro row units. Also Fits Kinze Planter 3000 
Series.  (WT.  8.00 lbs)

P48879 A48879 Deflector for Disc Opener, For John Deere Planter, fits 
Models 1700 Series, Pro, XP, XP Pro.  (WT.  1.20 lbs)

P52024 A52024 Rubberized Plastic Dust Cap, used on Disc Opener with 
205 bearing. (WT.  0.01 lbs)

P78218 A78218 Dust Cap, Rubberized Plastic, used on Disc Opener with 
204 bearing. (WT.0.01 lbs)

P26443R AA26443 Disc Opener Scraper,Right Hand ,Fits John Deere Plant-
er Models 7000,7100, 7200, 7300, 1700. (WT.0.40 lbs) 

P26444L AA26444 Disc Opener Scraper, Left Hand, Fits John Deere Planter 
Models 7000,7100, 7200, 7300, 1700. (WT.0.40 lbs)

P37221 AA37221 Rotating Disc Opener Scraper, With Nylon Cover, Fits  
John Deere Planters 1530, 1535, 1700, 1720, 1730, 
1760, 1789, 1790, 7200, 7300, 7340. (WT.0.85 lbs)

P62182 A32637 Heavy Duty Disc Opener Scraper,Fits John Deere Plant-
ers Models 7200, 7300, 1760, 1780. (WT. 0.14 lbs)

P62559 AA62559 Disc Opener Scraper, Tungsten Carbide Tip with Stain-
less Steel Mount, Sold in Pairs, left and right. Fits John 
Deere Planters 1530, 1535. 1700. 1720. 1730. 1760. 
1789. 1790. 7100. 7200. 7300. 7340. (WT. 0.27 lbs)

P98182R A98182 Disc Opener Scraper, right hand, through hardened. Fits 
John Deere Planter 1705 thru 1795, DB44 thru DB120.  
(WT. 0.35 lbs)

P98183L A98183 Disc Opener Scraper , left hand, through hardened. Fits 
John Deere Planter 1705 thru 1795, DB44 thru DB120. 
(WT. 0.35 lbs)

P59196-6PF
5205YY54-6PF

P65248-204
P65248-205

P48879

P52024

P78218

P26443R

P26444L

P37221

P62182

P62559

P98182R P98183L



http://www.kabatamerican.com
34

KABAT  AMERICAN

P41116

P41117

PART NO. OEM NO. DESCRIPTION
PRS315 AH13315 Metal Rotating Disc Opener Scraper , Fits John Deere 

Planter Models 1530. 1535. 1700. 1720. 1730. 1760. 1789. 
1790. 7100. 7200, 7300. 7340. Also Fits White Planters  
5100, 5700, 6000, 8000,  (WT.  0.20 lbs)

P69139 A69139 Disc Opener Scraper Arm, Left Hand, For John Deere Plant-
ers. (WT.  0.24 lbs)

P69140 A69140 Disc Opener Scraper Arm, Right Hand, For John Deere 
Planters. (WT.  0.24 lbs)

P37221K AA37221   
A69139   
A69140   
A50047  

Rotating Disc Opener Scraper Kit, Consists of, 2- P37221 Ro-
tating Scrapers with Nylon Covers, 1- P69139 Left Hand Arm, 
1- P69140 Left Hand Arm, 1- P50047 Spring, and 2- 60030 
Cotter Pins, Fits John Deere Planter Models 1530, 1535, 
1700, 1720, 1730, 1760, 1789, 1790, 7200, 7300, 7340. 
(WT.  1.00 lbs)

P62559K AA62559   
A69139   
A69140   
A50047  

Tungsten Carbide Disc Opener scraper kit,  In-
cludes (2) arms, spring, (2) tungsten scraper 
blades, hardware, Fits John Deere  Plant-
er Model: 1530,1535,1700,1720,1730,1760, 
1789,1790,7100,7200,7300,7340.  (WT.  0.85 lbs)

P98180KIT A98183      
A98182       
A50047

Disc Opener Scraper Kit, consists of  hardened LH Scraper 
P98183L, Hardened RH Scraper P98182R and Tension 
Spring P50047. Fits John Deere Planter 1705 thru 1795, 
DB44 thru DB120.  (WT.  0.9 lbs)

PRS315K AH13315      
A69139        
A69140       
A50047

Rotating Disc Opener Scraper Kit, consists of 2  Metal Scrap-
ers, LH & RH Scraper Arm, 1-Sping, 2 Cotter Pins.  Fits John 
Deere Planter Model: 1530,1535,1700,1720,1730,1760, 
1789,1790,7100,7200,7300,7340. (WT.  0.85 lbs)

P64447 A64447 Pin, use on P62182 Heavy Duty Disc Opener Scraper, 
Fits John Deere Planters Models 7200, 7300, 1760, and 
1780. (WT.  0.13 lbs)

P41116 A41116 Torsion Spring, Right Hand For Heavy Duty Scraper, For 
John Deere Planter, Fits Models 1700. (WT.  0.10 lbs)

P41117 A41117 Torsion Spring, Left Hand For Heavy Duty Scraper, For John 
Deere Planter, Fits Models 1700.  (WT.  0.10 lbs)

P50047 A50047 Spring, Used on Disc Opener Scraper Kits, For John Deere 
Planters. (WT.  0.10 lbs)

PRS315

P62559K

P50047

P37221K

PRS315K

P69139

P98180KIT

P64447

P69140

John Deere Planter Parts-Seed Opener Section



KABAT  AMERICAN

http://www.kabatamerican.com
35

John Deere Grain Drill Parts

CAST1890

CAST750
P213072

P47217M

P283994

P283995

ITEM NO. OEM NO. DESCRIPTION
203KRR2 AN142670  

AN281357  
JD9214     
AA82881           
822-095C  
2SH862

Ball Bearing,  0.64” Bore used in Planters, Gauge 
Wheel, Rotary Hoe, Also used in H11031 Assy.  (Wt. 
0.1 lbs.)

5203KYY2 AN212132    
5203VVAN  
GA5641  
324461A1

Double Row Ball Bearing, O.D. 40mm, with double lips 
seals on both sides. Used on closing wheel or gauge 
wheel.  (Wt. 0.45 lbs.)

P219547 N219547 Outer Bushing,  For Closing Wheel Arm, Fits Over 
P280648 Pivot Bushing (2 Used), Also used for Press 
Wheel Arm (2 used), Located in the Cast Arm, Fits 
John Deere Grain Drills 750 s/n 3835 and above; 1560, 
1590, 1690, 1835, 1850, 1860, 1895, 1990.  (Wt. 0.1 
lbs.)

CAST1890 N282110 Cast iron closing wheel. Fits John Deere Drill Models 
1560, 1590, 1690, 1860, 1890, 1895 and 1990. (Wt. 
16.3 lbs.)

CAST750 AN213060 Cast Iron Closing Wheel, with bearing 6203-2RS, Fits 
John Deere No-Till Drill Models 750,1850. (Wt. 19 lbs.)

P213072 C538266 Grease seal, Inner Diameter 0.992", Outer Diameter 
2.34", Width 0.384", for CAST750 cast closing wheels, 
Fits John Deere Grain Drills Models 750-1850 early 750 
with updated wheels,  (Wt. 0.1 lbs.)

P283994 N283994 
N282888

Torsion Spring, Right Hand, for cast closing wheels. 
Fits John Deere drills 1560, 1590, 1690, 1860, 1890, 
1895, 1990.  (Wt. 1 lbs.)

P283995 N283995 
N282888

Torsion Spring,Left Hand, for cast closing wheels. Fits 
John Deere drills 1560, 1590, 1690, 1860, 1890, 1895, 
1990. (Wt. 1 lbs.)

P35638 AA35638
AA34211

Bearing Assembly, Consists of 1- 203JD, 1- 6203-2RS, 
1- Outer Bushing, For Closing Wheels W/Steel Wheel 
Halves, And Early Nylon Wheels, Fits John Deere 
Planter  Models 7200, 7300, Maxemerge 2, Some 750 
Grain Drills, And 886 Row Crop Cultivators. (Wt. 0.5 
lbs.)

P47217M A47217 Metal Dust Cap, Fits closing wheel on John Deere 
Grain Drill Models 1560, 1590, 1690, 1835, 1860, 1890, 
1895, 1990 (Wt. 0.01 lbs.)

5203KYY2
203KRR2

P219547

P35638



http://www.kabatamerican.com
36

KABAT  AMERICAN

John Deere Grain Drill  Parts

P283805

ITEM NO. OEM NO. DESCRIPTION
P72360 A72360 Bubble Coulter blade, 16" diameter, 18 bubbles, 

5 X 1/2" bolt holes on 4-3/4" circle, 2-1/8" cen-
ter hole, thickness 4mm. Fits John Deere Max-
Emerge®2, MaxEmerge®Plus, Pro, XP, XP Pro; 
1530, 1535. (Wt. 7.95 lbs.)

P72678 A72678 Wave Coulter Blade, 16" diameter, 13 waves(3/4" 
width), 5 X 1/2" bolt holes on 4-3/4" circle, 2-1/8" 
center hole, thickness 5mm. Fits John Deere no-till 
series , Plus, Pro, XP, XP Pro, 1533, 1535.  (Wt. 
11.05 lbs.)

P72680 A72680 Wave Coulter Blade, 16" diameter, 25 waves(5/8" 
width), 5 X 1/2" bolt holes on 4-3/4" circle, 2-1/8" 
center hole, thickness 5mm. Fits John Deere no-till 
series , Plus, Pro, XP, XP Pro, 1533, 1535.  (Wt. 
8.93 lbs.)

P283805 N283805 Double Disc Opener Blade, 13.5” Diameter, 0.098” 
thick, With Raised Center for Aluminum Boots,Fits 
John Deere Grain Drills and Air Seeders. (Wt. 4.20 
lbs.)

P283804  N214190
N283804

Disc Opener Blade, 18” diameter, 0.197” thick,Fits 
John Deere Grain Drill Models 750, 1560, 1565, 
1590, 1690, 1835, 1850, 1860, 1890, 1895 and 
1990. (WT.13.35 lbs)

P213544 AN213544 Disc Opener Hub, With 2 Cups L44610 installed, 
For John Deere Grain Drill Models 750, and 1850.  
(WT.4.85 lbs)

P283291A AN281856 Disc Opener Hub, With P281813 Bearing installed, 
For John Deere Grain Drill, Fits Models 1560, 
1590, 1690, 1860, 1890, 1895, 1990.  (WT. 4.00 
lbs)

P281813 AN281813
JRM3049

Wheel Bearing, For P283291 Hub, Fits For John 
Deere Drill Air Seeder Models 1560, 1590, 1690, 
1860, 1895, and 1990. (WT.2.00 lbs)

P705KIT Wheel Bearing Kit,  consists of 2 Cups L44610, 
2 Cones L44643, 2 Grease Seal P13294, 2 Seal 
Retainers P219000. for Single Disc Opener, Fits 
John Deere Drill Models 750, 1850.
(WT. 0.75 lbs)

P72680

P72678

P72360

P283804

P213544

P283291A

P750KIT

P281813



KABAT  AMERICAN

http://www.kabatamerican.com
37

P282374

John Deere Grain Drill Parts

P13294

P280725

P281241

P41359

P66604

ITEM NO. OEM NO. DESCRIPTION
P13294 B13294 Grease Seal, Inner Diameter 1.5”, Outer Diameter 2.332“, Width 

0.406“, triple lips, used John Deere Grain Drill 750-1890 Single 
Opener Hub.  (Wt. 0.01 lbs.)

P281241 AN281241 Grease Seal, Inner Diameter 2.83", Outer Diameter 3.67", 
Width 0.31", Triple Lips, 1 used per hub. Fits John Deere Grain 
Drills 1560, 1565, 1590, 1690, 1860, 1890, 1895, 1990.  (Wt. 
0.5 lbs.)

P219000 N219000 Grease Seal Retainer, Inner Diameter 2.284”, Outer Diameter 
2.34”, Width .384”, retaining P13294 seal on disc opener hub of 
John Deere drill Models 1560, 1565, 1590, 1690, 1860, 1890, 
1895, 1990. (WT. 0.01 lbs)

P280725 AN280725 Disc Opener shaft with quadrant depth adjustment plate. Use 
with Arm #P282374. Fits John Deere 750 & 1850 grain drills. 
(Wt. 2.8 lbs.)

P282117 A92485
AA73951
AN282117

Disc Opener Depth Shaft with Gauge Wheel Arm. Fits John 
Deere grain drills 1560, 1565, 1590, 1690, 1835, 1860, 1890, 
1895, and 1990.  (WT. 1 lbs)

P282118  AN282118 Disc Opener Spindle, right hand. Fits John Deere grain drills 
1560, 1565, 1590, 1690, 1835, 1860, 1890, 1895, and 1990. 
(Wt. 1 lbs.)

P282119  AN282119 Disc Opener Spindle, Left Hand. Fits John Deere grain drills 
1560, 1565, 1590, 1690, 1835, 1860, 1890, 1895, and 1990.  
(Wt. 1 lbs.)

P282374 AN282374 Gauge Wheel Arm, use with shaft #P280725. Fits  John Deere 
No Till Grain Drill Models 750 & 850. (Wt. 1.87 lbs.)

P41359 AA41359 Gauge Wheel Assembly, 4.5” X 16”, with one Metal Rim, one 
nylon rim and 40mm stem bearing. Fits John Deere Models 
MaxEmergePlus, Pro series, 1530, 1535. (Wt. 20 lbs.)

P66604 AA66604 Gauge Wheel Assembly, 4.5” X 16”, One Metal Rim, One 
Nylon Rim and 40mm double row ball bearing. Fits John Deere 
MaxEmerge™XP, XP Pro; 1530 and 1535 with XP. Also Fit 
Kinze 1993 and later.  (Wt. 19 lbs.)

P98106 Spoked Gauge Wheel Assembly, 4.5” X 16”, with casting 
tri-spoke hub and stamping metal rims. Installed 40mm Stem 
bearing. Fits John Deere Planter Models MaxEmergePlus, Pro 
series, 1530, 1535. （Wt. 18.5 lbs)

P98187 AA86055
AA98187

Spoked Gauge Wheel Assembly, 4.5” X 16”, with casting iron 
spoke and stamping metal rims. Installed 40mm double row ball 
bearing, triple seals. Fit John Deere MaxEmerge™ XP, XP Pro, 
MaxEmerge™ 5, Exact Emerge™; Kinze 1993 and later; White 
8000; John Deere drills 750, 1560, 1590, 1690, 1850, 1860, 
1890, 1895, 1990. (Wt. 18.5 lbs)

P282118

P282119

P282117

P219000

P98106

P98187



http://www.kabatamerican.com
38

KABAT  AMERICAN

P282536

P283636

John Deere Grain Drill Parts

P22884

P84062

ITEM NO. OEM NO. DESCRIPTION

P22884 N22884  
A84050  
GD1086      
852060

Gauge Wheel Tire, 4.5" x 16", With standard profile offset, 
3/8" Deep Lip. Fits John Deere planters with MaxEmerge™, 
MaxEmerge®2, MaxEmerge®Plus, and Pro row units. Fits 
John Deere grain drills 750, 1560, 1850, 1860; 1530, 1535 with 
MaxEmerge®Plus row units; early 1590, 1690, 1835, 1890, 
1895, 1990. Fits Kinze® planters. Fits White planter models 
5100, 5700, 6000, 8000. (Wt. 7.8 lbs.)

P84062 A84062 Gauge Wheel Tire, 4.5” x 16”, with Standard Profile Offset, 7/8” 
Deep Lip. Fits John Deere planters XP, XP Pro row units; 1530, 
1535 with XP. John Deere drills late 1590, 1690, 1835, 1890, 
1895, 1990. Also Fits Kinze® planters.  (Wt. 7.8 lbs.)

4017-5/8 AN213034 Idler Sprocket for #40 Upper Drive Chain, 17 tooth, 5/8" Bore. 
Fit John Deere Grain Drills Model 750, 1560, 1590, 1690, 
1835, 1850, 1860, 1890, 1895, 1990. 2510H applicator  (Wt. 
0.6 lbs.)

P280648 N280648 Pivot bushing, for For John Deere Grain Drill closing wheel 
arm; bolts to top of arm. Fits models 750 s/n 6001 and above; 
1560, 1590, 1690, 1850, 1860, 1895, and 1990.  
ID 0.635""(16mm), OD 0.9985""(25mm), Height 3.38""(86mm).  
(Wt. 0.5 lbs.)

P283636 N283636 Pivot Bushing, Outer/ Upper Bushing for John Deere Grain Drill 
Opener Arm, Fits Models 1560, 1565, 1860, 1890, 1895, 9028. 
ID 1.2565”(32mm), OD 1.627”(41mm),  Height 1.003”(25mm). 
(Wt. 0.1 lbs.)

P282536 N282536 Pivot Pin, Used for Inner/Upper Opener Arm,Fits  John Deere 
Grain Drill Models 1560, 1565, 1860, 1890, 1895, 1590, 1990.  
(Wt. 0.5 lbs.)

P282296 AN282296 Press Wheel Assembly, 1"x10", consists of plastic 
halves,tapered tire and  CG203KRR2C3 bearing, fits John 
Deere Grain Drill models 1535,1590,1860. (Wt. 1.75 lbs.)

P38447 AA38447
AN280996
AN281359

Press Wheel Assembly, 1"x 10",with metal halves, Fits John 
Deere Grain Drills 750 s/n 5282 and above; 1560, 1565, 1590, 
1690, 1850, 1860, 1890, 1895 and 1990. (WT.3.80 lbs)

P214510 AN214510 Torsion Spring, Right Hand, Used on Closing Wheel and Press 
Wheel, Fits John Deere Grain Drill Models 750 and 850. (Wt. 
0.5 lbs.)

P214511 AN214511 Torsion Spring, Left Hand, Used on Closing Wheel and Press 
Wheel, Fits John Deere Grain Drill Models 750 and 850. (Wt. 
0.5 lbs.)

4017-5/8

P280648

P282296P38447

P214510

P214511



KABAT  AMERICAN

http://www.kabatamerican.com
39

John Deere Grain Drill Parts

PART NO. OEM NO. DESCRIPTION
P282218 N282218 Right hand Press Wheel Spring Used on John Deere 

Grain Drill Models 1560, 1860, 1890, 1895, 1590, 
1990. (Wt. 1 lbs.)

P282219 N282219 Left hand Press Wheel Spring Used on John Deere 
Grain Drill Models 1560, 1860, 1890, 1895, 1590, 
1990.  (Wt. 1 lbs.)

P280446 N280446 Right Hand Seed Boot, Fits John Deere No Till Grain 
Drill Models 750, and 1850. (Wt. 6.8 lbs.)

P280447 N280447 Left Hand Seed Boot, Fits John Deere No Till Grain 
Drill Models 750, and 1850. (Wt. 6.8 lbs.)

P282788 N282788 Right Hand Top Seed Boot, for John Deere Grain 
Drill, Fits Models 1560, 1565, 1860. (Wt. 3.7 lbs.)

P282789 N282789 Left Hand Top Seed Boot, For John Deere Grain Drill 
Models 1560, 1565, 1860.  (Wt. 3.7 lbs.)

P283432 N283432 Right Hand Bottom Seed Boot, For John Deere Grain 
Drills Models 1560, 1565, 1860. (Wt. 2.75 lbs.)

P283433 N283433 Left Hand Bottom Seed Boot, For John Deere Grain 
Drills Models 1560, 1565, 1860 . (Wt. 2.85 lbs.)

P284055 N280485
N284055

Tension Spring, for seed boot. Fits John Deere 750 
and 1850 grain drills. (Wt. 0.05 lbs.)

P219982  N219982 Poly Seed Flap, Used on Seed Boots, Fits John 
Deere Grain Drill Models 850,1590,1690,1850,1890,
1895,1990. (Wt. 0.01 lbs.)

P282219

P282218

P280446

P280447

P283432

P283433

P282788

P282789

P284055
P219982



http://www.kabatamerican.com
40

KABAT  AMERICAN

John Deere Combine Cutting Platform  Parts

P218548

P202409

PART NO. OEM NO. DESCRIPTION
P136046 H136046 Auger Cover, fits John Deere 900 Series R&F Cut-

ting Platforms and 50A Series Row Crop Heads.          
WT.( 1.1 Lbs.)

P203897 H203897 Cross Auger inspection hole cover, Fit John 
Deere 900 s/n 695101 & up; 600 series.                
WT.( 0.8 Lbs.)

P162662  H162662 Metal Auger Finger For Augers, Fits John 
Deere Combine Models 200,900,900F,900R.                     
WT. ( 1 Lbs.)

P205318 H205318 Poly retractable auger finger for JD combine models 
200, 900,900F,900R. Poly finger are made from fiber-
glass to disintergrate as they go through the com-
bine without doing damage to the clinder and rotors.     
WT.( 0.1 Lbs.)

P869 AH214869   Poly retractable auger finger for JD combine models 
600F,600R. Poly finger are made from fiberglass 
to disintergrate as they go through the combine 
without doing damage to the clinder and rotors.                 
WT.( 0.1 Lbs.)

P9842299 H175603
1326656              
9842299

Auger Finger Guide Kit, includes 2 plastic halves, bolt 
and lock nut. Fits reels with tear drop bats with plastic 
fingers mounted to rear of steel bat.  WT.( 0.15 Lbs.)

P168206 H168206 Guide for Metal Auger Finger, With metal bushings on 
two mounting holes,Fits John Deere Combine Model 
600 F&R. WT.( 0.3 Lbs.)

P179000 H179000 Guide For Poly Auger Finger, Fits John Deere Com-
bine Models 900 R & F.  WT.( 0.01 Lbs.)

P202409 H202409 Guide for  Poly Auger Finger, Fits John Deere com-
bine models 200, 900,900F,900R.   WT.( 0.3 Lbs.)

P87044  H87044 Plastic Finger Guide,Fits John Deere 200, 900, 
900F and 900R cutting platforms & 50 & 50A 
row crop heads. Used with Holder Plate P87192.                 
WT.( 0.01 Lbs.)

P87192 H87192 Steel Holder Plate for Auger Fingers, Fits John 
Deere 200, 900, 900F and 900R cutting platforms & 
50 & 50A row crop heads. Used with Finger Guide 
# P87044.  WT.( 0.01 Lbs.)

P218547 AH218547 Hold Down Clip, Standard Arch, Adjustable, 1 used 
per feet, Fits John Deere Platforms 600F, 600FD, 
600R, 925D, 930D, 936D. WT.( 0.55 Lbs.)

P218548 AH218548 Hold Down Clip with High Arch, Adjustable, 2 Used 
Per Bar. Fits John Deere Platforms 600F, 600FD, 
600R, 925D, 930D, 936D. WT.( 0.55 Lbs.)

P153022 H153022 Pin for automatic header height control. Fits 
John Deere 600 series F & R cutting platforms.                
WT. ( 0.3 Lbs.)

P203897

P136046

P162662

P205318

P869

P9842299 P168206

P179000

P87192

P87044

P218547

P153022



KABAT  AMERICAN

http://www.kabatamerican.com
41

John Deere Combine Cutting Platform  Parts

P40200KIT

P175727

P153176

P153175

PART NO. OEM NO. DESCRIPTION

P175727  H175727 Pipe Reel , Fits John Deere, Case-IH, New Holland, Agco, and 
Hart Carter Cutting Platforms. Wt.( 0.2 Lbs.)

P40200KIT Plastic Reel Kit, Consists of U-Bolt with Nuts, Cap and Base, For 
John Deere Cutting Platform Reels With Teardrop Base Replaces 
OEM#’s U-Bolt E40203, Cap E40205, Base E40206. WT.( 0.05 
Lbs.)

P153175 AH153175 Poly Finger, For Cutting Platforms, 4-1/2” Tine Spacing, Fits Agco 
Gleaner 300, 400, 500, 700, 800 Case IH 1010, 1020; John Deere 
900 Prior to S/N 685100; Massey 9700, 9750; New Holland 971, 
973. WT.( 0.15 Lbs.)

P153176 AH153176
AH166489

Poly Finger, 6" Tine Spacing, For Cutting Platforms, Fits Agco 
Gleaner 700, 800, 7000, 8000, 8200; Case IH 1010, 1020 (2001 & 
Up), 2010, 2020; Cat F; Lexicon F, Challenger Flex Headers; John 
Deere 900F & R (S/N 685101 & Up), 600F, 600R; Massey 8000, 
8200, 9800, 9850; New Holland 71C, 72C, 73C, & 74C. WT.( 0.2 
Lbs.)

H142298 Slot Screw #8X5/8" For Poly Fingers. WT.( 0.01 Lbs.)

P14007631 14007631 PTO Shaft, with 1-3/8" X 21" Spline Safe Slide Lock Combine 
Yoke, 1-1/8" Hex Clamp Header Yoke, Overall Compressed 
Length 31", Fits John Deere Combine Header, 1 Driveline per 
Header.  WT.( 36 Lbs.)

P14007633 14007633 PTO Shaft, with 1-1/8" Hex Safe Slide Lock Combine Yoke , 
1-1/8" Hex Clamp Header Yoke, Overall Compressed Length 33". 
Fits that Case IH tractors use John Deere Header. WT.( 37 Lbs.)

P14007635 AH220096       
14007635

PTO Shaft, with 1-3/8" X 21 Spline Safe Slide Lock Combine 
Yoke, 1-1/8" Hex Clamp Header Yoke,  Overall Compressed 
Length 35". Fits John Deere Combine Header. 2 Drivelines per 
header.  WT.( 38 Lbs.)

BU240A H145791
H61954
H75386

Forged Guard, double prong fits John Deere platforms Series 
200,900,900F,900R.  WT.( 1.8 Lbs.)

G610 H213398           Forged Guard, 3 Prong, Long-Short-Long. Fits John Deere Series 
600F, 600FD. For flex platforms only. WT.( 2 Lbs.)

G615 H213507  
AH205482   
AH213055 
H213400          

Forged Guard, 3 prong, short-long-short, fits series 600F,600FD . 
For flex platforms only. WT.( 2 Lbs.)

G630 H213405            
H229539

Forged Guard, 3 prong, long-short-long, fits John Deere Models 
600D,600R,925D,930D,936D. For rigid platforms only.  WT.( 2 
Lbs.)

G635 H213508         
H229540

Forged Guard, 3 prong, short-long-short, fits John Deere Models 
600D,600R,925D,930D,936D. For rigid platforms only. WT.( 2 
Lbs.)

P163131 H163131 Sickle Section Knife, Double Tooth, Length 3-1/4”, Width 4”, 1” 
Hole Spacing, 7 serrations/Inch. Fits John Deere Cutting Plat-
forms Series 600F, 600FD, 600R. Zinc plated or gloss black are 
available. WT.( 0.1 Lbs.)

P207930 H207930 Section Knife, 7 teeth per inch,Width 3”,Length 3-9/32”,Hole 
Spacing 2-1/16”. Fits John Deere Models 200,900,900F,900R 
Platforms.   WT.( 0.1 Lbs.)

H142298

P14007631
P14007633
P14007635

G630

G635

BU240A

G610

G615

P163131

P207930



http://www.kabatamerican.com
42

KABAT  AMERICAN

John Deere Corn Head Combine Parts

P233287

PART NO. OEM NO. DESCRIPTION
206K14 JD9415 Ball Bearing, for Upper Snap Roll Shaft, fits John 

Deere Models 40 & 90 Series Corn Heads.  
WT. ( 0.2 Lbs.)

207KRRB12 AN102010  
156816C91      
207KRRB12      
HPS102GPE

Ball Bearing, 1-1/8" Hex Bore. Fits John Deere 
Cornhead 40 Series Cross Auger Drive Shaft,  90 
Series Back Shaft. Fits John Deere 50A series row 
crop heads, used on main drive shafts and cross 
auger. Also used on feeder adapter of main drive 
and auger on Case IH Cornhead 800,900,1000 
series.  WT. ( 0.85 Lbs.)

207KRRB17 JD9420   
HPS103GP3    

Ball Bearing, 1-1/4" Hex Bore. Used on round bal-
ers. Also Fits John Deere Corn Heads and Row 
Crop Heads.   WT. ( 0.9 Lbs.)

P20943 DE20943 Grease Seal, I.D:2.34”, O.D: 2.83”, Width 0.326”. 
Single lip with garter spring. Used on clutch of John 
Deere 600 series corn head.  WT. ( 0.1 Lbs.)

P233287 H233287    
H221814

Upper drive gathering chain sprocket. Fits 
John Deere 600C cornheads prior to 745100.               
WT. ( 4.4 Lbs.)

P85252 H85252 Upper Drive Gathering Chain Sprocket, Made From 
Casting, Hex Bore, 8 Tooth, Heat Treated, Fits John 
Deere Cornhead 40 and 90 Series. WT. ( 3 Lbs.)

P71326 AN71326 Grease Seal, Inner Diameter 1.125”, Outer Diam-
eter 1.503”, Width 0.188”, single lip. Used on Drive 
Sprocket Shaft of John Deere Cornhead 40, 90 
series.  WT. ( 0.01 Lbs.)

P148223 H148223 Ear Saver, Polyurethane, fits Inner Snouts 90 Series 
to Serial No. 676000.  WT. ( 0.05 Lbs.)

P166582 H166582 Ear Saver, Polyurethane, Fits John Deere 90 Series 
Cornheads S/N N676001 & Up, Also fits all 40 Se-
ries Cornheads WT. ( 0.05 Lbs.)

CA555-48-C6E-8 AN102009
176279C91

Gathering chain, pitch size 1.63", total 48 links, with 
attachment C6E every 6 links, fits John Deere Corn-
head 40,90 Series. Also Fits CASE-IH cornheads 
series 800,900,1000-2200.  WT. ( 10 Lbs.)

CA620-48-C6E-8 AH208978 Gathering Chain, Pitch size 1.654", Total 48 Links, 
with attachment C6E every 6 Links. Fits John Deere 
series 600C cornhead.  WT. ( 13.25 Lbs.)

P71326

CA-55548C6E-8

P85252

CA620-48-C6E-8

P166582

P148223

207KRRB12
206K14

P20943207KRRB17



KABAT  AMERICAN

http://www.kabatamerican.com
43

John Deere Corn Head Combine Parts

PART NO. OEM NO. DESCRIPTION

P151211 H146158 Gathering Chain Guide, Cast Iron, Fits All John Deere 90 
Series Cornheads. WT. ( 8 Lbs.)

P101219 AH101219 
176283C91

Lower Idler Gathering Chain Sprocket With Relube 
Bearing; 8-Tooth. Fits John Deere Corn Heads 40 Series 
S/N 66451 And Up; All 90 Series. Also Fits Case-IH Corn 
heads 800,900,1000,2200,2400, 3200,3400 series.  WT. 
( 1.3 Lbs.)

P102448 AN102448 
176283C91

Lower Idler Gathering Chain Sprocket, 8-Tooth, With 
Sealed Bearing, Fits John Deere Corn heads 40 
Series to S/N 466450, 235. 335, 435, and 635 se-
ries. Also fits Case-IH Corn heads 800,900,1000, 
2200,2400,3200,3400 series.  WT. ( 2.15 Lbs.)

P231386 AH231386  
AH221638

Lower idler sprocket for gathering chain. Fits John Deere 
600C cornheads prior to s/n 745100.  WT. ( 3.3 Lbs.)

P144503 H144503 Lower Idler Strap for John Deere Corn Head 40 Series 
S/N 466451 & Up and all 90 Series,  WT. ( 2.55 Lbs.)

P153898 H153898 Lower Idler Support For John Deere 90 Series Corn-
head. WT.   ( 6.03 Lbs.)

P84479 H84479 Lower Idler Support, For John Deere Cornhead, Fits all 
40 Series. WT. ( 4 Lbs.)

P08H4219 08H4219 Cap Screw Idler Tension Bolt, 5/8”-11UNC thread, thread 
length 4”, overall length 10.5”, for Tension Spring, Fits 
John Deere 40-90 Series Cornhead. WT. ( 1 Lbs.)

P104096 N104096 Lower Stop Idler Tension Bushing, Zinc Plated, Fits John 
Deere 40,90,600C Series Cornhead. WT. ( 0.5 Lbs.)

P61703 N61703 Idler Tension Spring,Fits John Deere Corn head 
40,90,600C Series,  WT. ( 0.5 Lbs.)

P102006 AN102006 Grease Seal, Inner Diameter 2”, Outer Diameter 2.754“, 
Width 0.3125“, single lip, used on Input Spur Gear Box 
of John Deere Cornhead 40,90 Series   WT. ( 0.1 Lbs.)

P14007631 14007631 PTO Shaft, with 1-3/8" X 21" Spline Safe Slide Lock 
Combine Yoke, 1-1/8" Hex Clamp Header Yoke, Over-
all Compressed Length 31", Fits John Deere Combine 
Header, 1 Driveline per Header.  WT. ( 36 Lbs.)

P14007633 14007633 PTO Shaft, with 1-1/8" Hex Safe Slide Lock Combine 
Yoke , 1-1/8" Hex Clamp Header Yoke, Overall Com-
pressed Length 33". Fits that Case IH tractors use John 
Deere Header.  WT. ( 37 Lbs.)

P14007635 AH220096  
14007635

PTO Shaft, with 1-3/8" X 21 Spline Safe Slide Lock 
Combine Yoke, 1-1/8" Hex Clamp Header Yoke,  Over-
all Compressed Length 35". Fits John Deere Combine 
Header. 2 Drivelines per header.  WT. ( 38 Lbs.)

P231386

P84479

P153898

P101219

P102448

P151211

P144503

P08H4219

P61703

P104096

P14007631  
P14007633 
P14007635

P102006



http://www.kabatamerican.com
44

KABAT  AMERICAN

John Deere Corn Head Combine Parts

P150139L

P150138R

P143881

P104091L

P104090R

P150691L

P150690R

P148321L

P148320R

P102266

P135290

P20072

PART NO. OEM NO. DESCRIPTION
P104090R H10409R Snapping Roll,Tapered Flute, Hardfaced 

for Extra Long Wear, Right Hand, Bolt Hole 
Thread 1/2"-13UNC. Fits 40 Series John 
Deere Cornhead, New, Not Rebuilt. WT. ( 20 
Lbs.)

P104091L H104091 Snapping Roll, Tapered Flute, Hardfaced for 
Extra Long Wear, Left hand, Fits JD 40 Serie 
Cornhead.  New, not rebuilt. WT. ( 20 Lbs.)

P148320R H148320 Snapping Roll, right hand, fits John Deere 90 
Series Corn Head. WT. ( 8.9 Lbs.)

P148321L H148321 Snapping Roll, left hand, fits John Deere 90 
Series Corn Head.  WT. ( 8.9 Lbs.)

P150138R H150138R Snapping Roll, Straight Flute, Hardfaced for 
Extra Long Wear, Right Hand Side, Bolt Hole 
Thread M12-6H, New not rebuilt. Fits John 
Deere  40 & 90 Series Cornhead. WT. ( 22.5 
Lbs.)

P150139L H150139L Snapping Roll, Straight Flute, Hardfaced 
for Extra Long Wear, Left Hand Side, Bolt 
Hole Thread M12-6H, New not rebuilt. Fits 
John Deere  40 & 90 Series Cornhead. WT. ( 
22.25 Lbs.)

P150690R H150690 Snapping Roll Knife, Right Hand, Hardfaced, 
For John Deere 90 Series Corn HeadsWT. ( 
8.05 Lbs.)

P150691L H150691 Snapping Roll Knife, Left Hand, Hardfaced, 
For John Deere 90 Series Corn Heads. WT. 
( 8.05 Lbs.)

P102266 AN102266 Grease Seal, Inner Diameter 1.15 ”, Outer 
Diameter 2.06“ , Width 0.62“, triple lips with 
garter spring, used on John Deere 40,90 Se-
ries Combine Snap Roll Unit. WT. ( 0.1 Lbs.)

P20072 DE20072 Grease Seal, I.D: 1.193”, O.D:2.00”, Width 
0.358”. Single lip with garter spring. used on 
Snapping rollers of John Deere 600 Series 
corn head.   WT. ( 0.05 Lbs.)

P143881 AH143881  
AN102001

Snapping Roll gear Shaft, Fits 40-90 Series 
John Deere Cornheaders.        WT. ( 7.1 
Lbs.)

P135290 H132290     
H84480

Snout Point, Metal Steel Shoe fits Narrow 
or Wide Center on all John Deere 40 Series 
Cornhead. WT. ( 1.55 Lbs.)



KABAT  AMERICAN

http://www.kabatamerican.com
45

John Deere Row Crop Head Parts

P10091

P10092

206KRR4

206KRR6

206KRRB6

207KRRB12

W208KRRB6

207KRRB17

PART NO. OEM NO. DESCRIPTION

P136046 H136046 Auger Cover, fits John Deere 900 Series R&F Cutting 
Platforms and 50A Series Row Crop Heads.  (Wt.  1.1 
Lbs.)

P162662 H162662 Metal Auger Finger For Augers, Fits John Deere Com-
bine Models 200,900,900F,900R.(Wt.  1 Lbs.)

P205318 H205318 Poly retractable auger finger for JD combine models 
200, 900,900F,900R. Poly finger are made from fiber-
glass to disintergrate as they go through the combine 
without doing damage to the clinder and rotors. (Wt.  
0.1 Lbs.)

P10091 JD10091 
206KRR14     

Drive Bearing for Gathering Chain,1-1/4" Round 
Bore. Fits John Deere 50A Series Row Crop Heads. 4 
Bearings Per Row. (Wt.  0.55 Lbs.)

P10092 JD10092        
CSA206-18

Drive Bearing for Rotating Knife, 1-1/8" Round Bore. 
Fits John Deere 50A Series Row Crop Heads. Uses 
2 Bearings Per Row.(no Eccentric Collar). (Wt.  0.55 
Lbs.)

206KRR4  JD9238
88506AR      

Ball Bearing ,round bore 30mm,Fits JD 50 Sereis row 
crop heads. (Wt. 0.30 Lbs)

206KRR6 206KRR6                
HPC1000GP  
16KB206N        
1AH06-1          
JD9338

Ball Bearing, 1" Hex Bore, Outer Diameter: 2.44", Inner 
ring height: 0.94" Outer Ring height: 0.63".  2 used 
per row on right hand gathering chain drive. Fits John 
Deere 50 & 50A series row crop bean head. (Wt.  0.55 
Lbs.)

206KRRB6 JD9313        Ball Bearing, 1" Hex Bore, Outer Diameter: 2.44", Iner 
ring height: 0.94" Outer Ring height: 0.63" , fits John 
Deere Bean Head 50 & 50A unit drive shaft except 
854A &1253A series.  (Wt.  0.34 Lbs.)

207KRRB12 AN102010    
156816C91

Ball Bearing, 1-1/8" Hex Bore. Fits John Deere Corn-
head 40 Series Cross Auger Drive Shaft,  90 Series 
Back Shaft. Fits John Deere 50A series row crop 
heads, used on main drive shafts and cross auger. 
Also used on feeder adapter of main drive and auger 
on Case IH Cornhead 800,900,1000 series.  (Wt.  0.85 
Lbs.)

207KRRB17 JD9420    
HPS103GP3

Ball Bearing, 1-1/4” Hex Bore. Used on round bal-
ers. Also Fits John Deere Corn Heads and Row Crop 
Heads. (Wt.  0.9 Lbs.)

W208KRRB6 AE37204
HPS106GP

Ball Bearing,Hex Bore 1-3/8" , Fits John Deere 50A 
series row crop heads. (Wt. 1.4 Lbs.)

P136046

P162662

P205318



http://www.kabatamerican.com
46

KABAT  AMERICAN

P14393

P101668

P109784

John Deere Row Crop Head Parts

P101446

P109786

P101340

P101339

PART NO. OEM NO. DESCRIPTION
P101446 H101446 Narrow Bearing Housing, runs with 1" Hex 

Shaft, Fits John Deere Row Crop Heads 453-A, 
454-A, 653-A, 654-A, 853-A.  (Wt.  5.75 Lbs.)

P109786 H109786 Wide Bearing Housing, runs with 1-1/8" Hex 
Shaft. Fits John Deere Row Crop Heads 854-A 
and 1253.  (Wt.  6 Lbs.)

P101668 H101668 Bevel Gear, 18 Tooth, 1-1/4"Z19 Spline Bore. 
Fits John Deere 50-50A Row-Crop Bean 
Heads.Use 2 Per Row. (Wt.  1.75 Lbs.)

P109784 H109784 Beveled Gear, 18 Tooth, JD 50A Series Row 
Crop Bean Heads, Heat Treated, 2 Per Row.  
(Wt.  1.85 Lbs.)

P14393 N14393 Bevel Gear, 18 Tooth with Hex Bore. Fits John 
Deere 50-50A Series Row Crop Bean Head, 
Use 4pcs Per Row. (Wt.  1.85 Lbs.)

P104862 AH104862 Clip, used on center gatherer shield for John 
Deere Row Crop Heads, Front and Rear.   (Wt.  
0.1 Lbs.)

P101339 AH101339 Drive Sprocket, 11 teeth, 1-1/4"Z19 spline bore. 
Fits John Deere bean head model 50A Serie. 
1 used per row on right gathering chain.  (Wt.  
1.75 Lbs.)

P101340 AH101340 Drive Sprocket, double row 11 & 12 teeth, 
1-1/4"Z19 spline bore. For John Deere Bean 
Head 50A except 854A & 1253A. 1 Per Row 
On Left Gathering Chain. (Wt.  2.85 Lbs.)

P168206 H168206 Guide for Metal Auger Finger, With metal bush-
ings on two mounting holes,Fits John Deere 
Combine Model 600 F&R. (Wt.  0.3 Lbs.)

P179000 H179000 Guide For Poly Auger Finger, Fits John Deere 
Combine Models 900 R & F.  (Wt.  0.01 Lbs.)

P202409 H202409 Guide for  Poly Auger Finger, Fits John Deere 
combine models 200, 900,900F,900R.  (Wt.  
0.3 Lbs.)

P87044 H87044 Plastic Finger Guide,Fits John Deere 200, 
900, 900F and 900R cutting platforms & 50 & 
50A row crop heads. Used with Holder Plate 
P87192. (Wt.  0.01 Lbs.)

P87192 H87192 Steel Holder Plate for Auger Fingers, Fits John 
Deere 200, 900, 900F and 900R cutting plat-
forms & 50 & 50A row crop heads. Used with 
Finger Guide # P87044.  (Wt.  0.01 Lbs.)

P104862

P168206

P179000

P202409
P87044

P87192



KABAT  AMERICAN

http://www.kabatamerican.com
47

John Deere Row Crop Head Parts

P117552

601R74L

P117558

P149665

P149666

P143503S

PART NO. OEM NO. DESCRIPTION

P101172 AH101172 Gathering Chain With Belt Riveted on, pitch size 1-1/8", 
total 64 links, with attachment WK2 every 4 links, Fits 
John Deere Row Crop Bean Head Model 50A.  (Wt.  14.2 
Lbs.)

P149665 H149665 Shaft, Right Hand, 1-1/4"Z19 Spline,For Gathering Chain 
Drive on John Deere Row Crop Bean Head , Model 50A 
S/N 655100 and Above. (Wt.  1.75 Lbs.)

P149666 H149666 Shaft, Left Hand, 1-1/4"Z19 Spline,For Gathering Chain 
Drive on John Deere Row Crop Bean Head , Model 50A 
S/N 655100 and Above. (Wt.  2.1 Lbs.)

P103303 AH103303 Idler Sprocket, 11 teeth. Fits John Deere 50A series Bean 
Head. 2 Used per row on gathering chain. (Wt.  1.3 Lbs.)

P27909 AE27909 Idler Sprocket, 15 teeth, with bearing 203KRR2. Fits 
John Deere 50 & 50A bean head. 2 Used per row on 
rotating knife. (Wt.  1 Lbs.)

50APOLYSSLH Poly Skid Shoe, Left Hand, with Countersunk Holes. 
Fits John Deere Models 50, 50A Row Crop Heads. Ultra 
high molecular weight polyethylene (UHMWPE, UHMW) 
Material, high abrasion, impact resistance, won't rust or 
corrode. (Wt.  1 Lbs.)

50APOLYSSRH Poly Skid Shoe, Right Hand, with Countersunk Holes. 
Fits John Deere Models 50, 50A Row Crop Heads. Ultra 
high molecular weight polyethylene (UHMWPE, UHMW) 
Material, high abrasion, impact resistance, won't rust or 
corrode. (Wt.  1.1 Lbs.)

60-1R74L Drive Chain for rotating knives,  #60-1R, Pitch Size 3/4", 
74 links, including one Connecting Link. Fits John Deere 
Bean Head Models 50 & 50A. (Wt.  5 Lbs.)

P147109 H147109 Rotating knife section, fits John Deere 50 & 50A series 
Row-Crop Heads, used 6 pieces per row.  (Wt.  0.45 
Lbs.)

P143503S Rotating Knife Shaft, 1-1/8" Z17 Spline, 3/4"-16UNF Fine 
Thread. Mounts to hub on rotating star. Fits John Deere 
50A Series Row Crop Head. (Wt.  1.7 Lbs.)

P135290 H132290  
H84480

Snout Point, Metal Steel Shoe fits Narrow or Wide Center 
on all John Deere 40 Series Cornhead. (Wt.  1.55 Lbs.)

P117552 AH117552 Sprockets, 12 teeth with flange spacer, 1-1/8"Z17 Spline 
Bore. Fits John Deere 50 & 50A Bean Head. (Wt.  1.2 
Lbs.)

P117558 AH117558 Sprocket, 12 teeth,1-1/8"Z17 Spline Bore. Fits John 
Deere 50 & 50A Bean Head. (Wt.  1.2 Lbs.)

P139066 H139066   
H101607

Stationary Knife, with Hard Faced Coating, Fits John 
Deere 50-50A Row Crop Bean Heads 1 Per Row. (Wt.  
2.85 Lbs.)

P101172

P103303

P27909

50APOLYSSLH

50APOLYSSRH

P135290

P139066

P147109



http://www.kabatamerican.com
48

KABAT  AMERICAN

P188675

34x12SQH

John Deere Do All and Finishing Harrow parts

FD211RJA

P62509

P236428

P234484P169489

PK1021

P233669

PART NO. OEM NO. DESCRIPTION

P169489 N169489 Bushing,Heat Treated, used in P188675 Link, ID 
0.5045”(13mm) OD 0.748” (19mm)  Height 0.373” 
(9mm). (WT.  0.1 LBS.)

P234484 N234484 Bushing, fits inside split bushing on shank rolled 
eye. Fits 980 s/n 5160 and above, 985 s/n 444 and 
above, 2200, 2210 field cultivators. 726 s/n 700 and 
above, 2310 mulch finishers. 856 row crop cultivator. 
730 s/n 491 and above air drill. ID 0.6345”(16mm) OD 
0.981”(25mm) Height 2.022”(51mm).  (WT.  0.1 LBS.)

P236428 N236427    
N236428

Down pressure spring, Length  12",  I.D.  2-1/4", For use 
with bolt-on shank. Fits John Deere 980, 985, 2200 and 
2210 field cultivators; 726 mulch finisher; 730 air drill. 
(WT.  5.5 LBS.)

P236221 N236221 Finishing Strap link, Made From Spring Steel, For John 
Deere Do All Models 980, 988, & 2210. (WT.  1 LBS.)

FD211RJA DHU1-
15/16R211
GZ379381
ST3012A

Flanged Disc Bearing Unit,relube, 1-15/16" round bore. 
Fits select models of Bush Hog, Do-All, John Deere, In-
ternational Harvester, and Noble discs. For applications 
that require a locking collar.  (WT.  6.1 LBS.)

P1101 GZ180131     
62547C1

Harrow Link JD & IH Do-All. (WT.  2.1 LBS.)

P62509 62509C1 Hub With Cups, Inner Cup LM29710, Outer Cup 
LM67010, For Wilrich, John Deere And Case IH Do-all 
Transport Wheels. (WT.  3 LBS.)

34X12SQH Harrow Spike Tooth, 3/4" Square, 12" Length, Fits John 
Deere, Case IH, Wilrich, and Noble Do-Alls. (WT.  1.8 
LBS.)

P233669 N233669 Split bushing, For Models with Bolt On Shank, Fits JD 
980 s/n 5160 and above, 985 s/n 444 and above, 2200, 
2210 field cultivators. 2310 mulch finisher; 856 row crop 
cultivator. (WT.  0.01 LBS.)

P188675 N188675 Finishing Strap Link, Made from Spring Steel, For John 
Deere Models 960, 980, 988, 2210. (WT.  1.25 LBS.)

P1027 GZ180111
62555

V-Bolt, 3/8” thread, with Nuts for Do All.(WT.0.15 LBS).

PK1021 Wheel Bearing Kit, consists of Inner Cup L44610, Inner 
Bearing L44643, Outer Cup L44610, Outer Bearing 
L44643, Seal 12437, no Dust Cap. For John Deere 850 
Series Cultivator Hub. (WT.  1 LBS.)

P236221

P1101

P1027



KABAT  AMERICAN

http://www.kabatamerican.com
49

Case IH Planter and Grain Drill Parts

P8IHCD

P8519

P6000

5203KYY2

P22325

PART NO. OEM NO. DESCRIPTION

5203KYY2 5203VVAN  
GA5641     
AN212132     
324461A1

Double Row Ball Bearing, O.D. 40mm, with double lips seals 
on both sides. Used on closing wheel or gauge wheel.  (WT. 
0.45 Lbs.)

P39968 GA6434          
AA39968        
7074.N               
854262         
87695406

Closing wheel assembly, 1” x 12”, consists of 40mm double 
row ball bearing, Nylon plastic halves and rubber tire.  Fits 
Kinze®1993 and newer. John Deere MaxEmergePlus, Pro, 
XP and XP Pro; 1530 and 1535. Monosem Plus. White 6000 
and 8000 planters. Case-IH grain drills; SDX30 and SDX40 air 
drills.  (WT. 5.94 Lbs.)

P87610678 87610678 Press wheel assembly, 6.5” X 12”, with 5/8” ID bearing, two 
nylon rims. Fit Case-IH 800, 900, 950, 955, 1200 series plant-
ers; 5400, 5500 Soybean Special. Also Fits John Deere Plant-
er Maxmerge XP, 1700 Plus.  (WT. 14.7 Lbs.)

UHMW16-1 AA39968
7074.N
854262
GA6434
87695406

Spike Closing Wheel Assembly, consists of UHMWPE Poly 
Spike Ring (16 teeth), two Nylon Rims, 40mm double row ball 
bearing & hardware. Fits Kinze®1993 and newer. John Deere 
MaxEmergePlus, Pro, XP and XP Pro; 1530 and 1535. Mono-
sem Plus. White 6000 and 8000 planters. Case-IH grain drills; 
SDX30 and SDX40 air drills.   (WT. 3.7 Lbs.)

P22325 A22325       
GD1085    
87461340  
017632

Solid Rubber Ring, 1X12”, for closing wheels. Fits John 
Deere, Kinze®, Case-IH, and White planters. Also fits John 
Deere, Case-IH, Tye, United Farm Tools, Crustbuster, Great 
Plains, M & W, and Marliss grain drills. (WT. 1 Lbs.)

UHMW16-R Closing Wheel Spike Ring, 16 teeth, made from Ultra High 
Molecular Weight Poly Plastic (UHMWPE), with high wear 
resistance, high anti-impact strength and high anti-corrosion. 
Prolongs life several times than traditional rubber one. Fit 
John Deere or Kinze Closing Wheel Nylon Rims. (WT. 1.10 
Lbs.)

P8519 854159     
2571-153

Bubble Coulter blade, 16” diameter, 18 bubbles, 4 X 1/2” bolt 
holes on 5-1/4” circle, 4” center hole, thickness 4mm.
For Kinze®; White 5100, 5700, 6000, 8000, 9000 planters;
Ausherman, Yetter,  John Deere 1570 coulter cart;
Case-IH 5400; Kuhn Krause, Great Plains drills. (WT. 7.6 Lbs.)

P6000 Notched Covering Disc Assembly, 8” diameter, pair With 
P6001, fits John Deere, Monosem, and Case IH Planters. 
(WT. 2.5 Lbs.)

P6001 Notched Covering Disc Assembly, 8” diameter, pair With 
P6000 fits John Deere, Monosem, and Case IH Planters. (WT. 
2.5 Lbs.)

P8IHCD 1277891C91 8” Covering disc assembly, fits Case-IH 800 series planters 
with covering disc held on with hex bolt and nut; all Case-IH 
900, 950, 955 and 1200 series planters. Also fits 5400 and 
5500 Case-IH Soybean Special. Fits New Holland SP280, 
SP380, SP480 and SP580 planters. (WT. 1.75 Lbs.)

P39968

P87610678

UHMW16-1

UHMW16-R

P6001



http://www.kabatamerican.com
50

KABAT  AMERICAN

PART NO. OEM NO. DESCRIPTION

P140IHL IH90850C92 Disc Opener Assembly, 14”X3.5mm, left hand, Taper on Same 
Side as Hub, with 52mm double row heavy duty Bearing. Fit Case 
IH 5400, and 5500 Soybean Special, 800, 900, 950, 955 Series 
Planters.  (Wt. 5 Lbs.)

P140IHR IH90850C92 Disc Opener Assembly, 14”X3.5mm, Right hand, Taper on op-
posite Side as Hub, with 52mm double row heavy duty Bearing. 
Fit Case IH 5400, and 5500 Soybean Special, 800, 900, 950, 955 
Series Planters.  (Wt. 5 Lbs.)

P22836 Metal Dust Cap for Covering Disc Assembly P8IHCD, P6000, 
P6001, Disc Opener Assembly P140IHL, P140IHR.(Wt. 0.01 Lbs.)

P87604747 87604747 Spoke Gauge Wheel Assembly, 4.5” X 16”, with reduced inner 
profile rubber tire, tri-spoke rim and 40mm double row ball bearing 
(5/8” bore).  Fit CASE-IH planter and air seeder drill.  (WT. 18 
Lbs.)

885152 AA35741    
128558C91 
GA2022

Stem Bearing, with cross Hole, for closing wheel or gauge wheel 
(with spacer#P25915). Fits John Deere 7000-7100, 800-900-950-
955 Series Planters, 5400 & 5500 Soybean Special, Early Model 
1200 Series.  (WT. 0.41 Lbs.)

P25915 A25915
GB0118
133966C1
7081.1 

Stem Bearing Spacer,Use with 885152 and 885154B stem bear-
ing on planter gauge wheels.(WT. 0.30 Lbs.)

Case IH Planter and Grain Drill Parts

P25915

P140IHL

P140IHR

P22836

P87604747

885152



KABAT  AMERICAN

http://www.kabatamerican.com
51

Case IH Disc Harrow Parts

P468584

P481611

P4167

13678SD
LM501334SD

PART NO. OEM NO. DESCRIPTION
P134908 1344908C1 Bumper Washer, 1-1/2" Round Hole Fits Case IH Disc Har-

row 3900 Series, 3800, 3850, RMX340  (WT.  7.3 Lbs.)
P468584 468584R2 Bumper Washer, Fits 1-1/8” Square Axle, For Case IH Disc 

Harrow Models 475, 480, 490, 496.  (WT.  7.95 Lbs.)
13678SD Double Taper Roller Bearing Kit, 1-1/8” Square Bore, Outside 

Diameter 2.717” (69.012 mm) With 2 Cups & 2 Seals. Fits 
Kewanee Disc Models 100,200,300 and Case-IH Disc Model 
48.  (WT.  2.5 Lbs.)

LM501334SD AB12603   
JD8327      
B31312

Double Taper Roller Bearing Kit, 1-1/4” Square bore, Outside 
Diameter 2.891” (73.431 mm)  with 2 cups and 2 seals. Fits 
John Deere Discs AWR,BF,BFT,BWA,BWS. Also fits Case IH 
and Kewanee discs.  (WT.  2.8 Lbs.)

22X5MMF-
C118S

Disc Blade, Diameter: 22" Thickness: 0.197", Hole 1-1/8" 
Square, Smooth Spherical Edge, Flat Center, for Case IH 
Discs (WT.  22 Lbs.)

P4167 PA4167 End Washer, For 1-1/8” Square Axle,Fits Case IH Disc Har-
rows Models 132, 150, 330, 370, 470, 475, 480, 485, 490 and 
610. (WT.  2.09 Lbs.)

P481611 481611R1 End Washer, For 1-1/8” Square Axle,Fits Case IH Disc Har-
row Models 132, 150, 330, 350, 370, 470, 475, 480, 485, 490 
And 610.  (WT.  2.49 Lbs.)

FD209RA DHU491A 
ST491A   
SN3215    

Flanged Disc Bearing Unit, 1-3/4" round bore. Fits Case-IH 
discs 37, 46, 48, 60, 61, 120, 122, 130, 132, 150, 330, 340, 
350, 370, 470, 475, 480, 485, 490, 496, 610, 760, 3800, 
3850, 3900, 3950, RMX340 rolling baskets on 330 True 
Tandem built 2008 and before.  Conser-Till 60, 6000, 6500. 
Case-IH combo mulch finishers 4200, 4400, 4450. Also fits 
Sunflower Land Finisher and Remlinger.  (WT.  3.05 Lbs.)

FD209RB DHU1-
1/2R209
ST491B
822-208C
DRB3826

Flanged Disc Bearing Unit, relube , 1-1/2” round bore. Fits 
Glencoe 7200; 7400 s/n 3988 & above. Great Plains Turbo-
Chopper, late Turbo-Till, Ultra-Till; Turbo Chisels TC5109-
TC5323. Hesston 2540. Krause 4800. Kent Mulch-o-vator. 
Landoll Soil Master III, Weatherproofer. Also fits select mod-
els of Ford, McFarlane, and Salford. (WT. 3.45 Lbs)

FD209RK 84151226
DHU1-
1/4S209
822-209C

Flanged Disc Bearing Unit, relube, 1-1/4" square bore. Fits 
rolling baskets on Case-IH 330 True Tandem discs built 2009 
and after. Also fits select models of FlexKing, Great Plains, 
Kent, Krause, Summers, Sunflower, and Quinstar discs.  (WT. 
3.43 Lbs.)

FD211RJA DHU1-
15/16R211
ST3012A

Flanged Disc Bearing Unit,relube, 1-15/16” round bore,with 
locking collar. Fits select models of Bush Hog, Do-All, John 
Deere, International Harvester, and Noble discs. (WT.  6.1 
Lbs.)

FD209K53-
1.25SQ

84151226
DHU1-
1/4S209
822-209C

Flanged Disc Bearing Unit,1-1/4” square bore.6 lips seal on 
both sides, Maintenance Free. Fits rolling baskets on Case-IH 
330 True Tandem discs built 2009 and after. Also fits select 
models of FlexKing, Great Plains, Kent, Krause, Summers, 
Sunflower, and Quinstar discs. (WT. 3.7 Lbs.)

P129532 129532C2 Disc Bearing Standard, Fits Case IH Disc Models 490, 496, 
3800, 3900, 3950, RMX340. (WT. 15.3 Lbs.) 

P129753 129753 Bearing Guard, used on Flanged Disc Bearing Unit, Fits Case 
IH Disc Models 500, 501, 770, 7780. (WT. 1.5 Lbs.)

P134908

FD209RA

FD209RK

FD211RJA

22X5MMFC118S

FD209RB

FD209K53-1.5RD

FD209K53-1.25SQ

P129532

P129753



http://www.kabatamerican.com
52

KABAT  AMERICAN

P139918

Case IH Disc Harrow Parts

P478375

PART NO. OEM NO. DESCRIPTION

P139918 139918C1 Full Spool, for 1-1/2”  Round Axle and 9” Spacing, Fits Case IH Disc 
Models 3900 Series, 475, 496, 3800, 3950, RMX340. (WT.  9.5 Lbs.)

P481416 481416R1 Full Spool, for 1-1/8" Square Axle and 7-1/2" Spacing , Both 
ends Machined , Fits Case IH Disc Models 46, 48, 60, 61, 120, 
122, 130 132, 150, 330, 350, 370, 470, 475, 480 485, 490 & 496,  
(WT.  8.16 Lbs.)

P481417 481417R1 Full Spool, for 1-1/8" Square Axle and 9" Spacing , Machined 
on both ends, Fits Case IH Disc Models 37, 46, 48, 60, 61,120, 
122,130, 132, 150, 330, 350, 370, 470, 475, 480, 485, 490 & 496. 
(WT.  10.26 Lbs.)

P101189 101189C1 1-5/8" Half Spool, Round hole for 1-1/8" Axle and 7-1/2" Spacing 
(new style), machined Bearing surface, Fits Case IH Disc models 
350, 370, 470,475, 485, 490, 496, 3800 & 3900 rmx340. (WT.  3.01 
Lbs.)

P101190 101190C1 3” Half Spool, for 1-1/8”SQ or 1-1/2”RD Axle and 9” spacing, round 
hole (new style), Fits Case IH Disc models 132, 350, 475,485, 490, 
496, 3800 & 3900 RMX340. Bearing Surface is Machined. (WT.  
3.45 Lbs.)

P101191 101191C1 4” Half Spool, for 1-1/8”SQ or 1-1/2”RD Axle, 7-1/2” or 9” Spacing, 
Round Hole (new style), Fits Case IH Disc models 132, 350, 370, 
470, 475, 485, 490, 496, 3600 & 3900 RMX340. Bearing surface is 
machined. (WT.  3.85 Lbs.)

P472591 472591R3 4" Half Spool, For 1-1/8" Square Axle and 7-1/2" or 9" Spacing, 
Square Hole, Machined Bearing Surface, for Case IH Disc Harrow 
Models 37, 46, 48, 60, 61, 76, 120, 122, 130, 132, 150, 330, 350, 
370, 470, 480, 610 & 760. (WT.  4.27 Lbs.)

P472592 472592R3 1-5/8" Half Spool, For 1-1/8" Square Axle and 7-1/2" Spacing, 
Square Hole, Machined Bearing Surface, For Case IH Disc Models 
37, 46, 48, 60, 61, 76, 120, 122, 130, 132, 150, 330, 350, 370, 470, 
480, 610, AND 760. (WT.  2.64 Lbs.)

P472593 472593R3 3" Half Spool, for 1-1/8" Square Axle and 9" Spacing, Square Hole, 
Machined Bearing Surface, Fits Case IH Disc Models  37, 46, 48, 
60, 61, 76, 120, 122, 130, 132, 150, 330, 350, 370, 470, 480, 610 & 
780.  (WT.  3.7 Lbs.)

Q888-0 Hub and Spindle Kit, Consists of Hub Q888, Spindle P280720, Inner 
Cup JL69310, Inner Cone Bearing JL69349, Outer Cup LM67010, 
Outer Cone Bearing LM67048, Seal 16284, Dust Cap 909905 and 
cotter Pin 60031. 6 bolt holes on 6.0” circle. 3560 lb. capacity. Fit 
White discs 265, 273, 274, 281; also late model 271 and 272 that 
use external seal and wear sleeve. Glencoe Soil Saver built 1975 
and after; Yield Builder. DMI, Case-IH, New Holland field cultivators. 
(WT.  17 Lbs.)

909917 For Case-IH discs 470, 475, 480, 485, 490, 496, 501, 610, 760, 770 
with P465493.  (WT.  0.1 Lbs.)

P16289 CR16289 Grease Seal, Inner Diameter 1.625”, Outer Diameter 2.562”, Width 
0.438”, single lip , used on Spindle #P280720 and Hub# Q888.  
(WT.0.01 Lbs)

P1978726 1978726C1 Spindle, Fits P606468 Hub.  (WT.  8 Lbs.)

P478375 478375R1 Spindle, 1-3/4" Diameter, For P465493 Hub, For Case IH Disc Har-
rows, Fits Models 470, 475, 480, 485, 496, 501, 610, 760, 770. (WT.  
5.6 Lbs.)

P465493 465493R2 Hub With Cups,  with Inner Cup LM48510, Outer Cup M12610, 6 
Bolt Holes, For Case IH Disc Harrows, Fits Models 470, 475, 480, 
485, 496, 501, 610, 760, 770. (WT.  12 Lbs.)

P481416

P481417

P101189

P101190

P101191
P472591

P472593

P472592

Q888-0

909917

P1978726

P465493

P16289



KABAT  AMERICAN

http://www.kabatamerican.com
53

P121119

P195916

P195939A1

P195938A1

P121120

P121118

Case IH Disc Harrow Parts

P63881KIT

P123096

34X12SQH

P652383

P652412

P112410

PART NO. OEM NO. DESCRIPTION

P606468 606468R21 Hub With Cups, With Inner Cup LM501310, Outer Cup 
LM67010, 6 Bolt Holes, For Case IH Disc Harrows, Fits Models 
485, 496, 501, 760, 770, 3800, 3850, 3900, 3950, For Case-IH 
field cultivator transport wheels on 45 (over 13 ft.), 4300, 4500, 
4700, 4900. Caster wheels on 4300., For Case IH Soil Finishers, 
Fits Models 4200, 4400, 4450, And For Case IH Ripper Trans-
port Wheels on 690m MRX690.  (WT.  11.25 Lbs.)

Q633 280501 Hubs with Inner Cup LM11910, Outer Cup LM67010, 4 bolt Hole 
on  5" circle. 1500 lb. capacity, 633 series. For straight spring 
loaded coulters on DMI, Case-IH  Fertilizer coulters on Blu-Jet, 
Case-IH, DMI, Progressive/Kongskilde. Coulters on Blu-Jet grain 
drill coulter cart. (WT.  9.24 Lbs.)

Q888 280551 Hub With Cups, With Inner Cup JL69310, Outer Cup LM67010 
, 6 bolt holes on 6.0” circle. 3560 lb. capacity, 888 series. Used 
on White discs 265, 273, 274, 281; also late model 271 and 272 
that use external seal and wear sleeve. Glencoe Soil Saver built 
1975 and after; Yield Builder. DMI, Case-IH, New Holland field 
cultivators.  (WT.  10 Lbs.)

P121119 121119C92 Left Hand Scraper, Spring Steel, Fits Case IH Disc Harrow Mod-
els: 475,490,496,3900.  (WT.  2.8 Lbs.)

P121120 121120C92 Right hand Scraper , Spring Steel, Fits Case IH Disc Harrows-
Models 475, 490, 496, 3900. (WT.  2.8 Lbs.)

P195938 195938A1 Left Hand Scraper, Heavy Duty, For Case IH Disc Models 496-
3900, RMX340. (WT.  4.45 Lbs.)

P195939 195939A1 Right Hand Scraper, Heavy Duty, For Case IH Disc Models 496-
3900, RMX 340. (WT.  4.45 Lbs.)

P121118 121118C1 Blade Only, for Scraper, Made of Spring Steel, Fits Case IH 
Disc Harrow Models 475, 485, 490, 496,760, 3800, 3900, 3950, 
RMX340. (WT.  0.9 Lbs.)

P195916 195916A2 Heavy Duty Scraper For Case IH Disc Models 3900 Series RMX, 
340. (WT.  2 Lbs.)

P112410 112410C1 Sleeve, 8-3/4” Length, For 1-1/8” Square Axle and 9” Spacing. 
Heavy Duty Material, Fits Case IH Disc Models 470, 475, 480, 
485, 495. (WT.  1.3 Lbs.)

P472594 472494R1 Sleeve, 6-1/16" Length, for 1-1/8" Square Axe and 9 Spacing, fits 
Case IH Disc Harrow Models 470-480. (WT.  0.6 Lbs.)

P652383 652383R1 Sleeve, 5-1/16" Length,For 1-1/8" Square Axle and 7-1/2" Spac-
ing, Fits Case IH Disc Models 470 & 480.  (WT.  0.38 Lbs.)

P652412 652412R1 Sleeve, 7-1/4" Length, for 1-1/8" Square Axles and 7-1/2" spac-
ing, Fits Case IH Disc Harrow Model 490 with. (WT.  0.53 Lbs.)

34X12SQH Harrow Spike Tooth, 3/4" Square, 12" Length, Fits John Deere, 
Case IH, Wilrich, and Noble Do-Alls. (WT.  1.8 Lbs.)

P123096 Wheel Bearing Kit, consisits of  Inner Cup-LM501310 ,Inner 
Bearing-LM501349 ,Outer Cup-LM67010 ,Outer Bearing-
LM67048  Seal-594702  Cap-P10025, Retainer-667564. 
Fits Case IH Disc Harrows, Specifically the P606468 Hub.             
(WT.  1 Lbs.)

P63881KIT Wheel Bearing Kit, consists of Inner Cup LM48510, Inner Bear-
ing LM48548, Outer Cup M12610, Outer Bearing M12649, Seal 
200886, Cap 909917 and Retainer 667564. (WT.  1 Lbs.)

Q633 Q888

P472594

P606468



http://www.kabatamerican.com
54

KABAT  AMERICAN

Case IH Disc Gang Bolts

PART NO.

P468607

P471014

P471015

P652939

P472586

P468582

P468583

P481844

P487168

OEM NO.

468607R1

471014R1

471015R1

652939R2 

472586R2

468582R2

468583R2

481844R1

487168R1

P34101

   N/A

   N/A

DESCRIPTION

Gang Bolt, 1-1/8” Square, Length 40.25”, Square head, for Case IH Disc 
Harrow, Fits Model 470.  (WT., 14.00)

Gang Bolt, 1-1/8” Square, Length 49”, Square head,For Case IH Disc Har-
rows. (WT., 17.00) 

Gang Bolt, 1-1/8” Square, Length 57.6”, Square head,For Case IH Disc 
Harrows. (WT., 20.00)

Gang Bolt, 1-1/8” Square, 67.4” Length, Square head,For Case IH Disc 
Harrow Models, 470, 480, 490, 496. (WT., 23.95)

Gang Bolt, 1-1/8” Square, Length 71.9”, Square head, For Case IH Disc 
Harrows. (WT., 25.00)

Gang Bolt, 1-1/8” Square, Length 76.4”, Square head, for Case IH Disc 
Harrow Models 470, 475, 480, 490, 496.  (WT., 27.18)

Gang Bolt, 1-1/8” Square, Length 79.4”, Square head, for Case IH Disc 
Harrow Models 470, 475, 480, 490, 496. (WT., 28.00)

Gang Bolt, 1-1/8” Square, Length 85.5”, Square head,For Case IH Disc 
Harrow Models 470, 490, & 496. (WT., 30.00)

Gang Bolt, 1-1/8” Square, Length 94.6”, Square head, Fits Case IH Disc 
Models 470, 475, 480, 490 & 496. (WT., 33.00)

Lock Plate, Fits all Case IH and John Deere 1-1/8” square Gang Bolts. 
(WT., 0.15)
Nut, Fits 1-1/8” Square Gang Bolt for John Deere Disc, John Deere Hipper, 
Case IH Disc.   (WT., 0.38)

Lock Washer, FOR 1-1/8” Square Disc Axle Gang Bolt.
(WT. 0.05)

P34101

P220089

118LW



KABAT  AMERICAN

http://www.kabatamerican.com
55

Case IH Cutting Platform Harvester Parts

P158516

BU344

P86518392
P86518393

P153175

P153176

P87670642

BU299

P87620690

P9842299

PART NO. OEM NO. DESCRIPTION

P87670642 87670642 Metal Auger Finger, Fits Case IH Mod. 1010, 2020.  
(Wt. 0.9 Lbs.)

P86720690 87620690 Guide for Metal Auger Finger, Fits Case IH Combine 
1010 & 1020 Series.  (Wt. 0.01 Lbs.)

P9842299 H175603         
1326656               
9842299

Auger Finger Guide Kit, includes 2 plastic halves, bolt 
and lock nut. Fits reels with tear drop bats with plastic 
fingers mounted to rear of steel bat.  (Wt.  0.15 Lbs.)

P175727 H175727 Pipe Reel , Fits John Deere, Case-IH, New Holland, 
Agco, and Hart Carter Cutting Platforms. (Wt. 0.2 
Lbs.)

P153175 H153175 Poly Finger, For John Deere Cutting Platforms, 4-1/2" 
Tine Spacing, Agco Gleaner 300, 400, 500, 700, 800 
Case IH 1010, 1020; John Deere 900 Prior to S/N 
685100; Massey 9700, 9750; New Holland 971, 973. 
(Wt. 0.15 Lbs.)

P153176 H153176 Poly Finger, 6" Tine Spacing, For Cutting Platforms, 
Fits Agco Gleaner 700, 800, 7000, 8000, 8200; Case 
IH 1010, 1020 (2001 & Up), 2010, 2020; Cat F; Lexi-
con F, Challenger Flex Headers; John Deere 900F 
& R (S/N 685101 & Up), 600F, 600R; Massey 8000, 
8200, 9800, 9850; New Holland 71C, 72C, 73C, & 
74C.  (Wt. 0.2 Lbs.)

H142298 Slot Screw #8X5/8" For Poly Fingers.  (Wt. 0.01 Lbs.)

P86518392/93 86518392       
86518393

Reel Kit, male and female. Fits Case IH cutting 
platfrom models 1010, 1020 with pipe reel 2010 2020 
3020 NH 971,973 with reel 71-74C, 740C, 92C, 994 
994D. Also fits Gleaner 400,500,700,800,7000,8000 
Massey late 9700,9750. (Wt. 0.01 Lbs.)

BU299 1307299C2 Forged Guard without cross bar, fits CASE-IH 
1010,1020, 2010, 2020.  (Wt. 1.8 Lbs.)

BU344 118344            
87589350

Forged Guard, Fits MadDon draper header 
960,962,963,972,974,D50, D60,FD70, CASE-IH Cut-
ting Platform 1042,1052,2042,2052,2062,2142.  (Wt. 
1.8 Lbs.)

P158516 158516 Section Knife,  8 Teeth Per inch, Width 3”, Length 
3-1/4”, Hole Spacing 2-1/8”. Fits Case IH Models 960, 
962, 963, 972, 973, 974; and MacDon Models D60, 
FD70, 1042, 1052, 2042, 2015, 2062, 2142, 2152, 
2162, NH84C, 86C.(Wt. 0.02 Lbs.)

P175727

H142298



http://www.kabatamerican.com
56

KABAT  AMERICAN

Case IH Corn Head Harvester Parts

P86837081 P199497B

CA55548C6E8

PART NO. OEM NO. DESCRIPTION

207KRRB12 156816C91 Ball Bearing, 1-1/8" Hex Bore. Fits John Deere Corn-
head 40 Series Cross Auger Drive Shaft,  90 Series 
Back Shaft. Fits John Deere 50A series row crop 
heads, used on main drive shafts and cross auger. 
Also used on feeder adapter of main drive and auger 
on Case IH Cornhead 800,900,1000 series.  (Wt. 0.85 
Lbs.)

207KRRB9 HPS102GP  
121602

Ball Bearing, 1-1/8" Hex Bore, Used on Auger. Fits 
Case-IH Corn Heads 2200,2400,3200,3400 Series. 
(Wt. 0.9 Lbs.)

W208PPB16 86523785       
JD9373

Disc Bearing, 1-1/4" Hex Bore. Also Used on main 
drive of Case IH Corn heads 2200,2400,3200,3400 
series.  (Wt. 1.5 Lbs.)

P176386 176386C91 Grease Seal, Inner Diameter 1.958", Outer Diameter 
2.686", Width 0.594", for Gear Drive on Stalk Roller 
Assembly, Fits Case IH 1000 Series Cornhead. (Wt. 
0.1 Lbs.)

P196011 196011 Grease Seal, I.D: 2.188”, O.D:3.005”, width: 0.379”, 
single lip with garter spring, used on drive gear shaft of 
Case-IH Cornhead. (Wt. 0.01 Lbs.)

P634036 634036 Grease Seal, Inner Diameter 1.375”, Outer Diameter 
2.004”, Width 0.313”, single lip with garter spring, used 
on drive gear shaft of Case-IH 2200 Series Cornhead. 
(Wt. 0.01 Lbs.)

P199497B 176278C1     
199497C1

Gathering Chain Upper Drive Sprocket, 10-Tooth,Heat 
Treated, with Pin Hole and Keyway,Fits Case IH Corn-
head 800,900,1000 Series.  (Wt. 3 Lbs.)

P86837081 86837081 Upper drive sprocket for gathering chain, 7 tooth. Fits 
Case IH Cornhead 2200,2400,3200 and 3400 series.  
(Wt. 1.25 Lbs.)

P199491 199491C1 Grease Seal, I.D: 0.93” O.D: 1.5” Width: 0.65”, triple 
lips with garter spring, used on Drive Sprocket shaft of 
Case IH Cornhead. (Wt. 0.05 Lbs.)

P86526475 86526475 Rubber ear saver. Fits Case-IH corn heads 2200, 
2400, 2600 series. Fits New Holland corn heads 996, 
96C, 98C, 99C series.  (Wt. 0.1 Lbs.)

CA555-48-
C6E-8

AN102009    
176279C91

Gathering chain, pitch size 1.63", total 48 links, with at-
tachment C6E every 6 links, fits John Deere Cornhead 
40,90 Series. Also Fits CASE-IH cornheads series 
800,900,1000-2200.  (Wt. 10 Lbs.)

207KRRB12

207KRRB9

W208PPB16

P176386

P196011

P634036

P199491
P86526475



KABAT  AMERICAN

http://www.kabatamerican.com
57

P381721

Case IH Corn Head Harvester Parts

PART NO. OEM NO. DESCRIPTION

P381721 381721R91 Grease Seal, Inner Diameter 0.963”, Outer Diame-
ter 1.50”, Width 0.256”, single lip with garter spring, 
used on gathering chain drive sprocket shaft of 
Case IH Cornhead 800 series. (Wt. 0.1 Lbs.)

P199490C2 199490C2 Gathering Drive Shaft, Fits Case IH Corn Head 
Models 943, 963, 983, 944, 964, 984, 1063, 1083, 
1064, 1084. (Wt. 1.5 Lbs.)

P176286C2 176286C2 Gathering Chain Idler Sprocket Adjusting Brack-
et, Left Hand, Fits Case IH Corn Head Models 843, 
863, 883, 844, 864, 884, 943, 963, 983, 944, 964, 
984, 1063, 1083, 1064, 1084.  (Wt. 3.4 Lbs.)

P176287C2 176287C2 Gathering Chain Idler Sprocket Adjusting Brack-
et, Right Hand, Fits Case IH Corn Head Models 
843, 863, 883, 844, 864, 884, 943, 963, 983, 944, 
964, 984, 1063, 1083, 1064, 1084.  (Wt. 3.4 Lbs.)

P87029139 87029139 Idler Bracket, fits Case IH® Cornheads - 2206, 
2208, 2212, 240630, 240636, 240638, 240670, 
240822, 240830, 240836, 240838, 240870, 
241220, 241222, 241230, 320630, 320636, 
320638, 320670, 320822, 320830, 320836, 
320838, 320870, 321220, 321222, 321230, 
340630, 340636, 340638, 340670, 340822, 
340830, 340836, 340838, 340870, 341220, 
341222, 341230. (Wt. 2.9 Lbs.)

P101219 AH101219 
176283C91

Lower Idler Gathering Chain Sprocket With Relube 
Bearing; 8-Tooth. Fits John Deere Corn Heads 40 
Series S/N 66451 And Up; All 90 Series. Also Fits 
Case-IH Corn heads 800,900,1000,2200,2400, 
3200,3400 series. . (Wt. 1.3 Lbs.)

P102448 AN102448
176283C91

Lower Idler Gathering Chain Sprocket, 8-Tooth, 
With Sealed Bearing,  fits Case-IH Corn heads 
800,900,1000, 2200,2400,3200,3400 series. (Wt. 
2.15 Lbs.)

P199371C5 199371C5 Front Idler Support, Aluminium, Left Hand. Fits 
Case IH Corn Head Models 943, 944, 954, 963, 
964, 983, 984, 1043, 1044, 1054, 1063, 1064, 
1083, 1084.  (Wt. 8.6 Lbs.)

P199372C5 199372C5 Front Idler Support, Aluminium, Right Hand. Fits 
Case IH Corn Head Models 943, 944, 954, 963, 
964, 983, 984, 1043, 1044, 1054, 1063, 1064, 
1083, 1084.(Wt. 8.6 Lbs.)

P1327159 Shim, 0.010” Thickness, Fits the Front Stalk Roller 
for Case IH 1000 Series Corn heads, (Wt. 0.01 
Lbs.)

P86611369 86611369 Lower Idler Support, Fits Case-IH cornhead models 
2200,2400,3200,3400.  (Wt. 5.35 Lbs.)

P199490C2

P176286C2

P176287C2

P87029139

P101219

P102448

P199371C5

P199372C5

P86611369

P1327159



http://www.kabatamerican.com
58

KABAT  AMERICAN

P1327126

P86977538

P87589078

P87598741

Case IH Corn Head Harvester Parts

PART NO. OEM NO. DESCRIPTION

P199408 199408C1 Shim, 0.032" Thickness for Front Stalk Roller, 
Fits Case IH Cornheads 1000 Series. (Wt. 0.1 
Lbs.)

P199806 199806C1 Shim, 0.032" thickness, For Stalk Roller 
Rear,Fits Case IH Cornhead 1000 Series. (Wt. 
0.01 Lbs.)

P176227 199375C1  
176237C1

Snout Point, Metal Steel Shoe,Fits Case IH 
Cornhead 800,900,1000 Series, Narrow Or 
Wide Center. (Wt. 1.1 Lbs.)

P176301 176301C2 Stall Roll Coupling Shaft, Fits Case IH Series 
800, 900, 1000, 3200, 3400. (Wt. 1.65 Lbs.)

P199884 199884C1
AH131860
CR543068 

Grease Seal, ID:1.37” OD:2.42” Width:0.65”, 
tiple lips with garter spring, used on Stalk Roll 
drive shaft of Case IH Corn Head 1000 Se-
ries, 843, 844, 863, 883, 884, 943, 944, 963, 
964, 1063, 1064, 1083, 1084. (Wt. 0.1 Lbs.)

P1327126 1327126C1 Stalk Roll Knife, hardened and hard face coat-
ing, 4 per roll, fits Case IH 1000 series corn-
head. (Wt. 2.26 Lbs.)

P86977538 86977538 Stalk Roll Knife, hardened, 2 per roll, fits 
Case-IH Cornhead 2206, 2208, 2212, 240630, 
240636, 240638, 240670, 240822, 240830, 
240836,  240838, 240870, 241220, 241222, 
241230.  (Wt. 2.7 Lbs.)

P87598741 87598741 Stalk Roll Knife, hardened and hard face coat-
ing. Fits Case IH corn heads 3200, 3400 serie 
, 4pcs per roll. (Wt. 2.35 Lbs.)

P1327204C1 1327204C1 Stalk Roll Shaft Support, Left hand. Fits Case 
IH Corn Head Models 1043, 1044, 1054, 
1063, 1064, 1083, 1084, 3206, 3208, 3212, 
3406, 3408, 3412.  (Wt. 3.2 Lbs.)

P1327205C1 1327205C1 Stalk Roll Shaft Support, Right hand. Fits 
Case IH Corn Head Models 1043, 1044, 1054, 
1063, 1064, 1083, 1084, 3206, 3208, 3212, 
3406, 3408, 3412.  (Wt. 3.2 Lbs.)

P87589078 87589078 Grease Seal, Inner Diameter 1.36", Outer 
Diameter 2.838", Width 0.465",, for Stalk rolls. 
Fits Case-IH 3400 series Corn Head. (Wt. 0.2 
Lbs.)

P198922 1989922C2 Stem Bearing, used on Stalk Roll Shaft Sup-
port, Fits Case IH Cornhead Models 1000, 
3200, 3400. (Wt. 0.65 Lbs.)

P199408 P199806

P1327204C1
P1327205C1

P198922

P176227

P199884

P176301



KABAT  AMERICAN

http://www.kabatamerican.com
59

PART NO. OEM NO. DESCRIPTION

P199408 199408C1 Shim, 0.032" Thickness for Front Stalk Roller, 
Fits Case IH Cornheads 1000 Series. (Wt. 0.1 
Lbs.)

P199806 199806C1 Shim, 0.032" thickness, For Stalk Roller 
Rear,Fits Case IH Cornhead 1000 Series. (Wt. 
0.01 Lbs.)

P176227 199375C1  
176237C1

Snout Point, Metal Steel Shoe,Fits Case IH 
Cornhead 800,900,1000 Series, Narrow Or 
Wide Center. (Wt. 1.1 Lbs.)

P176301 176301C2 Stall Roll Coupling Shaft, Fits Case IH Series 
800, 900, 1000, 3200, 3400. (Wt. 1.65 Lbs.)

P199884 199884C1
AH131860
CR543068 

Grease Seal, ID:1.37” OD:2.42” Width:0.65”, 
tiple lips with garter spring, used on Stalk Roll 
drive shaft of Case IH Corn Head 1000 Se-
ries, 843, 844, 863, 883, 884, 943, 944, 963, 
964, 1063, 1064, 1083, 1084. (Wt. 0.1 Lbs.)

P1327126 1327126C1 Stalk Roll Knife, hardened and hard face coat-
ing, 4 per roll, fits Case IH 1000 series corn-
head. (Wt. 2.26 Lbs.)

P86977538 86977538 Stalk Roll Knife, hardened, 2 per roll, fits 
Case-IH Cornhead 2206, 2208, 2212, 240630, 
240636, 240638, 240670, 240822, 240830, 
240836,  240838, 240870, 241220, 241222, 
241230.  (Wt. 2.7 Lbs.)

P87598741 87598741 Stalk Roll Knife, hardened and hard face coat-
ing. Fits Case IH corn heads 3200, 3400 serie 
, 4pcs per roll. (Wt. 2.35 Lbs.)

P1327204C1 1327204C1 Stalk Roll Shaft Support, Left hand. Fits Case 
IH Corn Head Models 1043, 1044, 1054, 
1063, 1064, 1083, 1084, 3206, 3208, 3212, 
3406, 3408, 3412.  (Wt. 3.2 Lbs.)

P1327205C1 1327205C1 Stalk Roll Shaft Support, Right hand. Fits 
Case IH Corn Head Models 1043, 1044, 1054, 
1063, 1064, 1083, 1084, 3206, 3208, 3212, 
3406, 3408, 3412.  (Wt. 3.2 Lbs.)

P87589078 87589078 Grease Seal, Inner Diameter 1.36", Outer 
Diameter 2.838", Width 0.465",, for Stalk rolls. 
Fits Case-IH 3400 series Corn Head. (Wt. 0.2 
Lbs.)

P198922 1989922C2 Stem Bearing, used on Stalk Roll Shaft Sup-
port, Fits Case IH Cornhead Models 1000, 
3200, 3400. (Wt. 0.65 Lbs.)

Mac Don Draper Header Replacement Parts

BU344

P158516

P212

P987

P627

P156462

PART NO. OEM NO. DESCRIPTION

P156462 156462 Metal Auger Finger, 5/8" Dia., 9" Length, Fits McDon 
Auger.  (Wt. 0.75 Lbs.)

P212 105212 Poly Finger,Small one, For MacDon Platforms Models 
D50, D60, FD70 Smaller Finger for Older Platforms.  (Wt. 
0.1 Lbs.)

P987 137987 Poly Finger, large one, for MacDON cutting platform 
Models D50,D60,FD70.  (Wt. 0.1 Lbs.)

P627 137627 Self Tapping Screw, 1/4” X 2-1/4”, used on Poly Finger of 
McDon Cutting Platform Models FD70 & 2162.  (Wt. 0.01 
Lbs.)

BU344 118344               
87589350

Forged Guard, Fits MadDon draper header 
960,962,963,972,974,D50, D60,FD70, CASE-IH Cut-
ting Platform 1042,1052,2042,2052,2062,2142.  (Wt. 1.8 
Lbs.)

P158516 158516 Section Knife,  8 Teeth Per inch, Width 3", Length 3-1/4", 
Hole Spacing 2-1/8". Fits Case IH Models 960, 962, 963, 
972, 973, 974; and MacDon Models D60, FD70, 1042, 
1052, 2042, 2015, 2062, 2142, 2152, 2162, NH84C, 86C    
(Wt. 0.02 Lbs.)



http://www.kabatamerican.com
60

KABAT  AMERICAN

P6101822

P501364

P68100667

Q633

P681002

P681003LH

P681003RH

P681004LH

P681004RH

P681005LH P681005RH

P681007

P681015

P6131800

P681129

Bigham Paratill Replacement Parts

P681006

PART NO. OEM NO. DESCRIPTION

P681129 Plow Bolt with Nut, flat head, 3/8" thread X 1-1/4" 
length, grade 10.9, use to hold Shins on Bigham Paratill.             
(Wt. 0.02 Lbs.)

P681003LH 681-003L Instep, Left Hand, through hardened, Fits Bigham Tye Para-
till. (Wt. 1 Lbs.)

P681003RH 681-003R Instep, Right Hand, through hardened, Fits Bigham Tye 
Paratill. (Wt. 1 Lbs.)

P681004LH 681-004L Upper Shin, Left  Hand, through hardened, Fits Bigham Tye 
Paratill. (Wt. 11.2 Lbs.)

P681004RH 681-004R Upper Shin, Right Hand, through hardened, For Bigham Tye 
Paratill. (Wt. 11.2 Lbs.)

P681005LH 681-005L Lower Shin, Left Hand, through hardened, Fits Bigham Tye 
Paratill. (Wt. 4.6 Lbs.)

P681005RH 681-005R Lower Shin, Right Hand ,through hardened,Fits Bigham Tye 
Paratill. (Wt. 4.6 Lbs.)

P68100667 681-066
681-067

Foot Piece,  Right or Left, through hardened. Fits Bigham 
Tye Paratill. (Wt. 13.2 Lbs.)

909911 Dust Cap for Q633 Hub. (Wt. 0.1 Lbs.)
Q633 280501 Hub with Cups,  Inner Cup LM11910, Outer Cup LM67010. 

4 bolt Holes on  5” circle. 1500 lb. capacity, 633 series. For 
straight spring loaded coulters on DMI, Case-IH and New 
Holland Colter Champ®II, Tiger-Two®, 500, 527, 527B, 
530, 530B, 730, 730B, 900, 1000, 1300, 2500, 6700, 6750, 
ST650, ST720, ST770. Fertilizer coulters on Blu-Jet, Case-
IH, DMI, Progressive/Kongskilde. Coulters on Blu-Jet grain 
drill coulter cart. (Wt. 9.24 Lbs.)

P681006 681-006  Alloy Landslide, fits Bigham Tye Paratill. (Wt. 4.5 Lbs.)
P6131800 920-1800

613-1800Z
Nylock Nut, 1-1/8", For Shear Bolt #P6101822, for Bigham 
Tye Paratill. (Wt. 0.38 Lbs.)

P681002 550148    
681002       
681002C

Ripper Point, (knock-on), deep through hardened, Fits Big-
ham Tye Paratill.  (Wt. 5.75 Lbs.)

P681015 681-015 Spirol Roll Pin, 8mm X 70mm, For Bigham Tye Paratill.    
(Wt. 0.03 Lbs.)

P501364 501364  
628002  

Shank Bracket, for 1" X 3" Flat Bar, Fits Tye Bigham Paratill. 
(Wt. 6.45 Lbs.)

P681007 681-007 Shatter Plate Blade, hardened, Fits Bigham Tye Paratill. 
(Wt. 4.8 Lbs.)

P6101822 6101822   
610-1822Z

Shear Bolt, 1-1/8" Diameter, 5-1/8" Length, Fits Bigham Tye 
Paratill. (Wt. 1.78 Lbs.)

909911



KABAT  AMERICAN

http://www.kabatamerican.com
61

Cotton Module Truck Parts

PART NO. OEM NO. DESCRIPTION
C2062H CM Cotton Module Truck Chain, 

C2062H chain with a welded 
clip every 4 links. Pitch size 
1.5", 40.5 FT long per piece. 
(WT. 66 Lbs.)

C2062HF76.06 Cotton Module Chain, 
#C2062H Chain with a welded 
rounded cleat every 6 links 
,pitch size 1-1/2", Total 304 
Links + 1 Connecting Link, 
38' long per piece. For round 
module specially. The design 
of rounded cheats avoid to 
puncture the plastic wrap film. 
(WT. 61 Lbs.)

Z6763765 Cotton Module Truck Paddle, 
Plastic  (WT. 1.0 Lbs.)

C2062H-8T Cotton Module Chain Sprock-
et, one piece, 8 teeth. Bore 
size 1-1/4", Key way 3/8". No 
screw. " C " type Hub (WT. 
1.75 Lbs.)

C2062H-10T Cotton Module Chain Sprock-
et, one piece, 10 teeth. Pitch 
size 1-1/2", Bore size 1-15/16", 
Key way 1/2". With 4 set 
screws, 2 on bore and 2 on 
key way (WT. 4.25 Lbs.)

P000025 Cotton Module Truck Sweep 
Housing, made from Ductile 
Iron material. (WT. 14 Lbs.)

C2062H CM

C2062HF76.06

Z6763765

C2062H-8T

C2062H-10T

P000025



http://www.kabatamerican.com
62

KABAT  AMERICAN
Great Plains Replacement Parts

P135GP

P8519

P807076C

P807088C

205DDS5/8

P2410110

205DDS3/4

PART NO. OEM NO. DESCRIPTION

FD209K53-
1.25SQ

822-209C
84151226
DHU1-
1/4S209

Flanged Disc Bearing Unit,1-1/4” square bore.6 lips seal 
on both sides, Maintenance Free. Fits rolling baskets on 
Case-IH 330 True Tandem discs built 2009 and after. Also 
fits select models of FlexKing, Great Plains, Kent, Krause, 
Summers, Sunflower, and Quinstar discs. (Wt. 3.70 Lbs.)

FD209K53-
1.5RD

DHU1-
1/2R209  
822-208C
DRB382
ST491B

Flanged Disc Bearing Unit,1-1/2” round bore.6 lips seal on 
both sides, Maintenance Free. Fits Glencoe 7200; 7400 s/n 
3988 & above. Great Plains Turbo-Chopper, late Turbo-Till, 
Ultra-Till; Turbo Chisels TC5109-TC5323. Hesston 2540. 
Krause 4800. Kent Mulch-o-vator. Landoll Soil Master III, 
Weatherproofer. Also fits select models of Ford, McFarlane, 
and Salford.  (Wt. 3.5 Lbs.)

W211K57-
TPU

822-026C Pillow Block Bearing Unit #W211K57-TPU, 1-3/4 round bore. 
6 lips sealing on both sides, Maintenance Free. Fits Great 
Plains Turbo-Max Disc Harrow.  
(Wt. 14 Lbs.)

205DDS3/4 188-007V  
AA205-3/4

Ball Bearing, 3/4" Round Hole, Replaces OEM# 188-007V 
Soybean Special. (Wt. 0.25 Lbs.)

205DDS5/8 188-001V  Ball Bearing, 5/8" Bore, for Great Plains Drill. (Wt. 0.5 Lbs.)
P807088C 807-088C Spring, Used On Closing Wheel, For Great Plains Drill, Fits 

Precision Planter Models 2020P, 2520P, 2525P. (Wt. 1.6 
Lbs.)

P8519 854159                 
2571-153  

Bubble Coulter blade, 16” diameter, 18 bubbles, 4 X 1/2” 
bolt holes on 5-1/4” circle, 4” center hole, thickness 4mm. 
For Kinze®; White 5100, 5700, 6000, 8000, 9000 planters; 
Ausherman, Yetter,  John Deere 1570 coulter cart; Case-IH 
5400; Kuhn Krause, Great Plains drills. (Wt. 7.6 Lbs.)

P2410110 2410-11-0
822-026C
GW21PPB-
21BR211RH

Rubber Mounted Disc bearing, relube, for 1-3/4” round 
axles. Fits Krause series 1740-1767, 2400-2495, 5812-5824, 
8300, Land Builder 4880 series. Landoll Weatherproofer disc 
ripper and disc chisel. Great Plains heavy disc gang assem-
bly on late Turbo-Till Applications 1000TT, 1200TT, 1500TT, 
1700TT, 1800TT, 2200TT, 2400TT, 3000TT, 4000TT; Turbo 
Chopper 1200TC, 1500TC, 1800TC, 2400TC, 3000TC, 
4000TC. Turbo-Chisels 5109-5323, TC5109-TC5323, 
TCN5107-TCN5313. (Wt. 4 Lbs.)

P135GP 107-054S               
107-229S

Double Disc Opener Assembly, 13-1/2" X 3.5mm, with 
Depth Band Holes, Consists of Blade, 205 Heavy 
Duty Bearing,and Dust Shield W205CAP ,Fits Great Plains 
Drill. (Wt. 4.6 Lbs.)

W205CAP Metal Dust Shield for Disc Opener Assembly P135GP. (Wt. 
0.05 Lbs.)

P807076C 807-076C Down Pressure Spring,Fits Great Plains Drills Precision 
Models 2020P, 2520P, 2525P. (Wt. 1.8 Lbs.)

P817084 817-084C Green Nylon Pivot Bushing, I.D. 3/4", O.D. 61/64", Flange 
O.D. 1-1/4", Length 13/16". Fits Greet Plain Drill late models 
with single opener arm. 2 used per row, 8 used per row on 
models with parallel arms; also press wheel arm on late 
models. (Wt. 0.01 Lbs.)

P817396 817-396C Seed Tube, Without Sensor Hole,Fits Great Plains Drill 
Precision Planter Models 1525P, 2015P, 2020P, 2025P. (Wt. 
0.5 Lbs.)

W205CAP

P817084

P817396

FD209K53-1.25SQ
FD209K53-1.5RD

W211K57-TPU



KABAT  AMERICAN

http://www.kabatamerican.com
63

Kinze Planter Replacement Parts

P282

P239

P8322

205KRRB2

205KRR2

P8460

P43899

P39968

204PY3

5206KPP3

5203KYY2

P65248-204

P9254

P8519

PART NO. OEM NO. DESCRIPTION

204PY3 AA21480    
492532R91    
492757R91

Ball Bearing, 0.63" Round Bore, Used for JD and Case IH Double 
Disc Opener Assemblies, Also Fits Tye and Great Plains Drills (Wt. 
0.25 Lbs.)

205KRR2 HPC014GP
14KB205N
AA28271  

Ball Bearing, 7/8” Hex Bore, Flat Outer Race. For Kinze Transmis-
sions, Hex Drive Lines and Drive Wheels, Fits JD Seed Transmis-
sion 7000-7100, Wheel Frame 7300,7340,1700,1720.   (Wt. 0.44 
Lbs.)

205KRRB2 HPS014GP  
G2-10003

Ball Bearing, 7/8” Hex bore , Curved Outer Race for John Deere 
7000-7100 and Kinze Transmissions, Hex Drive Lines. (Wt. 0.3 Lbs.)

5203KYY2 5203VVAN  
GA5641  
AN212132

Double Row Ball Bearing, O.D. 40mm, with double lips seals on 
both sides. Used on closing wheel or gauge wheel.  (Wt. 0.45 Lbs.)

5206KPP3 GA8603 Double Row Ball Bearing, for Hub GA5641, Fits All Kinze Late Mod-
els 3000 Series Planters (Wt. 1.15 Lbs.)

P8322 GA8322 Closing wheel arm. Fits KinzeÂ® 1993 and newer with bolt-on style 
closing wheels (Wt. 5.9 Lbs.)

P239 GB0239 Eccentric Bushing, used on Closing Wheel Arm of Kinze Planter.
 (Wt. 0.15 Lbs.)

P282 GB0282 Hex Stepped Bushing, Heat Treated, used on P8322 Closing Wheel 
Arm.(Wt. 0.15 Lbs.)

P39968 GA6434   
AA39968   
854262  

Closing wheel assembly, 1” x 12”, consists of 40mm double row ball 
bearing, Nylon plastic halves and rubber tire.  Fits Kinze®1993 and 
newer. John Deere MaxEmergePlus, Pro, XP and XP Pro; 1530 and 
1535. Monosem Plus. White 6000 and 8000 planters. Case-IH grain 
drills; SDX30 and SDX40 air drills.  (Wt. 5.94 Lbs.)

P43899 GA3086  
AA43899

Closing Wheel Assembly, 1"X 12", With 885152 Stem Bearing and 
plastic Wheel Halves, Fits JD Planter Models 7000-7100, Also 
Fits Kinze Planter (Wt. 3.5 Lbs.)

P8460 GD8460 Closing wheel spring. Fits Kinze Planter 2700,3000 Series , 1993 
and newer.  (Wt. 0.5 Lbs.)

P22325 AA22325  
GD1085 

Solid Rubber Ring, 1X12”, for closing wheels. Fits John Deere, 
Kinze®, Case-IH, and White planters. Also fits John Deere, Case-
IH, Tye, United Farm Tools, Crustbuster, Great Plains, M & W, and 
Marliss grain drills.  (Wt. 1 Lbs.)

P8519 2571-153
854159

Bubble Coulter blade, 16" diameter, 18 bubbles, 4 X 1/2" bolt holes 
on 5-1/4" circle, 4" center hole, thickness 4mm.  For Kinze®; White 
5100, 5700, 6000, 8000, 9000 planters;  Ausherman, Yetter,  JD 
1570 coulter cart; Case-IH 5400; Kuhn Krause, Great Plains drills. 
(Wt. 7.6 Lbs.)

P9254 D9254 Wave Coulter Blade, 16" diameter, 13 waves (3/4" width) , 4 X 
1/2"  bolt holes on 5-1/2" circle, 4" center hole,4mm thick, fits Kinze 
Planter, No- Till.  (Wt. 7.6 Lbs.)

P65248-204 AA20242
AA37474
AA55927
AA65248
GA2013

Disc Opener Assembly, 15” diameter, 3.5mm (.138”) thick, with 204 
(45mm O.D.) double row ball bearing. Fits John Deere planters 
Models Maxemerge, Maxemerge 2, Maxemerge Plus, Pro Series 
(1790), XP and XP Pro.  Also Fits Kinze Planter 3000 Series. 
 (Wt. 7.85 Lbs.)

P65248-205 AA20242
AA37474
AA55927
AA65248
GA2013

Disc Opener Assembly, 15” diameter, 3.5mm (.138”) thick, with 205 
(52mm O.D.) double row heavy duty ball bearing. Fits John Deere 
planters Models Maxemerge, Maxemerge 2, Maxemerge Plus, Pro 
Series (1790), XP and XP Pro row units. Also Fits Kinze Planter 
3000 Series. (Wt. 8.0 Lbs.)

P22325

P65248-205



http://www.kabatamerican.com
64

KABAT  AMERICAN

Kinze Planter Replacement Parts

PART NO. OEM NO. DESCRIPTION

UHMW16-1 GA6434
AA39968
854262
87695406

Spike Closing Wheel Assembly, consists of UHMWPE Poly Spike 
Ring (16 teeth), two Nylon Rims, 40mm double row ball bearing & 
hardware. Fits Kinze®1993 and newer. John Deere MaxEmerge-
Plus, Pro, XP and XP Pro; 1530 and 1535. Monosem Plus. White 
6000 and 8000 planters. Case-IH grain drills; SDX30 and SDX40 air 
drills. (Wt. 3.7 Lbs.)

UHMW16-R Closing Wheel Spike Ring, 16 teeth, made from Ultra High Molecular 
Weight Poly Plastic (UHMWPE), with high wear resistance, high anti-
impact strength and high anti-corrosion. Prolongs life several times 
than traditional rubber one. Fit John Deere or Kinze Closing Wheel 
Nylon Rims.  (Wt. 1.10 Lbs.)

P52024 A52024 Rubberized Plastic Dust Cap, used on Disc Opener with 205 bear-
ing. (Wt. 0.01 Lbs.)

P78218 A78218 Dust Cap, Rubberized Plastic, used on Disc Opener with 204 bear-
ing.  (Wt. 0.01 Lbs.)

P7975L GA7975
GA21677

Gauge Wheel Arm, left hand, installed with 2 bushings,2 seals and 
grease zerk. Fit Kinze 3000 series planter.   (Wt. 5.5 Lbs.)

P7976R GA7976
GA21676

Gauge Wheel Arm, right hand, installed with 2 bushings, 2 seals and 
grease zerk. Fit Kinze 3000 series Planter.  (wt. 5.5 Lbs)

P11001 GD11001 Gauge Wheel Arm Pivot Shaft. Fit Kinze 3000 series planter. 
(Wt.1.70 Lbs)

P6614N GA6614 Gauge wheel arm kit, New Style, consists of casting Arm, threaded 
bushing (1” hole), M12X25 Bolt, M12X35 Bolt, M16X70 Bolt ,2pcs 
washer( one large area) and 4pcs shims. Threaded Hole (5/8”-11) 
on wheel connecting end. Fits Kinze® 2000 series planters.  (wt. 7.0 
Lbs)

P41968B A57057 Self Aligning Threaded Bushing, 1” bore size, Used on Gauge Wheel 
Arm Kit. (wt. 0.75 LBS)

P97867 A97867 Gauge Wheel Arm Self-Aligning Threaded Bushing, 1” bore size, 
new style. (wt. 0.45 Lbs)

P1K212 Insecticide/herbicide chain idler conversion kit. For John Deere 
7000, 7100; Kinze® planters. Convert round or sprocket idlers to 
new style 1-piece slide idler.
Prevents chain from derailing in high residue.
Includes slide idler, tension spring, hardware. (Wt.0.50 Lbs)

P23789 A23789
GB018

Bushing, I.D. 0.644” (16mm), O.D. 0.8715”(22mm), Height 
0.5615”(14mm). Used on Parallel Arm. Fits John Deere 7000-7100, 
and Kinze 2000 Series. (Wt.0.04 Lbs)

P61577 PA61577 Seed Guard With Bracket, for John Deere 1700 Series Planters and 
All Kinze Planters Except 3000 Series. (Wt. 0.90 Lbs)

P25915 A25915
GB0118
133966C1

Stem Bearing Spacer,Use with 885152 and 885154B stem bearing 
on planter gauge wheels. (Wt. 0.30 Lbs)

885152 128558C91
AA35741
GA2022 

Stem Bearing, with cross Hole, for closing wheel or gauge wheel 
(with spacer#P25915). Fits John Deere 7000-7100, 800-900-950-
955 Series Planters, 5400 & 5500 Soybean Special, Early Model 
1200 Series (Wt. 0.41 Lbs)

P35951B AA35951 Stem Bearing, with cross hole, One-Piece design, substitute of 
885152 Bearing & P25915 Spacer. Used on Gauge Wheel W/ Steel 
Wheel Halves. Fits John Deere Planter Models 7200, 7300, 1760, 
1780, Maxemerge 2 Units, 7100.（Wt.0.70 Lbs)

UHMW16-1

UHMW16-R P52024

P7975L

P7976R

P6614N

P41968B

P97867

P78218

P1K212

P23789

P61577

P25915

885152

P35951B

P11001

P7976R



KABAT  AMERICAN

http://www.kabatamerican.com
65

GD8249

GA2068

P30654

P301

P98187

Kinze Planter Replacement Parts

P26444B

P26443B

P22884

P66604

PART NO. OEM NO. DESCRIPTION
P26443B GA2012R Disc Opener Scraper ,right hand, use on TruVee op

ener. Fits Kinze Planter (Wt. 0.44 Lbs.)

P26444B GA2012L Disc Opener Scraper, Left Hand, use with TruVee opener. Fits Kinze 
Planter. (Wt. 0.44 Lbs.)

P301 GB301 Scraper, Used Between Double Disc Openers, For Kinze Planters, Fits 
3000 Series. (Wt. 0.55 Lbs.)

GD8249 2960-373 Down Pressure Spring with 2 hooks. Fits Kinze Planter 1989 and after. 
Also fits Yetter Coulters (Wt. 1.1 Lbs.)

GA2068 AA35876  
AA28046   
GA2068
2960-102

Down Pressure Spring with Plug,  heavy duty, 1/2”-13 UNC thread,,Fits 
John Deere and Kinze Planters. Also Fits Yetter Coulter (Wt. 2 Lbs.)

P35646 AA35646 Flanged Bearing Unit, 7/8" hex bore. Fits seed drive line on JD planters 
7200 Wing Fold, 7200 Flex Fold, 7300 Vertical Fold, 1710, 1760, 1760NT, 
1770, 1770NT, 1780, 1790 (Wt. 0.6 Lbs.)

P30654 AA30654  
GA2057

Flanged Bearing Unit with Sprocket, 9/16" Hex Bore, 19 Tooth, 1-1/2" 
Wide, For Parallel Linkage on JD Planter, Fits Models 7000, 7100, Also 
Fits Kinze Planters, Early Models,  (Wt. 1.25 Lbs.)

P66604 AA66604 Gauge Wheel Assembly, 4.5” X 16”, One Metal Rim, One Nylon Rim and 
40mm double row ball bearing. Fits John Deere MaxEmerge™XP, XP 
Pro; 1530 and 1535 with XP. Also Fit Kinze 1993 and later (Wt. 19 Lbs.)

P66988 AA66988
87673693

Narrow Gauge Wheel Assembly, 3”X 16”, with one metal rim, one nylon 
rim and 40mm double row ball bearing. Fit John Deere Grain Drills 750, 
1560, 1590, 1690, 1835, 1850, 1860, 1890, 1895, 1990. 2510H applica-
tor. Narrower design allows unit to run on cleaner seed bed and allows 
clearance for trash. Great for narrow row soybean planters. (Wt.15 Lbs)

P98187 AA86055  
AA98187

Spoked Gauge Wheel Assembly, 4.5” X 16”, with casting iron spoke 
and stamping metal rims. Installed 40mm double row ball bearing, triple 
seals. Fit John Deere MaxEmerge™ XP, XP Pro, MaxEmerge™ 5, Exact 
Emerge™; Kinze 1993 and later; White 8000; John Deere drills 750, 
1560, 1590, 1690, 1850, 1860, 1890, 1895, 1990. (Wt. 18.5 Lbs.)

P98188 AA85465
AA98188

Narrow Spoked Gauge Wheel Assembly, 3”X 16”, with casting tri-spoke 
hub, stamping metal rims and 40mm Double Row Ball Bearing, triple 
seals. Fit John Deere Grain Drills 750, 1560, 1590, 1690, 1835, 1850, 
1860, 1890, 1895, 1990. 2510H applicator. Narrower design allows unit to 
run on cleaner seed bed and allows clearance for trash. Great for narrow 
row soybean planters.(Wt. 16 Lbs)

P84062 A84062 Gauge Wheel Tire, 4.5” x 16”, with Standard Profile Offset, 7/8” Deep Lip. 
Fits John Deere planters XP, XP Pro row units; 1530, 1535 with XP. John 
Deere drills late 1590, 1690, 1835, 1890, 1895, 1990. Also Fits Kinze® 
planters. (Wt. 7.80 Lbs)

P22884 AA22884  
A84050  
GD1086  
852060

Gauge Wheel Tire, 4.5” x 16”, With standard profile offset, 3/8” Deep 
Lip. Fits John Deere planters with MaxEmerge™, MaxEmerge®2, 
MaxEmerge®Plus, and Pro row units. Fits John Deere grain drills 750, 
1560, 1850, 1860; 1530, 1535 with MaxEmerge®Plus row units; early 
1590, 1690, 1835, 1890, 1895, 1990. Fits Kinze® planters. Fits White 
planter models 5100, 5700, 6000, 8000  (Wt. 7.8 Lbs.)

P85133 A85133 3” X 16” Narrow Gauge Wheel Tire, Fits John Deere Grain Drills Model  
750, 1560, 1590, 1690, 1835, 1850, 1860, 1890, 1895, 1990. 2510H ap-
plicator. (Wt. 5.5 Lbs.)

P35646

P66988

P98188

P84062

P85133



http://www.kabatamerican.com
66

KABAT  AMERICAN

Kinze Planter Replacement Parts

PART NO. OEM NO. DESCRIPTION
P343022 343022 Seed Meter, finger pick-up type, 12 fingers, 

for planting corn. Fit Kinze 2000 series 
planter. Fit John Deere 7000,7100 series 
planter.  Replaces Precision Planting OEM 
#343022.（Wt. 9.25 lbs)

P343030 343030 Seed Meter Set, corn, finger-pickup, 12 
fingers. Fit Kinze 3000 series planter. (Wt.8 
Lbs)

SMB6050 G7536X
700-01079C

Brush Type Seed Meter, for planting 
soybean. Made with heavy duty aluminum 
housing. Fit John Deere Planter Models 
7000, 7100 series and Kinze Planter mod-
els 2000, 3000 series. (Wt. 5.70 Lbs.)

P5699 GA5699 Uper Blue Brush, used in brush type seed 
meter #SMB6050 & 6100.  (Wt. 0.05 Lbs.)

P5834 GA5834 Lower Black Brush, used in brush type 
seed meter #SMB6050 & 6100. Replaces 
Kinze OEM #GA5834  (Wt. 0.05 Lbs.)

P5794 GA5794 Seed Meter Disc, 60 cell, black. Used 
in Brush Type Soybean Seed Meter 
#SMB6050 & 6100.  2,200 TO 4,000 seeds 
per pound. (Wt. 0.40 Lbs.)

P5877 GD1114 U-Bolt, Zinc plated, Replaces OEM# John 
Deere A22561 & 1250813C1. (WT 1.80 
Lbs)
Thread size A:5/8”,
Tool bar size B:7”,
Overall length C:8-1/2”,
Thread length D:1-1/2”

SMB6050

P343030

P5699

P5834

P5794

P5877

P343022



KABAT  AMERICAN

http://www.kabatamerican.com
67

KMC Peanut Digger and Hipper Replacement Parts

P5713

P5703 P5704

P5702

P5705

P006

205PP9 205PPB7

P5709

P32184

CA557-80-A4-20

P03081189

PART NO. OEM NO. DESCRIPTION
P5709 06-057-009 Axle, 1-1/8 Square With 1" SAE Threads. 

(Wt. 4.25 Lbs.)
205PP9 04-051-004 Ball Bearing, 0.756" Round bore, For KMC/

Kelley Peanut Digger, Shaker, Inverter and 
Cultivator #1496 No Till Drill.   (Wt. 0.58 
Lbs.)

205PPB7 04-051-001                  
20-50-20

Ball Bearing, 15/16" Bore, For KMC/Kelley, 
Lilliston Rolling Cultivators.  (Wt. 0.58 Lbs.)

P5713 06-057-013 Bearing Housing, For Kelley Hipper. (Wt. 
11.45 Lbs.)

P006 06-024-006 Bearing Spacer, For Kelley P5713 Hous-
ing. (Wt. 0.31 Lbs.)

P5702 06-057-002 Bumper Washer, For Kelley Hipper. (Wt. 
6.95 Lbs.)

P03057014 03-057-014 Coulter Hub for KMC Peanuts Digger. (Wt. 
2.6 Lbs.)

P5705 06-057-005 End Washer, For Kelley Hipper. (Wt. 3.21 
Lbs.)

CA557-80-A4-20 03-052-051 Inverter Chain, pitch size 1.63", total 80 
links ,with A4 attachment every 4 links, Fits 
KMC peanut digger shaker inverter.  (Wt. 
21.5 Lbs.)

P61807 03-027-077 Knocker Pad for KMC peanut Digger Shak-
er Inverter. (Wt. 0.55 Lbs.)

P32184 06-050-001         
A32184

Snap Ring, For P5713 Bearing Housing, 
For Kelley Hipper, also For John Deere Old 
Style Hipper Housing.  (Wt. 0.01 Lbs.)

P03081189 03-081-189 Split Idler, fits KMC Digger Shaker Inverter.  
(Wt. 7.3 Lbs.)

P03081084 03-081-084 Split Sprocket for KMC Peanut Digger.  
(Wt. 10 Lbs.)

P5703 06-057-003 Convex Spool,For Kelley Hipper.  (Wt. 3 
Lbs.)

P5704 06-057-004 Concave Spool, For Kelley Hipper. (Wt. 
3.21 Lbs.)

P03057014

P61807

P03081084



http://www.kabatamerican.com
68

KABAT  AMERICAN

Precision Planting Replacement Parts

PART NO. OEM NO. DESCRIPTION
ACY2X2 755203 Air Cylinder, used on row cleaning/sweeping 

system. (Wt.2.30 Lbs.)
P729602 729602 Hydraulic Cylinder down force, 1-1/4” ( bore) 

X 3-1/2” ( stroke), cross tube mounts, installed 
with Solenoid Valves. Replaces Precision Plant-
ing “DeltaForce”. (Wt.8.80 Lbs.)

DFPA16 753010 Lower Parallel Arm, lower, 16” Standard Length, 
casting with fitting bracket for down force.  Con-
necting holes are embedded with hardened 
bushing to protect wearing. Fits John Deere 
ME2, XP, ME5 & Attachment.   (Wt. 26.0 Lbs.)

P76223 A76223
753013

Upper Parallel Arm,16” Standard Length. Con-
necting holes are embedded with hardened 
bushing to protect wearing. Fits John Deere 
Planter Models 7200,7300,1700,1760,1780, 
ME2, XP, ME5& Attachment. 2 per row.   (Wt. 
3.60 Lbs.)

P48515 A48515 Bushing, ID 0.656”(17mm) OD 1.085”(28mm) 
Height 0.5655” (14mm). Used on Upper Parallel 
Arm . Fits John Deere Planter Models  7200, 
7300, 1760, 1780, MAXEMERGE2, 1700, 
120XP, PLUS, PRO. (Wt. 0.18 Lbs.)

P49465 A49465 Bushing, ID 0.656”(17mm) OD 1.085”(28mm) 
Height 0.6565”(17mm). Used on Lower Parallel 
Arm, 2pcs per row. Fits John Deere Planter-
Models 7200, 7300, 1700, Maxemerge XP & 
Attachment. (Wt. 0.01 Lbs.)

P343022 343022 Seed Meter, finger pick-up type, 12 fingers, for 
planting corn. Fit Kinze 2000 series planter. Fit 
John Deere 7000,7100 series planter.  Re-
places Precision Planting OEM #343022.(Wt. 
9.25 Lbs.)

P343025 343025 Seed Meter, finger pick-up type, 12 fingers, for 
planting corn. Fit John Deere 7200,7300,1700 
series planter. Replace John Deere OEM # 
AA60535, Precision Planting OEM#343025 (Wt. 
9.25 Lbs.)

P343030 343030 Seed Meter Set, corn, finger-pickup, 12 fingers. 
Fit Kinze 3000 series planter.  (Wt. 8.0 Lbs.)

DFPA16

P76223

P48515

P49465

P343030

ACY2X2

P729602

P343022
P343025



KABAT  AMERICAN

http://www.kabatamerican.com
69

Sunflower Disc Parts

P3090

P3090H

GW211PP25

P11064

P9691

P2816

P3108

P5980

P100104

FD209RA
FD209RM

PART NO. OEM NO. DESCRIPTION
GW211PP25 DC211TTR21

SN3091
Disc Bearing, 1-3/4” Round Bore, Fits Sunflower Trunion 
Bearing Assembly #P3090. (Wt. 2.45 Lbs.)

GW211PPB13 DS211TTR13
SN2042

Disc Bearing, greaseable, 1-3/4" Round Bore,  (Wt. 2.02 
Lbs.)

FD209K53-
1.25SQ

84151226
DHU1-
1/4S209
822-209C

Flanged Disc Bearing Unit,1-1/4” square bore.6 lips seal 
on both sides, Maintenance Free. Fits rolling baskets on 
Case-IH 330 True Tandem discs built 2009 and after. Also 
fits select models of FlexKing, Great Plains, Kent, Krause, 
Summers, Sunflower, and Quinstar discs.  (Wt. 3.70 Lbs)

FD209RA SN3215                
DHU491A            
ST491A             
SN3215

Flanged Disc Bearing Unit, 1-3/4" round bore. Fits Case-IH 
discs 37, 46, 48, 60, 61, 120, 122, 130, 132, 150, 330, 340, 
350, 370, 470, 475, 480, 485, 490, 496, 610, 760, 3800, 
3850, 3900, 3950, RMX340 rolling baskets on 330 True 
Tandem built 2008 and before.  Conser-Till 60, 6000, 6500. 
Case-IH combo mulch finishers 4200, 4400, 4450. Also fits 
Sunflower Land Finisher and Remlinger. (Wt. 3.05 Lbs.)

FD209RM DHU1-
1/8S209

Flanged Disc Bearing Unit, relube, 1-1/8" square bore. Fits 
select models of FlexKing, Kewanee, and Sunflower discs. 
(Wt. 3.87 Lbs.)

P5980 SN5980 Full spool,for 8-1/2" spacing and 1-3/4" round axle, fits 
Sunflower Disc models 1211 to 1544, 4308,4310, Soil con-
ditioner models 7212 to 7252, Hipper models: 4311-4511  
(Wt. 11.35 Lbs.)

P2816 SN2816 Half Spool, 2-3/8” Depth, Fits 1-3/4” Round Axle, for 
Sunflower Discs with 7-1/2” or 8-1/2” spacing. Fits models, 
1130, 1211, 1212, 1231, 1232, 1233, 1234, 1321, 1331, 
1431, 1432, 1433, 1434, 1435, 1441, 1442, 1443, 1444, 
1541, 1543, 1544, 1550, 6630, 6631. Fits Sunflower Land 
Finishers with riveted flange bearings. (Wt. 8.85 Lbs.)

P3108 SN3108 Half Spool,4-1/8” depth, Fits 1-3/4” Round Axle, For Sun-
flower Disc Models with 8-1/2” spacing. Fits Models 1211, 
1212, 1231, 1232, 1233, 1234, 1321, 1331, 1431, 1432, 
1433, 1434, 1435, 1441, 1443, 1444, 1541, 1543, 1544, 
1550. (Wt. 8.95 Lbs.)

P100104 SN4924 Shield,for Trunion Bearing  Assembly,Also Special Washer 
for GW211PP27 Bearing. (Wt. 0.22 Lbs.)

P11064 SN3094              
4924               
11064

Snap Ring,For Sunflower Trunion Assy P3090, Amco 
P17032 Housing, and W&A Hipper P203715 Housing.  (Wt. 
0.01 Lbs.)

P3090 SN3060              
140477

Trunnion Bearing Assembling, 1-3/4” Round, fits Sunflower 
Disc Models 1130, 1211, 1212, 1231, 1232, 1233, 1234, 
1321, 1331, 1431, 1432, 1433, 1434, 1435, 1441, 1442, 
1443, 1444, 1541, 1543, 1544, 1550, 4306, 6630, 6631. 
Disc Rippers 4310, 4311, 4410, 4411, 4511. Coulter Chisels 
4211, 4212, 4213, 4232, 4233. Soil Conditioners 7211,  
7212, 7213, 7232, 7251, 7252. also Fits Landoll Coulter 
Chisels 2110, 2130. Discs 6230, 7410VT, 7430VT, 7431VT, 
7450VT. Weatherproofer  (Wt. 10 Lbs.)

P3090H Bearing Housing, For P3090 Trunnion Bearing Assembly 
(Wt. 5.12 Lbs.)

P9691 SN9691 Mount for Trunnion Bearing Assembly P3090. (Wt. 3 Lbs.)

GW211PPB13

FD209K53-
1.25SQ



http://www.kabatamerican.com
70

KABAT  AMERICAN

U-BOLTS
TO FIT POPULAR SIZE TOOL BARS

MATERIAL
1020 STEEL
ZINC  PLATED

PART

P1233

P1987

P1963

P1993

P1973

P5877

P3444

P347612

P3477

P3479

P787612

P7877

P784534

REPLACES

------

GLENCOE

GLENCOE

GLENCOE

GLENCOE

Case IH
DEERE

------

Case IH
DEERE

Case IH

ORTHMAN

Case IH

------

Bigham

OEM

------

P1987

P1963

P1993

P1973

1250813C1
A22561

------

493975R3
N133705

147451C1

315-031

493468R1

------

610-0035

A

1/2”

1/2”

1/2”

5/8”

5/8”

5/8”

3/4”

3/4”

3/4”

3/4”

7/8”

7/8”

7/8”

B

3”

2-1/2”

2-1/2”

4”

4”

7”

4”

7”

7”

7”

7”

7”

4”

C

4-1/2”

3-5/8”

4-3/4”

5-1/4”

8-1/4”

8-1/2”

5-1/2”

6-1/2”

8-1/2”

9”

6-1/2”

8-1/2”

5-3/4”

D

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

1-1/2”

WT (lbs)

0.50

0.40

0.46

1.10

1.52

1.80

1.65

2.20

2.60

3.00

3.00

3.20

1.80

A.Thread Size
B.Tool Bar Size
C. Overall Length
D. Thread Length

A



KABAT  AMERICAN

http://www.kabatamerican.com
71

Other Implement Parts

WCP6000

PART NO. OEM NO. DESCRIPTION
P724710 724710 Bushing, Heat Treated, Hard Faced, For 

Rhino flail Blade (Wt. 0.20 Lbs.)

P811354 811354C3 Notched Split Bushing for Vibra 
Shank, Fits Case IH Cultivator models 
45,4300,4500,4800,4900, Combo-mulch 
Finisher models 4200,4400,4450 and 
Conditioner 568.  (Wt .0.15 Lbs.)

DS234 Danish S-Tine Sweep, 2-3/4" Width, 3/8" 
Bolt hole, 6mm thick, " Duck Foot" (Wt. 
0.87 Lbs.)

DS4 Danish S-Tine Sweep, 4" Width, 3/8" bolt 
hole, 6mm thick, " Duck Foot" (Wt. 1.05 
Lbs.)

DS7 Danish S-Tine Sweep, 7" Width, 3/8" bolt 
hole, 6mm thick, " Duck Foot" (Wt.1.4 
Lbs.)

22X5MM118S Disc Blade, Diameter: 22" Thickness: 
0.197" Hole: 1-1/8" Square.  Smooth 
Edge, Spherical Center for John Deere 
Disc (Wt. 22 Lbs.)

22X5MMFC118S Disc Blade, Diameter: 22" Thickness: 
0.197", Hole 1-1/8" Square, Smooth 
Spherical Edge, Flat Center, for Case IH 
Discs (Wt. 22 Lbs.)

P724714HF 724714HF Rhino Flail Blade, Hard Faced (Wt.1.00 
Lbs.)

P1025 1025 Harrow Pad, for Forrest City Do All (Wt. 
0.10 Lbs.)

PA1193 600340808 Ripper Point, For BHC Parasoil 
(Wt.10.04 Lbs.)

WCP6000 Chrome Ripper Point , Fits 6000 Hiniker 
Cultivator (Wt.1.90 Lbs.)

P724710

P811354

DS234

DS4

DS7

22X5MM118S

22X5MMFC118S

P724714HF

P1025
PA1193



http://www.kabatamerican.com
72

KABAT  AMERICAN

P56021900

P41207

58X78DH

Other Implement Parts

PART NO. OEM NO. DESCRIPTION
ST1412 S-Tine, Standard, 14-1/2' Height, 

1-1/4" Width, 3/8" thick. (Wt. 
5.85 Lbs.)

P953 Shank Bracket, Universal, For 
1X3 Flat Bar. (Wt. 4.7 Lbs.)

P41207 627053B Shin, Rawson Zone, Ductile, 
Heat Treated HRC 48-52. (Wt. 
10.3 Lbs.)

34X12SQH Harrow Spike Tooth, 
3/4" Square, 12" Length, Fits 
John Deere, Case IH, Wilrich, 
and Noble Do-Alls. (Wt. 1.8 Lbs.)

58X78DH Harrow Spike Tooth, 5/8"X7/8" 
Diamond ,8" Length, Fits Forrest 
City Do All. (Wt.0.62 Lbs.)

P56021900 56021900 Harrow Spike Tooth, 5/8" X 7/8" 
Diamond, 8-1/2" Length, with 
1/2" Thread. For McFarlane 
Equipment. (Wt. 0.50 Lbs.)

P1100 1100 Strap Link for Forrest City Do All. 
(Wt. 2.10 Lbs.)

P47D7W Field Cultivator Sweep, 6mm 
thick, 7" width, 47 degree stem 
angle, with bolt hole size 7/16" 
and 1-3/4" bolt hole spacing. 
(Wt. 2.70 Lbs.)

P47D9W Field Cultivator Sweep, 6mm 
thick, 9" width, 47 degree stem 
angle , with bolt hole size 7/16" 
and 1-3/4" bolt hole spacing. 
(WT. 3.1 Lbs.)

P1026 1026 V-Bolt,7/16” thread, With Lock 
Nuts, for Forrest City Do All. (Wt. 
0.20 Lbs)

P1027 GZ180111
62555

V-Bolt, 3/8” thread, with Nuts for 
Do All. (Wt. 0.15 Lbs)

ST1412

P953

34X12SQH

P1100

P47D7W

P47D9W

P1026
P1027



Kabat American Inc.
410 38th Ave
Saint Charles IL 60174
Tel. 224-856-4221
Fax. 630-549-0414
Email: usasales@kabat-machinery.com


